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IDENTIFICATI]ION

PRODUCT NAME: CNDURAO DUV11 OFLNE RCVR TSTS
PRODUCT CODE :AC~T465A-MC

PRODUCT DATE:DEC, 1982,1983

MAINTAINER :DIAGNOSTICS SERVICES/ISS
AUTHOR: K.LIND

COPYRIGHT (C) 1982,1983
DIGITAL EQUIPMENT CORPORATION, MAYNARD MASS.

THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE WITHOUT NOTICE AND
SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT CORPORATION.
DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR ANY ERRORS
THAT MAY APPEAR IN THIS DOCUMENT.

THE SOF TWARE DESCRIBED IN THIS DOCUMENT IS FURNISHED UNDER A LICENSE AND
MAY ONLY BE USED OR COPIED IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE.

DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY FOR THE USE OF
RELIABILITY OF ITS SOFTWARE ON EQUIPMENT THAT IS NOT SUPPLIED BY DIGITAL.

REM

.REM

Sea 0001
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.REM «
GENERAL DESCRIPTION

THIS DIAGNOSTIC CAN CHAIN 16 DUVI1'S. THIS MEANS THAT

16 DEVICES CAN BE SEQUENTIALLY EXERCISED. THE DIAGNOSTIC

MAKES ONE PASS BEFORE PROCEEDING TO THE NEXT DEVICE,

AND CONTINUES EXERCISING ALL DEVICES IN THIS FASHION UNTIL

HALTED.

%
LREM  »

1. THE DUV1Y OFFLINE RECEIVER TESTS VERIFY THAT THE RECEiVER

CHIP/LOGIC WORKS PROPERLY .

2. REQUIREMENTS
PDP-11/21 COMPUTER (LSI)
DUVIT SYNCRONOUS/ISOCRONGCUS OPTION
ONE CONSOLE TELETYPE OR EQUIVALENT

2.2 STORAGE
THE PROGRAM LOADS INTO 4K OF MEMORY WITH BOOTSTRAP

3. LOADING PROCEDURE

THE STANDARD PROCEDURE FOR LOADING ABSOLUTE BINARY TAPES
IS TO BE USED.

STARTING ADDRESS
FOR ABSOLUTE LOADER
017500

4K
8K 037500
12K 057500
16K 077500
20K 117500
24K 137500
28K 157500
4, STARTING PROCEDURE
4.1 CONTROL SWITCH SETTINGS

NOTE: ALL SWITCHES RESIDE INTERNAL TO THE CPU AT ADDRESS
176. THESE MAY BE SET VIA THE CONSOLE TTY BY DIRECTLY
MODIFYING LOC. 176.

NOTE:  RUNNING UNDER APT=-11, THERE 1S A USER SWITCH REGISTER
CALLED *'SUSWR''. IN ORDER TO BE FLEXIBLE ON THE AVAILIBILITY OF THE
H315 CONNECTOR, ONE BIT PASSES STATUS TO APT-11,
BIT O IN SUSWR REFLECTS THIS STATUS, A 0 = CONNECTOR
PRESENT, A 1 = CONNECTOR NOT AVAILIBLE.
THE USER CHANGES THE CONTENTS OF THIS LOCATION
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CNDUR? .M11

6.1.1

6.1.2

4.1.3

6.1.4

4.2

4.3
6.3.1

4.3.2

4.3.3

10-DEC~82 13:48

WHEN BUILDING THE E TABLE, BY ANSWERING THE
PROMPT "'SWITCH 2''.

AFTER PROGRAM LOAD (INITIAL PROGRAM SiART)
ALL CONSOLE SWITCHES DOWN

TO MODIFY DEVICE VECTOR AND CONTROL REGISTER ADORESSES
AFTER PROGRAM RESTART OR TO RUN MULTIPLE DEVICES

SW00=1
TO START PROGRAM AT SELECTED TEST AFTER A PROGRAM RESTART
Sw01=1 (ONLY IN SINGLE DEVICE TESTS)

TO LOCK ON SELECTED TEST AFTER A PROGRAM RESTART
(ONLY IN SINGLE DEVICE TESTS)

Swi14=1

NOTE1: IN GENERAL SW01 WILL BE USED WHEN SW14=1 IS USEV
NOTE2: WITHOUT SW01=1  *1OCK ON TEST'' WILL DEFAULT TO TEST 1
STARTING ADDRESS

THE STARTING ADDRESS FOR ALL TESTS IS 000200

THE RETARTING ADDRESS FOR ALL TESTS IS 000200

THE STARTING ADDRESS TO ENTER A SELECTED TEST IS 000200
THE STARTING ADDRESS TO LOCK ON TEST [S 000200

PROGRAM AND/OR OPERATOR ACTION

INITIAL PROGRAM START

4«.3.1.1 LOAD PROGRAM INTO MFMORY WITH ABSOLUTE LOADER
.3.1,2 SET SWITCH REGISTER (LOC. 1762 TO ZERO.

6.3.1.3 TYPE 200G.

4.3.1.4 PROGRAM WILL START,

4.3.1.5 THE PROGRAM WILL TYPE 'DUV11 CNDUR-A TAPE B'' (GNCE ONLY)
4.3.1.6 THE PROGRAM WILL TYPE 'R’ TO INDICATE THAT IT IS ABOUT
TO START TESTING ,AND THEN TESTING WILL BEGIN

PROGRAM RESTART WITH ALL SWITCHES DOWN

4.3.2.1 THE PROGRAM WILL TYPE 'R'' AND WILL COMMENCE TESTING
PROGRAM RESTART WITH Sw00=1

-REM

-REM

SEQ 0003
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&.3.3.1 SET SWITCH REGISTER (LOC. 176) TO A 000001.
4.3.3.2 TYPE 2006.
4.3.3.3 PROGRAM WILL START,

4.3.3.4 THE PROGRAM WILL TYPE ‘' 1ST DEVICE: RECEIVER CONTROL REGISTER
ADDRESS'' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

CElL
ET
4.3.3.5 TYPE IN THE ADDRESS OF THE FIRST RECEIVER CONTROL
REGISTER ADDRESS OF THE DUV11 TO BE TESTED
FOLLOWED BY A <CARRIAGE RETURN>

SEQ 0004

IF AN INCORRECT ADDRESS IS TYPED ,THE PROGRAM WILL TYPE *'?"
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.4

4.3.3.6 THE PROGRAM WILL TYPE 'VECTOR ADDRESS-'' AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD

4.3.3.7 TYPE IN THE BASE RECEIVER INTERRUPT VECTOR ADDRESS
FOR THE DUV11 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>
IF AN INCORRECT ADDRESS IS TYPED ,THE PROGRAM WILL TYPE ‘"'’
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.6

4.3.3.8 THE PROGRAM WILL TYPE °‘‘ARE YOU RUNNING MULTIPLE DEVICES ?*’
(Y OR N)='" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

4.3.3.9 TYPE IN THE APPROPRIATE ANSWER VYES OR NO FOLLOWED BY A
<CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS GIVEN, THE PROGRAM WILL TYPE '*?*
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.8

IF A 'NO'' ANSWER IS GIVEN: JUMP TO SECTION 4.3.3.12
IF A "'YES'' ANSWER IS GIVEN:THE NEXT QUESTION IS ASKED

4.3.3.10 THE PROGRAM WILL TYPE 'LAST DEVICE:RECEIVER CONTROL
REGISTER ADDRESS='' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.1 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL REGISTER

ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED BY A <CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '
AND WILL THEN REPEAT THE MESSAGE OF 4.3.3.10
NOTE:ALL ADDRESSES SHALL BE CONTIGUOUS

64.3.3.11.1 IF AN 'OUT OF RANGE'® ADDRESS IS TYPED
IE. MORE THAN 16 (10) DEVICES AWAY (UPWARDS).....THE
PROGRAM WILL TYPE 'OUT OF RANGE:RETYPE LAST DEVICE RXCSR ADDRESS-"'
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
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| 6.3.3.11.2 TYPE IN THE ADDRESS OF THE LAST RECEIVER CONTROL

REGISTER ADDRESS OF THE DUV11 TO BE TESTED FOLLOWED
BY A <CARRIAGE RETURN>

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE °'"?*
AND WILL REPEAT THE MESSAGE OF 4.3.3.11.1

If A DEVICE ADDRESS LOWER THAN 1ST DEVICE ADDRESS IS TYPED...........
ee..SCHOOLS OUT.........THERE IS NO PROTECTION FOR THIS.

THE PROGRAM WILL DEFAULT TO TWO DEVICES ACTIVE (UPWARDS FR%M

1ST DEVICE ADDRESS).THE SAME AFPLIES TO IDENTICAL ADDRESSES

TYPED FOR FIRST AND LAST DEVICE.

OBSERVE LOCATION @ ACTREG: SEE SECTION 7.2

4£.3.3.12 THE PROGRAM WILL TYPE '# OF SYNC CHARS
SELECTED (1 OR 2)-'" AND WAIT FOR AN INPUT FROM THE TELETYPE
gsI??aRggs zEFER TO MANUAL FOR PROPER SWITCH SETTINGS OF

4£.3.3.13 TYPE IN THE APPROPRIATE ANSWER '‘1'' OR '°2'' FOLLOWED
gg ?Hécggné?GE RETURN>, (NOTE:ALL MULTIPLE DEVICES MUST

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE ‘'"*
AND WILL REPEAT THE MESSAGE OF &4.3.3.12

4.3.3.14 THE PROGRAM WILL TYPE ‘' IS SEC XMIT SWITCH ES5-2 ON? (Y OR N)-*
AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4£.3.3.15 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIAGE RETURN>,(NOTE THAT ALL MULTIPLE DEVICES
MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE """
AND WILL REPEAT THE MESSAGE OF &4.3.3.14

4£.3.3.16 THE PROGRAM WILL TYPE ‘IS SEC REC SWITCH E55-3 ON?
(7 OR N)='" AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
&£.3.3.17 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED

BY A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE 7"’
AND WILL REPEAT THE MESSAGE OF &4.3.3.16

4.3.3.18 THE PROGRAM WILL TYPE °'IS OPT CLR ENABLE SWITCH
E55-1 ON? (Y OR N)~'' AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD
4.3.3.19 TYPE IN THE APPROPRIATE ANSWER YES OR NJ FOLLOWED

BY A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)

SEQ 0005



CNDUR=-A MACY11 30(1046) 14-DEC-B2 09:58 PAGE 57-5
CNDUR1 . M11 10-DEC~82 13:48 SEQ 0006

IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE '"?*"
AND WILL REPEAT THE MESSAGE OF 4.3.3.18

4.3.3.20 THE PROGRAM WILL TYPE °''ARE YOU RUNNING I[N MAINT,
MODE EXTERNAL ? AND ......D0 YOU HAVE THE EXTERNAL MODEM
BYPASS JUMPER CONNECTOR ON ? (Y OR N)='' AND WAIT FOR AN
INPUT FROM THE TELETYPE KEYBOARD
4.3.3.21 TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY
A <CARRIAGE RETURN>. (NOTE: ALL MULTIPLE DEVICES MUST BE THE SAME)
IF AN INCORRECT ANSWER IS TYPED ,THE PROGRAM WILL TYPE ''?*'
AND WILL REPEAT THE MESSAGE OF 4.3.3.20

4.5.3.22 THE PROGRAM WILL TYPE 'R'' TO INDICATE THAT IT
HAS STARTED AND WILL COMMENCE TESTING AT TEST 1

4.3.4 PROGRAM RESTART WITH SWO1=1
NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECYED
eroIT WILL NOT WORK IF MULTIPLE DEVICES ARE SELECTED
IF MULTIPLE DEVICES WERE PREVIOUSLY SELECTED,LOAD 000200,
AND SELECT SW00=1 AND ANSWER °NO'' TO THE MULTIPLE DEVICE QUESTION
SEE 4.3.3
4.3.4.1 SET SWO1=1 IN SWITCH REG (LOC. 176)
4.3.4.2 TYPE 20006.
4.3.4.3 PROGRAM WILL START.

4.5.4.4 THE PROGRAM WILL TYPE '‘TEST PC~'' AND WAIT FOR AN INPUT FROM
THE TELETYPE KEYBOARD

4.3.4.5 TYPE IN THE ADDRESS OF THE TEST AT WHICH THE PROGRAM IS TO
BE STARTED FOLLOWED BY A <CARRIAGE RETURN>

4.3.4.6 THE PROGRAM WILL TYPE 'R'* TO INDICATE THAT IT HAS STARTED
TESTING AT THE SELECTED TEST

NOTE: CARE MUST BE TAKEN WHEN THIS FEATURE IS USED
.SINCE THERE IS NO PROTECTION AGAINST SELECTING AN ADDRESS
THAT IS IN THE MIDDLE OF A TEST
4.3.5 PROGRAM RESTART WITH SW14 =1

NOTE: THIS WILL ONLY WORK WHEN A SINGLE DEVICE IS SELECTED

SEE NOTE IN 4.3.4 FOR MORE DETAILS

4.3.5.1 SET SW14=1 IN SWITCH REG. (LOC. 176)

&.3.5.2 TYPE 2006.

4.3.5.3 PROGRAM WILL START.
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6.1

6.1.1

6.1.2
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£.3.5.4

4£.5.5.5

4.3.5.6

OPERATIN

OPERATIONAL SWITCH SETTINGS (INTERNAL TO THE CPU, ACCESSED VIA LOC. 176).

SWis =
Swié
SW13
Sw11
SW10
Sw09
Swo1
Sw00

TO INHIB
ERRORS

ERROR HA
THERE AR

PC+2 = E
WHERE PC

REFER TO

CHECK AD
TEST WHE

PC +2 =
REGISTER
16XXXX

WHERE 16

WHERE YY

Houounwnonenaui
—b b ) b e cndd el e
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13:48
THE PROGRAM WILL TYPE '1OCK ON SELE.TED TEST ? (Y OR N)=-"'

AND WAIT FOR AN INPUT FROM THE TELETYPE KEYBOARD

TYPE IN THE APPROPRIATE ANSWER YES OR NO FOLLOWED BY A
<CARRIAGE RETURN>

IF A NO ANSWER IS GIVEN: THIS LOCK ON TEST WILL BE IGNORED
AND THE PROGRAM WILL TYPE 'R'* TO INDICATE THAT IT HAS STARTED
TESTING AT TEST 1

IF A YES ANSWER WAS GIVEN:THE PROGRAM WILL ACT AS FOLLOWS...
THE PRQGRAM WILL TYPE 'R'* TO IMDICATE THAT IT HAS STARTED
TESTING_AT TEST 1 AND WILL REMAIN IN TEST 1 UNTIL HALTED

OR IF ANY KEY IS STRUCK ON THE TELETYPE ,THE PROGRAM
WILL FREEZE ON THE NEXT TEST UNTIL A KEY [S STRUCK ON

THE TELETYPE AND SO FORTH THRU THE PROGRAM, [F SWO1 =1 |IT
WILL PERFORM AS IN SECTION 4.3.4 ALLOWING ONE TO FREEZE

ON A SELECTED TEST RATHER THAN DEFAULTING TO TEST 1

G PROCEDURE

HALT ON ERROR
LOOP ON CURRENT TEST
INHIBIT ERROR TYPEOUT
INHIBIT ITERATIONS
ESCAPE TO NEXT TEST ON ERROR
LOOR ON ERROR
RES:ART PROGRAM AT SELECTED TEST
RESELECT VECTOR AND CONTROL REGISTYER ADRESSES
CPARAMETERS AFTER A PROGRAM RESTART
IT "END OF PASS'® TYPEOUT ~ TURN TELETYPE OFF

LTS (UNDER LSI ALL HALT ERRORS RETURN CONTROL Y0 0.D.T.)
E FOUR DISTINCT ERROR TYPEOUTS

RROR PC
+2 1S THE ADDRESS OF THE CALL TO THE ERROR HANDLER ¢2

THE ABOVE ‘HLT'® IN DIAGNOSTIC FOR ERROR DESCRIPTION

DRESS @ RXCSR: TO LOCATE THE DEVICE PRESENTLY UNDER
N RUNNING MULTIPLE DEVICES

REGISTER ERROR P(
EXPECTED AC TUAL
VYYYYY 122112
XXXX 1S THE ADDRESS OF THE FAILING DEVICE REGISTER

YYYY IS THE EXPECTED CONTENTS OF THAT REGISTER

SE@ 0007
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6.1.3

6.1.4

6.1.5

6.2
6.2‘1

6.2.2

6.2.4

6.3
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WHERE 222227 1S THE ACTUAL CONTENTS OF THAT REGISTER

PC +2 = RECEIVER ERROR PC
REGISTER EXPECTED ACTUAL
16XXXX YYYYYY 11222,

WHERE 16XXXX IS THE ADDRESS OF THE FAILING RECEIVER (RXDBUF) REGISTER
WHEKE YYYYYY IS THE EXPECTED DATA CONTENTS OF THAT REGISTER

WHERE 22721% IS THE ACTUAL DATA CONTENTS OF THAT REGISTER
SEGIET;RIRANSMITEEEEE?EgR e ACTUAL

16XXXX YYYYYY 122112

WHERE 16XXXX [S THE ADDRESS OF THE FAJLING TRANSMITTER (TXCSR) REGISTER
WHERE YYYYYY IS THE EXPECTED CONTENTS OF THAT REGISTER

WHERE 2272171 IS THE ACTUAL CONTENTS OF THAT REGISTER

ERROR DESCRIPTIONS
SEE LISTINGS FOR DETAILS OF ERRORS

ERROR RECOVERY

Swi5 =0
IF THE PROGRAM IS RUN WITH SW15 =0 ,NO OPERATOR ACTION IS
REQUIRED TO CONTINUE TESTING

SW1s =1

IF THE PROGRAM IS RUN WITH SW15 =1 ,TO CONTINUE TESTING
AFTER THE PROGRAM HAS HALTED ,PRESS THE PROCESSOR
CONSOLF °'CONTINUE SWITCH'®

NOTE: THE PC + 2 OF THE 'HLT'' WILL BE DISPLAYED IN THE DATA LIGHTS

ILLEGAL INTERRUPTS

IF AN INTERRUPT OCCURS TO A VECTOR ADDRESS NOT SELECTED
DURING PROGRAM INITIALIZATION, THE PROGRAM WILL HALT [N
THE TRAPCATCHER, THE ADDRESS AT WHICH THE PROGRAM

HALTS IS 2 GREATER THAN THE ADDRESS TO WHICH THE INTERRUPT
OCCURED. THE PROGRAM MUST BE RESTARTED AT 000200 TO
RECOVER FROM THIS ERROR.

ADD]TIONAL TROUBLESHOOTING AIDS ERRCNT: & PASCNT:

CHECK THESE TWO TAG LOCATIONS FOR TOTAL # OF ERRORS AND PASSES RESPECTIVELY.

LOADING 000200 AND RESTARTING WILL CLEAR THESE LOCATIONS.

END OF PASS ROUTINE
THIS TYPEQUT IS MENTIONED HERE FOR CONVENIENCE
IT IS IN THE FORM:

END OF PASS TAPE Y

SEQ 0008



-~ o— -

CNDUR=A MACY11 30(1046) iéngC-BZ 09:58 PAGE 57-8

CNDURY . M1

7.2

7.2.1

7.2.2

7.3

7.3.1

| 7.4

10-DEC-82 1

16XXXX = DEVICE

WHERE Y IS THE TAPE LOADED

WHERE 16XXXX IS THE DEVICE'S BASE REGiSTER ADDRESS
TO INHIBIT THIS TYPEOUT = TURN TELETYPE OFF
RESTRICTIONS

MULTIPLE DEVICES
UP TO 16(10) DEVICES MAY BE TESTED. HOWEVER, THEY
MUST HAVE CONTIGUOUS ADDRESSES AND VECTORS

NOTE: IF ALL DEVICES UNDER TEST HAVE THE SAME INTERRUPT VECTOR
YOU CAN CHANGE ‘'‘'ZERO: ADD #10,BASEIV sNEXT BLOCK
(VECTORS)'* TO ''ZERO:  ADD #0,BASEIV'';

THEREBY THE VECTOR ADDRESSES WILL NOT BE

UPDATED AFTER EACH PASS.

DISQUALIFYING DEVICES WHEN RUNNING MULTIPLE DEVICES

WHEN RUNNING MU' TIPLE DEVICES AN ACTIVE BIT IS SET
FOR EACH DEVICE RUNNING UNDER TEST IE. BIT 0 FOR
DEVICE O ,BIT 15 FOR DEVICE 15

TO DiSQUALIFY DEVICES:

IF DEVICE O IS TO BE DISQUALIFIED ,SIMPLY RESTART
PROGRAM WITH SWO0 =1 AND OMIT THE FIRST DEVICE.

IF HOWEVER, DEVICES 1 THRU 15 OR ANY COMBINATION THEREOF
ARE TO BE DISQUALIFIED....LOAD THE LOCATION OF ACTREG:
OBSERVE THE ACTIVE BITS (ACTIVE =1, NONACTIVE = 0)

AND DEPOSIT O WHERE THOSE DEVICES ARE TO BE DISQUALIFIED

7.2.2.1 TO RESTART...TYPE 2006...
THE PROGRAM WILL CONTINUE WITH THE DEVICE IT WAS IN BEFORE HALTING.

7.2.2.2 vecess OR .....SET SW00=1 N SUITCH REG (LOC. 176) AND TYPE 2006....
ANSWER THE QUESTION :1ST DEVICE : EVCovevseceens
....THE PROGRAM WILL CONTINUE UITH DEVICE 0

7.2.2.3 1r ALL DEVICES ARE DISQUALIFIED BY MISTAKE _ THE PROGRAM
WILL TYPEOUT AN ERROR MESSAGE....... TYPE 2006.

CABLE DELAYS
NOTE: EXTERNAL LOOP BACK TESTS ONLY (MODEM CABLE WITH H315 CONNECTOR ON)

TO PROVIDE SUFFICIENT DELAY FOR CLOCK SIGNAL OVER THE CABLE,

LOCATION ‘HOLD:'* MUST BE MODIFIED TO ACCOMODATE FOR FASTER MACHINES.
PRESENTLY *HOLD:'* =20 IS SUFFICIENT TIME ON AN 11/21 MACHINE.

BASICALLY DON'T TRY TO EXCEED 10K TO 12K RATE USING THE EIA DRIVERS

TO USE THE ‘'XOR'' TESTER ,THE BRANCH AROUND THE '‘XOR'’
CODE MUST BE PATCHED TO A "NOP'‘, (SEE LISTINGS FOR DETALILS)

—— e —— - —_—

SEQ 0009
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8. DEFAULT PARAMETERS:
1ST DEVICE: RECEIVER CONTROL REGISTER ADDRESS= RXCSR: 174300
VECTOR ADDRESS- DURIV: 330
ARE YOU RUNNING MULTIPLE DEVICES ?- NO MULTD: 0
LAST DEVICE: RECEIVER CONTROL REGISTER ADDRESS- LASTADD: 0
# OF SYNC CHARS SELECTED - 2 SYNCNO: 377
IS SEC XMIT SWITCH E55-2 ON?- YES SEXMIT: 377
1S SEC REC SWITCH E55-3 ON?= YES SEREC: 377

IS OPT CLR ENABLE SWITCH E55-1 ON?- YES OPTCLR: 377
DO YOU HAVE THE _EXTERNAL MODEM BYPASS JUMPER

CONNECTOR ON (H315)- YES JMRBY: 377
9. PROGRAM DESCRIPTION
 {
-REM %
9.1 THIS PROGRAM PERFORMS THE OFFLINE RECEIVER SECTION TESTING
OF THE DEVICE
SEE LISTING FGR DETAILS
*
-REM *

10. FLOW CHARTS: RECEIVER FLOW,TRANSMITTER FLOW,TRANSMITTER & RECEIVER FLOW

1. REVISION HISTORY
DZOURB1 WAS MODIFIED TO WORK _IN SBC 11/21 PROCESSOR
PRIORITY 340 WAS CHANGED TO 300 WHEREVER ENCOUNTERED
DEFAULT CSR AND VECTOR ADDRESSES WERE CHANGED
+INIT CALL INCLUDED FOR INI.JALIZATION
DIAGNOSTIC WAS RENAMED TO CNDURAO.

12. LISTINGS



CNDUR=-A MACY11_30(1046)

CNDUR2.MN

6488
6585

P Y Y e N e N W N W W W N Y Y W Y R Y N Y Y Y Y Y ol oY o Y oV oY el oY alala el Ve Y

N e N N N N N Nt N N Nt Nl Nt N N b N N N N Nt N Nul N b Nt N ot Nut Nt N Nt ut b Nl i N sl Nt il N

000000
000006
000014
000016
000024
000024
000026
000030
000034
000036
000044
000046
000054
000056
0000662
000070
000074
000076

000102
000104
000106
000112
000114
000120
000126
000130
000136
000144
000150
000154
000156
000156
000162
000164
000170
000172
000176
000200
000206
000214

OO ==t =O——
(=]
o
H
o

010067

105720
001376
166700
006200
010067
012767
000413
017667
062766
016746
004767
000000

105767
001416
005767
001413
005767
001375
017667
062766
005267
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000001
000001

000001

000206
000001
000100
000004
000002
001432

001440

001430

001424
000004

000004
000002
177626
012566
000062
001356
001330
000004

000002
001306

000236
000226

000220

001502
001473

000004

001400

000016
000004

001322
000004

.SBTTL APT COMMUNICATIONS ROUTINE

::*Qt*ﬁtitttttﬁ'*ti'i*."it*t'ttttt*.ittQtttitttttttttt*ttttﬁtt*t

$ATY1:
$SATY3:

$ATYL:
$ATYC:

1%:

2%:

e AL
(=1 1

11$:

MOVB  #1,$FFLG
MOVB  #1.SMFLG

BR SATYC

MOovV8 21 ,8FFLG

MOV RO,=(SP)

MOV R1,=(SP)

TSTB SMFLG

BEQ 5¢

CMPB  NAPTENV,SENV
BNE 3¢

BITB  #APTSPOOL,SENVM
BEQ 38

MOV 34 (SP) ,RO
ADD #2.4(SP)

ST $MSGTYPE

BNE 1s

MOV RO, SMSGAD

2 :PUT ADDR IN MAILBOX
1ST8  (RO)+

BNE 28

SUB $MSGAD, RO
ASR RO

MOV RO, SMSGLGT
MOV #4 . SMSGTYPE
B8R 5%

MOV 34 (SP) .48
ADD #2,4(SP)

MOV 177776,-(SP)
JSR PC,STYPE
LWORD 0

ISTB  $FFLG

8EQ 12%

TST SENV

BEQ 12$

ST $MSGTYPE

BNE 11%

MOV a4 (SP) ,SFATAL
ADD #2.4(SP)

INC $SMSGTYPE

;270 REPORT FATAL ERROR
s:T0O TYPE A MESSAGE

s:TO ONLY REPORT FATAL ERROR
:;PUSH RO ON STACK

;sPUSH R1 ON STACK
;:SHOULD TYPE A MESSAGE?

s:IF NOT: BR
;s OPERATING UNDER APT?
ssIF NOT: BR

2:SHOULD SPOOL MESSAGES?
::IF NOT: BR
::GET MESSAGE ADDR.

::BUMP RETURN ADDR.
;:SEE IF DONE W/ LAST XMISSION?
::IF NOT: WAIT

s:FIND END OF MESSAGE

::SUB START OF MESSAGE

;:GET MESSAGE LNGTH IN WORDS
:sPUT LENGTH IN MAILBOX

s TELL APT TO TAKE MSG.

::PUT MSG ADDR IN JSR LINKAGE
- :BUMP RETURN ADDRESS

::PUSH 177776 ON STACK

::CALL TYPE MACRO

s s SHOULD REPORT FATAL ERROR?

;o IF NOT: BR
: RUNNING UNDER APT?
;o IF NOT: BR

ssFINISHED LAST MESSAGE?
soIF NOT: WALT
ssGET ERROR #

::BUMP RETURN ADDR.
;s TELL APT TO TAKE ERROR

SEQ 0011
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7469

000220
000224
000230
000234
000236
000249
000242
000243

000244
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105067 000020
105067 000013
105067 000006
012601

012600

000207

000

000

000
000246
000200
000001
000100
00050
000001
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APT COMMUNICATIONS ROUTINE

128: CLRB
CLRB
CLRB
MOV
MOV
RTS

$MFLG: .BYTE

$LFLG: .BYTE

$FFLG: .BYTE

.EVEN
APTSIZ2E=200
APTENV=001
APTSPOOL=100
APTCSUP=040
$TN=1

SFFLG
SLFLG
SMFLG
(SP)*,RI

(SP)+,R0
PC

oo

;LOG FLAG

O‘

;. CLEAR FATAL FLAG
ssCLEAR LOG FLAG

; :CLEAR MESSAGE FLAG
;:POP STACK INTO R1
;:POP STACK INTO RO
:;RETURN

s sMESSG. FLAG

:sFATAL FLAG

SEQ 0012
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CNDURZ2 .M11 30-0CT-82 12:16 APT COMMUN]ICATIONS ROUTINE SEQ 0013

7492
7558
7564
7700
7728
7761
7802
7833
7884
L7932
7985
8000
8012
8114
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001100

000011
000012
000015
000200
177776

177774
177772
177570
177570

170000

000000
000001
000002
000003
000004
000005
000006
000007
000906
000007

000000
000040
000100
000140
000200
000240
000300
000340

100000

14-DEC~-82 09:58 PAGE 61
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APT COMMUNICATIONS ROUTINE
.ENABLE ABS

:DUV11 CNDUR-A TAPE B
:COPYRIGHT 1982, DIGITAL EQUIPMENT CORP., MAYNARD, MASS. 01754

JSTARTING PROCEDURE

:TYPE 2006

;PROGRAM WILL TYPE °DUV11 CNDUR=A TAPE B '’

JPROGRAM WILL TYPE 'R'* TO INDICATE THAT TESTING HAS STARTED
AT THE END OF A PASS, PROGRAM WILL TYPE 'END OF PASS TAPE B''
JAND THEN RESUME TESTING

.SBTTL BASIC DEFINITIONS
s*INITIAL ADDRESS OF THE STACK POINTER ##t 1100 wee

STACK= 1100 p
.EQUIV EMT,ERROR ;sBASIC DEFINITION OF ERROR CALL
.EQUIV 10T,SCOPE ::BASIC DEFINITION OF SCOPE CALL
;*MISCELLANEOUS DEFINITIONS

HT= 11 ;;CODE FOR HORIZONTAL TA8

LF= 12 +:CODE FOR LINE FEED

CR= 15 :sCODE FOR CARRIAGE RETURN

CRLF= 200 +:CODE FOR CARRIAGE RETURN-LINE FEED
PS= 177776 : sPROCESSOR STATUS WORD

.EQUIV PS,PSW

STKLMT= 177774 ::STACK LIMIT REGISTER

PIRQ= 177772 : :PROGRAM INTERRUPT REQUEST REGISTER
DSWR= 177570 : HARDWARE SWITCH REGISTER

DOISP= 177570 : :HARDWARE DISPLAY REGISTER

;weews  THE FOLLOWING ODT START ADDRESS FOR SBC 11/21 IS ADDED
0DTST= 170000
§5§E~ERA§OPURPOSE REGISTER oeréuxrxons

s ;GENERAL REGISTER
R1= X1 s sGENERAL REGISTER
R2= X2 s SGENERAL REGISTER
R3= X3 2 sGENERAL REGISTER
Ré4= : sGENERAL REGISTER
RS= &) 2 ;GENERAL REGISTER
R6= X6 s ¢GENERAL REGISTER
R7= ) ¥4 s ;GENERAL REGISTER
SPs=  {. :sSTACK POINTER
PC= ¥4 : ;PROGRAM COUNTER
:*PRIORITY LEVEL DEFINITIONS
PRO= 0 ::PRIORITY LEVEL O
PR1= 40 ::PRIORITY LEVEL 1
PRZ= 100 JsPRIORITY LEVEL %
PR3= 140 :sPRIORITY LEVEL
PRé4= 200 2:PRIORITY LEVEL 4
PRS= 240 ::PRIORITY LEVEL §
PR6= 300 ::PRIORITY LEVEL 6
PR7= 340 ::PRIORITY LEVEL 7
' 'SWITCH REGISTER'® SWITCH DEFINITIONS
SW15= 100000

SEQ 0014
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CNDURA .M11 29-0C7~82 16:31 BASIC DEFINITIONS SEQ 0015
(2) 040000 SWi4= 40000
(2) 020000 SWi3= 20000
(2) 010000 SWi2= 10000
(2) 004000 SWil= 4000
(2) 002000 sWi0= 2000
(2) 001000 SW09= 1000
(2) 000400 SW08= 400
(2) 000200 sWo7= 200
(2) 000100 SWoé= 100
(2) 000040 SW0S= 40
(2) 000020 SWié= 20
(2) 000010 swo2~ 10
(2) 000004 SW02= 4
(2) 000002 Swoi= 2
(2) 000001 SW00= 1
(2) LEQUIV SW09,SW9
(2) .EQUIV SW08.Sw8
(2) -EQUIV SW07.SW?
(2) .EQUIV SW06,SW6
(2) JEQUIV SWO0S.SWS
(2) EQUIV  SWO04.SWé
(2) EQulv SW03,Sw3
(2) EQUIvV SW0Z2,Sw?
2) EQUIvV SU01.SH1
8; EQUIV SW00,sSw0
(2) :*DATA BIT DEFINITIONS (BIT00 TO BIT1S5)
(2) 100000 BIT15= 100000
(2) 040000 BIT14= 40000
(2) 020000 BIT13= 20000
(2) 010000 BIT12= 10000
(2) 004000 BIT11= 4000
(2) 002000 BIT10= 2000
(2) 001000 8IT09= 1000
(2) 000400 BITO8= 400
(2) 000200 8IT07= 200
(2) 000100 BIT06= 100
(2) 000040 BITOS= 40
(2) 000020 BITO4= 20
(2) 000010 BITO3= 10
(2) 000004 BITO2= 4
(2) 000002 BITOI= 2
2) 000001 BITOO= 1
(2) .EQUIV BIT09.81T9
(2) .EQUIV BIT08.BIT8
(2) .EQUlV BIT07.B1T17
(2) .EQUIV BIT06.BITé
(2) .EQUIV BIT05.8ITS
(2) .EQUIV BIT0&.BIT&
(2) .EQUIV BI103.BI13
(2) JEQUIV BIT02.BIT2
(2) .EQUIv BIT01.8BITI
gg; .EQUIV BIT00.81T0
(2) :«BASIC *'CPU'* TRAP VECTOR ADDRESSES
(2) 000004 ERRVEC= 4 ::TIME OUT AND OTHER ERRORS
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CNDURA .M11 29~0CT~82 16:31 BASIC DEFINITIONS SEQ 0016

(2) 000010 RESVEC= 10 ..RESERVED AND ILLEGAL INSTRUCTIONS
(2) 000014 TBITVEC=14 “T** BIT

(2) 000014 TRTVEC= 14 ::TRACE TRAP

(2) 000014 BPTVEC= 14 s ;BREAKPOINT TRAP (BPT)

(2) 000020 10TVEC= 20 ¢ INPUT/OUTPUT TRAP (IQT) *«SCOPE*+
(2) 000024 PWRVEC= 24 s ;POWER FAIL

(2) 000030 EMTVEC= 30 :;EMULATOR TRAP (EMT) «+ERRORv+

(2) 000034 TRAPVEC=34 s "TRAP’' TRAP

(2) 000060 TKVEC= 60 ..TYY KEYBOARD VECTOR

(2) 000064 TPVEC= 64 ;TTY PRINTER VECTOR

(2) sverws  THE FOLLOWING BREAK VECTOR AND LINE CLOCK VECTOR ARE INCLUDED
(2) 000100 LKVEC= 100 ssLINE CLOCK VECTOR

(2) 000140 BRKVEC= 140 s :BREAK VECTOR

(2) 000240 PIRQVE(=240 : ;PROGRAM INTERRUPT REQUEST VECTOR
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CNDURA . M11 29-0CT1-82 16:31 BASIC DEFINITIONS SEQ 0017

;STANDARD INTERRUPT VECTORS

~
N
~

000174 =174

000174 000000 DISPREG:0

000176 000000 SWREG:0

000200 .=200

000200 000167 001746 JMP +START :GO TO START OF PROGRAM

001100 .=1100
001100 000000 .WORD 0
001102 177570 LIGHTS:177570

sPROGRAM CONTROL PARAMETERS

4 000000 RETURN: 0

6 000000 NEXT: O :ADDRESS OF NEXT TEST TO BE EXECUTED
0 000000 LOCK: 0 sADDRESS FOR LOCK ON CURRENT DATA

2 000000 PASCNT: 0 :ADDRESS CONTAINING PASS COUNT

& 000000 ERRCNT: 0 :ERROR COUNT

é 000000 SAVSP: 0 ;STACK POINTER STORAGE

:PROGRAM VARIABLES

001120 000020 HOLD: 20 : TEMPORARY STORAGE=DELAY TIME FOR CABLES

001122 000000 SHIFT: ; TEMPORARY STORAGE= # OF SHIFTS PER CHAR

001124 000000 COUNT: : TEMPORARY STORAGE= # OF TIMES A CHAR WILL BE SENT
001126 000000 SAVP(C: : PROGRAM COUNTER STORAGE

001130 000000 HLDO:
001132 000000 HLD1:
001134 000000 HLDZ:
001136 000000 HLD3:
001140 000000 HLD4:
001142 000000 HLDS:
001144 000000 HLD6:
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(2) sPROGRAM_CONVERSATIONAL PARAMETERS
(2) 001146 377 SYNCNO: .BYTE 377 ;# OF SYNC CHARS REQ'D FOR SYNC'ZATION
(2) 001147 377 SEXMIT: .BYTE 377 ;SEC XMIT JUMPER ‘'IN''
(2) 001150 377 SEREC: .BYTE 377 :SEC REC JUMPER °'IN'’
(2) 001151 377 OPTCLR: .BYTE 377 ;OPTIONAL JUMPER CLR "IN’
(2) 001152 000 MULTD: ,BYTE O sNO MULTIPLE DEVICE FLAG
2%; 001153 377 Jgs?;: .BYTE 377 ;EXTERNAL MODEM BYPASS JUMPER '‘IN'’
(2)
(2) sPROGRAM MULTIPLE DEVICE PARAMETERS
(2) 001154 000000 BASEADD: 0 :PROG CONTROLLED 1ST DEVICE ADDR
(2) 001156 000000 KEEPADD: 0 :SAVED 1ST DEVICE ADDR
(2) 001160 000000 LASTADD: 0 sLAST DEVICE RXCSR ADDR
(2) 001162 000000 BASEIV: 0 sPROG CONTROLLED IV
(2) 001164 000000 KEEPIV: 0 :SAVED INTR VECTOR
(2) 001166 000000 ACTREG: 0 ;ACTIVE REGISTER ,, ,MODIFY THIS
(2) ;LOCATION TO DISQUALIFY OR QUALIFY
(2) ;DEVICES (1= RUN,,,0= DON'T RUN)
(2) 001170 000000 ROTADD: 0 :ROTATING POINTER FOR ACTREG..POINTS
is; sTO DEVICE PRESENTLY UNDER TEST WHEN RUNNING MULTIPLE DEVICES
gs; sPROGRAM CONTROL FLAGS
(2) 001172 000 INIFLG: .BYTE 0 sPROGRAM INITIALIZATION FLAG
(2) 001173 000 STFLG: .BYTE 0 sTEST START FLAG
(2) 001174 000 LOKFLG: .BYTE 0 sLOCK ON CURRENT TEST FLAS
(2) 001176 .EVEN
(1) 001400 .=1400
(2)
2)
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CNDURA .M 29-0CT-82 16:31

(2)

(2)

(2)

(2)

(2)

(2) 005746
(2) 005726
(2) 010046
(2) 012600
(2) 024646
(2) 022626
(2)

(2)

(2) 100000
(2) 040000
(2) 020000
(2) 010000
(2) 004000
(2) 002000
(2) 001000
(2) 000400
(2) 000200
(2) 000100
(2) 000040
(2) 000020
(2) 000010
(2) 000004
(2) 000002
(2) 000001
(2)

(2) 100000
(2) 040000
(2) 020000
(2) 010000
(2)

(2) 001000
(2) 000400
(2)

(2) 030000
(2) 020000
(2) 000000
(2) 000000
(2 002000
(2) 004000
(2) 006000
(2) 000000
(2) 001000
(2) 001400
(2)

(2) 100000
(2) 040000
(2) 020000
(2) 002000
(2) 000400
(2) 000200
(2) 000100

14=-DEC~82 09:58 PAGE 61-5

BASIC DEFINITIONS

sINSTRUCTION DEFINITIONS

PUSH1SP=5746
POP1SP=5726
PUSHR0=10046
POPR0=12600
PUSH2SP=24646
POP2SP=22626

;DECREMENT PROCESSOR STACK 1 WORD =TST =(SP)
; INCREMENT PROCESSOR STACK 1 WORD =TST (SP)+
;SAVE RO ON STACK =MOV RO,=-(SP)

;RESTORE RO FROM STACK =MOV (SP)+,RO
sDECREMENT STACK TWICE =CMP =(SP),-(SP)

: INCREMENT STACK TWICE =CMP (SP)+,(SP)+

SREGISTER DEFINITIONS

pSC=BIT15
RING=BIT14
CTS=BIT13
CARDET=BIT12
RECACT=BIT11
SRD=BIT10
DSR=BIT9
STPSYN=BITS
RXDONE=BIT7
RINTEN=BIT6
DSINTE=BITS
SYNSCH=BIT4
STD=BIT3
RTS=BIT2
DTR=BIT1
VOID=BITO

*RXCSR BIT DEFINITIONS

:DATA SET CHANGE
:RING

;CLR TO SEND
:CARRIER DETECTY
:REC ACTIVE

:SEC REC DATA
:DATA SET RDY
:STRIP SYNC

:REC DONE

:REC INTR ENABLE
:DSC INTR ENABLE
sSYNC SEARCH
JSEC XMIT DATA
JREQ TO SEND
;DATA TERM RDY

sRXDBUF BIT DEFINITIONS

RXERR=BIT15
OVRRUN=BIT14
FRMERR=BIT13
PARER=BIT12

;REC _ERROR
:OVERRUN
:FRAME ERROR
+PARITY ERROR

:PARCSR BIT DEFINITIONS

PAREN=BIT9
EVPAR=BITS

sPARITY ENABLE
;EVEN PARITY SENSE

:PARCSR WRD DEFINITIONS

SYNINT=30000
SYNEXT=20000
1SYMOD=0
FIVE=0
SIX=2000
SEVEN=4000
EIGHT=6000
NOPAR=0
ODDPAR=1000
EVEPAR=1400

DNA=BIT1S
MTDATA=BIT14
CLK=BIT13

sSYNC EXTERNAL MODE
sSYNC INTERNAL MODE
: 1S0C MODE

;WORD LENGTH 5 BITS
sWORD LENGTH 6 BITS
;WORD LENGTH 7 BITS
;WORD LENGTH 8 BITS
sNO PARITY

;00D PARITY

:EVEN PARITY

:TXCSR BIT DEFINIVIONS

sDATA NOT AVAILABLE
sMAINT DATA

s CLK

:B1T WINDOW

sMASTER RESET

:XMIT DONE

JXMIT INTR ENABLE

SEQ 0019
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CNDURA .M11 29-0CT~82 16:31 BASIC DEFINITIONS
(2) 000040 DNAINTE=BITS ;ONA INTR ENAB
(2) 000020 SEND=BIT& .
(2) 000010 HDXEN=BIT3 s HOX/FDX
(2) 000001 BREAK=BITQ : BREAK
(2) sTXCSk WRD DEFINITIONS
(2) 000000 USER=0 ;USER _MODE
(2) 004000 MINT=4000 sMAINT INT MODE
(2) 010000 MEXT=10000 sMAINT EXT MODE
(2) 014000 SYSTST=14000 ;SYSTEM TEST MODE

14-DEC~82 09:58 PAGE 61-6

SEND

SEQ 0020
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CNDURA .M 29-0CT=-82 16:31 COMMON TAGS SEG 0021

f%; .SBTTL COMMON TAGS
(3) s (333233202202 020200 0020000 dddRl R R R ddldRddliaildiltliddsd])
(2) :*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS
é%; :*USED IN THE PROGRAM.
(2) 001400 oS
(2) 001400 SCMTAG: :;START OF COMMON TAGS
(2) 001400 000000 .WORD @
(2) 001402 000 $TSTNM: .BYTE 0 s CONTAINS THE TEST NUMBER
(2) 001403 000 SERFLG: .BYTE 0 ;s CONTAINS ERROR FLAG
(2) 001404 000000 $ICNT: ,WORD O s ;CONTAINS SUBTEST ITERATION COUNT
(2) 001406 000000 SLPADR: .WORD 0 s ;CONTAINS SCOPE LOOP ADDRESS
(2) 001410 000000 SLPERR: .WORD 0 s ;CONTAINS SCOPE RETURN FOR ERRORS
(2) 001412 000000 SERTTL: .WORD 0 ;s CONTAINS TOTAL ERRORS DETECTED
(2) 001414 000 SITEMB: .BYTE O s CONTAINS ITEM CONTROL BYTE
(2) 001415 001 SERMAX: .BYTE 1 ;s CONTAINS MAX. ERRORS PER TEST
(2) 001416 000000 $ERRPC: .WORD 0 s ;CONTAINS PC OF LAST ERROR INSTRUCTION
(2) 001420 000000 $GDADR: .WORD 0 ;s CONTAINS ADDRESS OF °*GOOD® DATA
(2) 001422 000000 $BDADR: .WORD 0 :;CONTAINS ADDRESS OF °‘BAD® DATA
(2) 001424 000000 $GDDAT: .WORD 0 ;s CONTAINS *GOOD' DATA
(2) 001426 000000 $BDDAT: .WORD 0 :;CONTAINS °'BAD* DATA
(2) 001430 000000 WORD 0 s ;RESERVED==NOT TO BE USED
(2) 001432 000000 .WORD 0
(2) 001434 000 $AUTOB: .BYTE 0 s;AUTOMATIC MODE INDICATOR
(2) 001435 000 $INTAG: .BYTE 0 s+ INTERRUPT MODE INDICATOR
(2) 001436 000000 .WORD O
(2) 001440 177570 SWR: .WORD  DSWR + ;ADDRESS OF SWITCH REGISTER
(2) 001442 177570 DISPLAY: .WORD DDISP s ;ADDRESS OF DISPLAY REGISTER
(2) 001444 177560 $TKS: 177560 s;TTY KBD STATUS
(2) 001446 177562 $TkB: 177562 ;:TTY KBD BUFFER
(2) 001450 177564 $TPS: 177564 ;. TTY PRINTER STATUS REG. ADDRESS
(2) 001452 177566 $TPB: 177566 s:TTY PRINTER BUFFER REG. ADDRESS
(2) 001454 000 SNULL: .BYTE 0 :;CONTAINS NULL CHARACTER FOR FILLS
(2) 001455 002 SFILLS: .BYTE 2
(2) :; CONTAINS # OF FILLER CHARACTERS REQUIRED
(2) 001456 012 $FILLC: .BYTE 12 ;s INSERT FILL CHARS. AFTER A ‘''LINE FEED'
(2) 001457 000 $STPFLG: .BYTE O s 'TERMINAL AVAILABLE'® FLAG (BIT<07>=0=YES)
(2) 001460 000000 SREGAD: .WORD O s ;CONTAINS THE ADDRESS FROM
(2) ssWHICH (SREGO) WAS OBTAINED
(4) 001462 000000 SREGO: .WORD 0 ;s CONTAINS ((SREGAD)+0Q)
(4) 001464 000000 $REG1: .WORD O ::CONTAINS ((SREGAD)+2)
(4) 001466 000000 SREG2: .WORD O s ;CONTAINS ((SREGAD)+4)
(4) 001470 000000 SREG3: .WORD O s ;CONTAINS ((SREGAD) +6)
(4) 001472 000000 $REG4: .WORD O :sCONTAINS ((SREGAD)+10)
(4) 001474 000000 SREG5: .WORD 0 :;CONTAINS ((SREGAC)+12)
(4) 001476 000000 $TMPO: .WORD O s sUSER DEF INED
(4) 001500 000000 $TMPT: .WORD O :cUSER DEF INED
(4) 001502 000000 $TMP2: _.WORD 0 : cUSER DEF INED
(4) 001506 000000 $TMP3: _WORD 0 : ;USER DEF INED
(4) 001506 000000 $TMP4: .WORD 0 s sUSER DEF INED
(4) 001510 000000 $TMP5: .WORD O : sUSER DEF INED
(2) 001512 000000 $TIMES: 0 s sMAX. NUMBER OF ITERATIONS
(2) 001514 000000 $ESCAPE:0 :sESCAPE ON ERROR ADDRESS
(2) 001516 177607 $BELL: .AS <207><377><377> ;;CODE FOR BELL
001522 077 $QUES: .AS ?/ : cQUESTION MARK



¢ —— — —_—— - -—

CNDUR=A MACY11 30(1046) 164-DEC-82 09:58 PAGE 61-8

CNDURA.MT 29-0CT-82 16:31 COMMON TAGS SEQ@ 0022
(2) 001523 015 $CRLF: LASCI]l <15 s sCARRJAGE RETURN
(2) 001524 000012 SLF: ASCIZ <1 scLINE FEED
(3) O L R T T T T T T T2 T T T T Y

"SBTTL APT MAILBOX~ETABLE

A AAAAA A AR AR AR AAARAAAAAAAMAALAAA AR AL A Rd LR dl ARl dRld)

HNW
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.EVEN
001526 $MAIL: s s APT MAILBOX
001526 000000 $MSGTY: .WORD  AMSGTY ;;MESSAGE TYPE CODE
001530 000000 SFATAL: .WORD  AFATAL ;:FATAL ERROR NUMBER
001532 000000 STESTN: .WORD  ATESTN ;:TEST NUMBER
001534 000000 $PASS: .WORD  APASS  ;:PASS COUNT
001536 000000 SDEVCT: .WORD  ADEVCT ;;DEVICE COUNT
001540 000000 SUNIT: .WORD AUNIT  ::1/0 UNIT NUMBER
001542 000000 $MSGAD: .WORD  AMSGAD ;;MESSAGE ADDRESS
001544 000000 $MSGLG: .WORD  AMSGLG ;;MESSAGE LENGTH
001546 SETABLE: 2 sAPT ENVIRONMENT TABLE
001546 000 SENV:  .BYTE  AENV s ENVIRONMENT BYTE
001547 000 SENVM: _BYTE  AENVM

: ;ENVIRONMENT MODE BITS
001550 000000 $SWREG: .WORD  ASWREG ;:APT SWITCH REGISTER
001552 000000 SUSWR: .WORD AUSWR  ;;USER SWITCHES
001554 000000 $CPUOP: .WORD  ACPUOP ;;CPU TYPE,OPTIONS

i BITS 15-11=CPU TYPE

11/04=01,11/05=02,11/20=03,11/40=04,11/45=05
11/70=06,PD0=07,0=10

Y e e el e e ey el e el ey ey e e o Y o Y oY o Y Y e e et e Y e e et el e L Y oY o T e Lo L L L T L e e L T T L L Lo L R L L O L
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’Q
:t
H BIT 10=REAL TIME CLOCK
o BIT O9=FLOATING POINT PROCESSOR
b BIT 8=MEMORY MANAGEMENT
001556 000 $MAMS1: .BYTE  AMAMS1 ;:HIGH ADDRESS.M.S. BYTE
001557 000 $SMTYP1: .BYTE AMTYP1 ;:MEM. TYPE,BLK#
¥ MEM.TYPE BYTE == (HIGH BYTE)
A 900 NSEC CORE=001
st 300 NSEC BIPOLAR=002
o SO0 NSEC M0S=003
001560 000000 $MADR1: .WORD  AMADR1 ;:HIGA ADDRESS.BLK#1
oY MEM.LAST ADDR.=3 BYTES,THIS WORD AND LOW OF °‘TYPE'' ABOVE
001562 000 $SMAMS?2: .BYTE  AMAMS?2 ;:HIGH ADDRESS.M.S. BYTE
001563 000 $SMTYP2: .BYTE  AMTYP2 ::MEM.TYPE,BLK#?
001564 000000 $MADR?2: .WORD  AMADRZ ;;MEM.LAST ADDRESS,BLK#2
001566 000 $MAMS3: .BYTE  AMAMS3 . .HIGH ADDRESS,M.S.BYTE
001567 000 $MTYP3: .BYTE AMTYPY ::MEM.TYPE,BLK#3
001570 000000 $MADR3: .WORD  AMADR3 ;;MEM.LAST ADDRESS,BLK#3
001572 000 $MAMSL: BYTE  AMAMSG  ;;HIGH ADDRESS ,M.S.BYTE
001573 000 SMTYPL: .BYTE  AMTYPL :MEM.TYPE,BLK#S
001574 000000 $MADRL: .WORD  AMADRSG  ;:MEM.LAST ADDRESS.BLK#4
001576 000000 $VECT1: .WORD AVECT1 ;:INTERRUPT VECTORAH1,BUS PRIORITY#
001600 000000 $VECT2: .WORD AVECTZ2 ;:INTERRUPT VECTOR#2BUS PRIORITY#?
001602 000000 $BASE: .WORD  ABASE
::BASE ADDRESS OF EQUIPMENT UNDER TEST
001604 000000 $DEVM: .WORD ADEVM J:DEVICE MAP
001606 000000 $CDOW1: .WORD ACDWY1  ;:CONTROLLER DESCRIPTION WORD#1
001610 000000 $CDW2: .WORD ACDW?2 ::CONTROLLER DESCRIPTION WORD#?2
001612 000000 $ODW0: .WORD ADDWO  ;:DEVICE DESCRIPTOR WORD#C
001614 000000 $0DW1: .WORD ADDW1  ;;DEVICE DESCRIPTOR WORD#1
001616 000000 $0DW2: .WORD ADDWZ  ;;DEVICE DESCRIPTOR WORD#?2
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CNOURA.M11 29-0CT7-82 16:31 APT MAILBOX-ETABLE SEQ 0023
(3) 001620 000000 $ODW3: .WORD  ADOW3  ;;DEVICE DESCRIPTOR WORDA3
(3) 001622 000000 $ODW4:  (WORD  ADDW4  ;;DEVICE DESCRIPTOR WORD#4
(3) 001624 000000 $ODWS: .WORD  ADOWS  ;;DEVICE DESCRIPTOR WORD#S
(3) 001626 000000 $ODW6: .WORD  ADDW6  ;:DEVICE DESCRIPTOR WORD#6
(3) 001630 000000 $ODW7: .WORD  ADOW?  ;;DEVICE DESCRIPTOR WORDA?
(3) 001632 000000 $OOW8: .WORD ADOW8  ;;DEVICE DESCRIPTOR WORD#8
(3) 001634 000000 $ODW9: .WORD  ADDW9  ;;DEVICE DESCRIPTOR WORD#9
(3) 001636 000000 $ODW10: .WORD  ADOW10 ;;DEVICE DESCRIPTOR WORD#10
(3) 001640 000000 $ODW11: .WORD  ADDW11 ;;DEVICE DESCRIPTOR WORD#11
(3) 001642 000000 $ODW12: .WORD  ADOW12 ;:DEVICE DESCRIPTOR WORD#12
(3) 001644 000000 $DDW13: .WORD  ADDW13 ;;DEVICE DESCRIPTOR WORD#13
(3) 001646 000000 $DDW14: .WORD  ADDW14 ;;DEVICE DESCRIPTOR WORD#14
2%; 001650 000000 $DDW15: .WORD  ADDW15 ;:DEVICE DESCRIPTOR WORD#15
(3)

(3) 001652 SETEND:
(3)
(4)
(4)
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(4)

(4)

(4)

(4)

(4)

(4) 005746
(4) 005726
(4) 010046
(4) 012600
(4) 024646
(4) 022626
(4)

(4)

(4) 100000
(4) 040000
(4) 020000
(4) 010000
(4) 004000
(4) 002000
(4) 001000
(4) 000400
(4) 000200
(4) 000100
(4) 000040
(4) 000020
(4) 000010
(4) 000004
(4) 000002
(4) 000001
(4)

(4) 100000
(4) 040000
(4) 020000
(4) 010000
(4)

(4) 001000
(4) 000400
(4)

(4) 030000
(4) 020000
(4) 000000
(4) 000000
(4) 002000
(4) 004000
(4) 006000
(4) 000000
(4) 001000
(4) 001400
(4)

(4) 100000
(4) 040000
(4) 020000
(4) 002000
(4) 000400
(4) 000200
(4) 000100

—— ——— —
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16:31 APT MAILBOX~ETABLE

s INSTRUCTION DEFINITIONS

PUSH1SP=5746
POP1SP=5726
PUSHR0=10046 :SAVE RO
POPRO=12600 +RESTORE

¢DECREMENT PROCESSOR STACK 1 WORD =TST =(SP)
¢ INCREMENT PROCESSOR STACK 1 WORD =TST (SP)+

ON STACK =MOV RO,~(SP)
RO FROM STACK =MOV (SP)+,R0

PUSH2SP=24646  ;DECREMENT STACK TWICE =(CMP =(SP),=(SP)

POP2SP=22626
;REGISTER DEF INITIONS

DSC=BIT15
RING=BIT14
CTS=BIT13
CARDET=BIT12
RECACT=BIT11
SRD=BIT10
DSR=BIT9
STPSYN=BIT8
RXDONE=BIT7
RINTEN=BIT6
DSINTE=BITS
SYNSCH=BIT4
STD=BIT3
RTS=BIT2
DTR=BIT1
VOID=BITO

: INCREMENT STACK TWICE =CMP (SP)+,(SP)+

:RXCSR BIT DEFINITIONS
sDATA SET CHANGE
:RING

:CLR TO SEND
;CARRIER DETECT
sREC ACTIVE

+SEC REC DATA
:DATA SET RDY
:STRIP SYNC

:REC DONE

sREC INTR ENABLE
:DSC INTR ENABLE
s SYNC SEARCH
sSEC XMIT DATA
sREQ TO SEND
sDATA TERM RDY

:RXDBUF BIT DEFINITIONS

RXERR=BI ., 15
OVRRUN=BIT14
FRMERR=BIT13
PARER=B]T1?2

sREC ERROR
s OVERRUN

s FRAME ERROR
:PARITY ERROR

:PARCSR BIT DEFINITIONS

PAREN=B]T9
EVPAR=B]T8

sPARITY ENABLE
:EVEN PARITY SENSE

:PARCSR WRD DEF IN]TIONS

SYNINT=30000
SYNEXT=20000
1SYMOD=0
FIVE=0
SIXx=2000
SEVEN=4000
EIGHT=6000
NOPAR=0
ODDPAR=1000
EVEPAR=1400

DNA=BIT15
MTDATA=BIT14
CLK=BIT13
BITW=BIT10
MRESET=8

sSYNC EXTERNAL MODE
:SYNC INTERNAL MODE
s 1S0C MODE

:WORD LENGTH S BITS

UORD LENGTH 6 BITS
WORD LENGTH 7 BITS

UORD LENGTH 8 BITS

:NO PARITY
;00D PARITY

sEVEN PARITY

:TXCSR BIT DEFINITIONS

sDATA NOT AVAILABLE

;MAINT DATA

s (LK

;BIT WINDOW
SMASTER RESET
sXMIT DONE

sXMIT INTR ENABLE

SEQ 0024
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I (4) 000040
(4) 000020
(4) 000010
(4) 000001
(4)
(4) 000000
(&) 004000
(4) 010000
(4) 014000

APT MAILBOX-ETABLE

DNAINTE=BITS
SEND=BI T4
HDOXEN=BIT3
BREAK=BIT0
sTXCSk WRD DEFIN
USER=0

MINT=4000
MEXT=10000
SYSTST=14000

n o2

sDONA INTR ENAB
:SEND

:HDX/FDX

:BREAK

ITIONS

sUSER MODE
sMAINT INT MODE

sMAINT EXT MODE
sSYSTEM TEST MODE

SEQ 0025
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| @) .SBTTL ERROR POINTER TABLE

(2) :*THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.
| (2) t«THE INFORMATION IS OBTAINED BY USING THE INDEX NUMBER FOUND IN

(2) s« OCATION SIEMS. THIS NUMBER INDICATES WHICH ITEM [N THE TABLE IS PERTINENT.

(2) :*NOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).
| gg; :*NOTE2: EACH ITEM IN THE TABLE CONTAINS & POINTERS EXPLAINED AS FOLLOWS:

(2) ;e EM ;:POINTS TO THE ERROR MESSAGE

(2) ;w DH ::POINTS TO THE DATA HEADER
| (2) o DT ::;POINTS TO THE DATA

(g) ow DF ;:POINTS TO THE DATA FORMAT

(2)

(2)

(2) 001652 $ERRTB:

(N ;ERROR TABLE

(1) 001652 001762 EM1 ;ERROR 1 REGISTER ERROR

(1) 001654 002067 DH1

(1) 001656 002116 DT1

(1) 001660 002132 DF 1

(1) 001662 002022 EM2 ;ERROR 2 RECEIVER ERROR

(1) 001664 002067 DH1

(1) 001666 002116 DT1

(1) 001670 002132 DF 1

(1) 001672 002043 EM3 ;ERROR 3 TRANSMITTER ERROR

(1) 001674 002067 DH1

(1) 001676 002116 DT1

(1) 001700 002132 DF 1

(1) 001702 001746 EMa :ERROR 4 BIT ERROR (GENERAL)

(1) 001704 000000 0

(1) 001706 002126 DTS

g}; 001710 002132 DF 1

(1) :DEFAULT DU ADDRESSES

(1) 001712 174300 RXCSR: $74300

(1) 001714 174301 HRXCSR: 174301

(1) 001716 174302 RXDBUF : 174302

(1) 001720 174303 HRXDBUF : 174303

(1) 001722 174302 PARCSR: 174302

(1) 001724 174303 HPARCSR: 174303

(1) 001726 174304 TXCSR: 174304

(1) 001730 174305 HTXCSR: 174305

(1) 001732 174306 TXDBUF: 174306

(1) 001734 174307 HTXDBUF : 174307

(N -DEFAULT DU VECTORS

(1) 001736 000330 DURIV: $30 :REC INTR VECTOR

(1) 001740 000332 DURIS: 332 *REC INTR STATUS

(1) 001742 000334 DUTIV: 334 SXMIT INTR VECTOR

(1) 001744 000336 DUTIS: 336 SXMIT INTR STATUS

N ;ERROR MESSAGES

(1) 001746 020040 051105 047522 EM&4: "ASCIZ / ERROR PC /

(1) 001754 020122 041520 000040

(1) 001762 020040 047503 050115 £EM1: LASCIZ / COMPARISON ERROR ON REGISTERS/

(1) 001770 051101 051511 047117

(1) 001776 042440 051122 051117

(1) 002004 047440 020116 042522
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(1) 002012 044507 052123 051105

(1) 002020 000123

(1) 002022 020040 062522 042503 EM2: .ASCIZ / RECEIVER ERROR/

(1) 002030 053111 051105 042440

(1) 002036 051122 051117 000

(1) 002043 040 052040 040522 EM3: ASCIZ / TRANSMITTER ERROR/

(1) 002050 051516 044515 052124

(1) 002056 051105 0424640 051122

(1) 002066 051117 000

(1) ;DATA HEADERS FOR ERROR MESSAGES

(1) 002067 105 051122 041520 DOH1: LASCIZ /ERRPC WANTED ACTUAL/

(1) 002074 020040 040527 052116

(1) 002102 042105 020040 041501

(1) 002110 052524 046101 000

(1) 002116 .EVEN

(1) ;DATA TABLES FOR ERROR MESSAGES

(1) 002116 001416 001130 001132 OT1: .WORD  SERRPC,HLDO,HLD1,0

5}; 002124 000000

g}; 002126 001416 000000 DT4: .WORD  S$ERRPC,0

(1) 002132 000 000 000 DF1: .8YTe  0,0,0,0

(1) 002135 000

(1) -EVEN

E%; .SBTTL ACT11 HOOKS

(3) INERRRRNR AN AR N RN NN AN AR R REA AN EAN RN RN ENRRS
(2) HOOKS REOUIRED BY ACT

(2) 002136 $SV :SAVE PC

(2) 000046 -46

(2) 000046 012544 $ENDAD :;1)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
(2) 000052 .=52

(2) 000052 000000 WORD 0 +32)SET LOC.52 TO ZERO

(2) 002136 .=$SVP( +s RESTORE PC

:S; .SBTTL APT PARAMETER BLOCK

(3) JNRRARRANRARRN AR AR R E LR AR AR AARANRARR RN RANNNRNRRAN ORI RANRAD
(2) SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT

(3) JNERARAACRARRARARRE LR AR RN VRN NN ERNANANARAEARARORATRERRERAROOORNS
(2) 002136 .$X=.  ;;SAVE CURRENT LOCATION

(2) 000024 =24 ;. SET POWER FAIL TO POINT TO START OF PROGRAM

(2) 000024 000200 200 ..FOR APT START U

(2) 000044 =44 sPOINT TO APT INDIRECT ADDRESS PNTR.

(2) 000044 002136 $APTHDR ;:POINT TO APT HEADER BLOCK

(2) 002136 «=.8X ;. RESET LOCATION COUNTER

(3 JRTRRRRRAR AR RN RN AT AL NN RRARNRAARARRNRORRRRANRCRRAROORERY
(2) SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DJAGNOSTIC
f%; s INTERFACE SPEC.

(2) 002136 SAPTHD:

(2) 002136 000000 $HIBTS: .WORD O :TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
(2) 002140 001526 SMBADR: .WORD  SMAIL ..ADDRESS OF APT MAILBOX (BITS 0-15)

(2) 002142 000010 $TSTM: .WORD 10 ::RUN TIM OF LONGEST TEST

(2) 002144 000010 $PASTM: _WORD 10 ..RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
(2) 002146 000000 SUNITM: .WORD ;ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
(2) 002150 000052 .WORD  SETEND-SMAIL/2 ;;LENGTH MAILBOX~ETABLE(WORDS)
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002152

002152 012706 001400
002156 005026

002160 022706 001440
002164
002166 012706 001100

002172 012737 016170
002200 012737 000300
002206 012737 014060
002214 012737 000300
002222 012737 016524
002230 012737 000300
002236 012737 014662
002244 012737 000300
002252 005067 177234
002256 005067 177232
002262 112767 000001
002270 012767 002270
002276 012767 002276
002304 013746 000004
002310 012737 002344
002316 012767 177570
002324 012767 177570
002332 022777 177777

002340 001012

002342 000403
002344 012716 002352
002350 000002
002352 012767 000176
002360 012767 000174
002366 012637 000004

PR PR Ry R R e Y Y Y W Y Y Y Yo talalele lalalalalale
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(3)

(4) 002372 005067 177136
(4) 002376 132767 000200
(4) 002404 001403

(4) 002406 012767 001550
(4) 002414

(2) 0026414 012706 001100
(2) 002420 106427 000300
(2) 002424 012737 014662

000020
000022
000030
000032

000034

b e e €
WNNNO
NNNO
— b i O
O==O
QO

177060
177054

177143
177024

000024
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APT PARAMETER BLOCK

.START:
LSBTTL
s sCLEAR

sPROGRAM INITIALIZATION

sLOCK OQUT INTERRUPTS

:SET LUP PROCESSOR STACK

;SET UP POWER FAIL VECTOR

sCLEAR PROGRAM CONTROL FLAGS AND COUNTS
sTYPE TITLE MESSAGE

INITIALIZE THE COMMON TAGS
THE COMMON TAGS (SCMTAG) AREA
MOV #S$CMTAG,R6 soFIRST LOCATION TO BE CLEARED
CLR (R6)+ : sCLEAR MEMORY LOCATION
CMP #SWR,R6 ; ;DONE?
;:LOOP BACK IF NO

BNE .=6
MOV~ MASTACK,SP ;sSETUP THE STACK POINTER
#$SCOPE ,@#10TVEC ;10T VECTOR FOR SCOPE ROUTINE

s INITIALIZE A FEW VECTORS
MOV

::B1T02

Mov #PR6 ,A#10TVEC+2 ;;LEVEL 6
MoV #SERROR ,S#EMTVEC ;;EMT VECTOR FOR ERROR ROUTINE
MOV #PRG,S#EMTVEC*2 ;;LEVEL 6

MOV #STRAP,3#TRAPVEC ::TRAP VECTOR FOR TRAP CALLS

MOV #PRG, a#TRAPVEC+2: LEVEL 6

MOV #SPURDN,a#PWRVEC ; ;POWER FAILURE VECTOR

MOV #PR6,B#PURVEC+2 ;:LEVEL 6

CLR STIMES SSINITIALIZE NUMBER OF ITERATIONS

CLR $ESCAPE *3CLEAR THE ESCAPE ON ERROR ADDRESS

MOVE  #1,SERMAX :ALLOW ONE ERROR PER TEST

MOV #..$LPADR sSINITIALIZE THE LOOP ADDRESS FOR SCOPE
#. . SLPERR :SSETUP THE ERROR LOOP ADDRESS

MOV :
:;SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS

s s EQUAL

64%:
65%:
66$:

67%:

TO A ‘*~1°*, SETUP FOR A SOFTWARE SWITCH REGISTER.

MOV a#ERRVEC,~(SP) ;;SAVE ERROR VECTOR

MOV #64S,30ERRVEC  ::SET UP ERROR VECTOR

MOV #OSWR, SWR $3SETUP FOR A HARDWARE SWICH REGISTER
MOV #DDISP,DISPLAY ::AND A HARDWARE DISPLAY REGISTER

CMP #-1,3SWR *STRY TO REFERENCE HARDWARE SWR

BNE 66% ¢ ;BRANCH IF NO TIMEOUT TRAP OCCURRED
:cAND THE HARDWARE SWR IS NOT = -1

BR 658 s ;BRANCH IF NO TIMEOUT

MOV #658, (SP) :sSET UP FOR TRAP RETURN

RTI

MOV #SWREG, SWR

MOV #DISPREG.DISPLAY
MOV (SP)+,a#ERRVEC

CLR $PASS
8IT8 #APTSIZE,SENVM

¢ ;POINT TO SOF TWARE SWR
s sRESTORE ERROR VECTOR

¢ CLEAR PASS COUNT
;s JEST USER SIZE UNDER APT

BEQ 67% ;s YES,USE NON=-APT SWITCH
MOV #$SWREG, SWR :sNO,USE APT SWITCH REGISTER
MOV #STACK,SP sSET STACK

MIPS #300

;LOCK INTERRUPTS
MOV #.PFAIL 3024

:SET UP POWER FAIL VECTOR

SEQ 0028
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CNDURA.M11  29-0CT-82 1 INITIALIZE THE COMMON TAGS SEQ 0029
(2) 002432 105067 176535 CLRB  STFLG :CLEAR START FLAG
(2) 002436 005067 176450 CLR PASCNT *CLEAR PASS COUNT
(2) 002442 105067 176735 CLRB  SERFLG :CLEAR ERROR FLAG
(2) 002446 005067 176740 CLR QERTTL :CLEAR ERROR COUNT
(2) 002452 005067 176740 CLR $ZRRP( :CLEAR LAST ERROR POINTER
(2) 002456 012767 000001 176716 MOV #1,8TSTNN SSET UP FOR TEST 1
(2) 002464 012767 002152 176412 MOV #.START,RETURN *SET UP FOR POWER FAIL BEFORE
(2) sTESTING STARTS
(2) 002472 013746 000006 MOV ané,=-(SP)
(2) 002476 013746 000006 MOV . -(SP)
(2) 002502 012737 002516 000004 MOV s, ant
(2) 002510 005777 176724 ST asSwR
(2) 002514 000407 BR 28
(2) 002516 012767 000176 176714 1%: MOV #SWREG, SWR
(2) 002524 012767 000174 176710 MOV #DISPREG,DISPLAY
(2) 002532 022626 CMP (SP)+, (SP)+
(2) 002534 012637 000004 28: MOV (SP)+ . a4
(2) 002540 012637 000006 MOV (SP)+., 346
(2) 002544 022767 000176 176666 CMP #SWREG, SWR
(2) 002552 001007 BNE 38
(2) 002554 005737 000042 ST N2 ;CHECK FOR CHAIN
(2) 002560 001402 BEQ 338
(2) 002562 000167 000522 JMP .BEGIN
(2) 002566 004767 010054 33¢:  JSR PC,CNTLU
(2) 002572 105767 176374 38: IS8 INIFLG :HAS INITIALIZATION BEEN PERFORMED
(2) 002576 001004 BNE ONCE
(2) 002600 104401 015022 TYPE MTITLE :TYPE TITLE MESSAGE
(2) 002604 105167 176362 COMB  INIFLG IF NOT SET FLAG AND DO
(2) 002610 105767 176732 ONCE: TSTB  SENV :APT CONFROL?
(2) 002614 001410 BEQ 118 :BR IF NO
(2) 002616 032767 000001 176726 BIT #1,SUSWR *EXTENAL JUMPER ON?
(2) 002626 001002 BNE 12¢ *NO
(2) 002626 105067 176321 CLRB  JMRBY ‘CLEAR FLAG
(2) 002632 000167 000452 128:  JMP .BEGIN 260 DO IT
(2) 002636 032777 000001 176574 11s:  BIT #SW00,aSWR *RESELECT VECTOR & CONTROL REG?
(2) 002644 001002 BNE 1%
(2) 902646 000167 000436 JMP .BEGIN
(2) 002652 012700 000300 18: MOV #300,R0 ;RESTORE VECTOR AREA TO TRAPCATCHER
(2) 002656 012701 000302 MOV #302°R1 :START AT LOCATION 300
(2) 002662 012702 000004 MOV ¥4 R2
(2) 002666 010110 28: MOV R1. (RO)
(2) 002670 005011 CLR (r1)
(2) 002672 060200 ADD R2,R0
(2) 002674 060201 ADD R2,R1
(2) 002676 022701 001000 CMP #1000, R1 :END AT LOCATION 776
(2) 002702 002771 BLT 2
(2) 002704 104406 INSTR  ;OUTPUT MESSAGE & GET INPUT STRING
(2) 002706 015070 MREGAD :MESSAGE
(2) 002710 104410 PARAM  :CONVERT STRING
(2) 002712 174000 174000 :LOW LIMIT
(2) 002714 177776 177776 :HIGH LIMIT
(2) 002716 017020 OUBASE :STORE AT THIS LOCATION
(2) 002720 001 BYTE 1 SMASK
(2) 002721 001 BYTE 1 *HOW MANY TIMES ¢ 2
(1) 002722 016767 014072 176226 MOV DUBASE ,KEEPADD  ; SAVE
(1) 002730 004767 013732 JSR PC,DUADDR

e —— —— ———— -— -— - —




4

r

CNDUR=-A MACY11 30(1046)
CNDURA .M11

002734 016767
002742 104406
002744 015055
002746 104410
002750 000300
002752 000776
002754 001736
002756 001
002757 004
002760 016767
002766 016767
002774 104406
002776 015120
003000 104414
003002 001152
003004 105767

003010 100406
003012 005067
003016 005067
003022 000167
003026

003026 104406
003030 015147
003032 104410
003034 174000
003036 177776
003040 001160
003042 001
003043 001

003044 012767
003052 005067
003056 056767
003064 000241
003066 006167
003072 103421
003074 062767
003102 026767
003110 101362
003112 056767

~~
b
A

003120 012767
003126 016767
003134 000414
003136 016767
003144 104406
003146 015243
003150 104410
003152 174000
003154 177776
003156 001160
003160 001
0(3161 001
003162 000167
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176216

176142

176150
176146
000140

000001
176110
176106
176076

000010
176052

176052
000001
176024
176014

177656

176212

176176
176166

176116
176102

176052
176044

176046
176042
176020
176010
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INITIALIZE THE COMMON TAGS

.BYTE
.BYTE

BB8:

:THE FOL
1%:

bs ¥

48:

3$:

.BYTE

MOV
INSTR
MVECTO

1

KEEPADD,BASEADD :RESTORE FOR ROTATION

;OUTPUT MESSAGE & GET INPUT STRING

*MESSAGE

*CONVERT STRING

sLOw LIMIT

SHIGH LIMIT

‘STORE AT THIS LOCATION

TMASK

‘HOW MANY TIMES + 2

DURIV,KEEPIV  :SAVE

DURIV.BASEIV  :SET UP FOR ROTATION

sOUTPUT MESSAGE & GET INPUT STRING

*MESSAGE

sSET FLAG BASED UPON INPUT STRING

:THIS FLAG

MULTD  :ARE THERE MULTIPLE DEVICES
SON THE SYSTEM ?

888 *YES,ASK NEXT QUESTION

ACTREG

ROTADD

OUTMUL ;JUMP AROUND NEXT QUESTION

sOUTPUT MESSAGE & GET INPUT STRING
sMESSAGE

sCONVERT STRING

sLOW LIMIT

sHIGH LINIY

sSTORE AT THIS LOCATION

s MASK

cHOW MANY TIMES + 2

LOWING ROUTINE SETS UP ACTREG FOR THE FIRST TIME

MOV
CLR
8IS
CLC
ROL
BCS
ADD
CMP
BHI
8IS

MOV
MOV

BR

MoV
INSTR
MRANGE
PARAM
174000
177776
%ASTADD
1

JMP

#1,ROTADD sSET UP POINTER
ACTREG .CLR ACTIVE REGISTER
ROTADD,ACTREG  .MAKE TH!S DEVICE ACTIVE

ROTADD ;SET UP POINTER

3s SARE YOU OUT OF RANGE ?
#10,BASEADD ;SET UP BASE ADDRESS
LASTADD,BASEADD :1S THIS THE LAST DEVICE ?
2 :NO 00 IT AGAIN

ROTADD,ACTREG
SLEAST TWO DEVICES WHEN YOU ANSWER YES TO
SMULTIPLE DEVICE QUESTION

#1,ROTADD
KEEPADD,BASEADD :DITTO

OUTMUL ;CONTINUE QUESTIONS
KEEPADD,BASEADD ;RESTORE

;OUTPUT ‘MESSAGE & GET INPULT STRING
JMESSAGE

*CONVERT STRING

SLOW LIMIT

THIGH LIMIT

*STORE AT THIS LOCATION

JMASK

*HOW MANY TIMES + 2

is :00 IT AGAIN

sTHIS ASSUMES THAT THERE ARE AT

sSET UP FOR LATER USE IN END OF PASS ROUTINE

SEQ 0030
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003166 012767
003174 004767

~
=)
-

0032G0

003200 104406
003202 015461
003204 122767
003212 001003
003214 105067
003220 000412
003222 122767
003230 001004
003232 112767
003240 000402
003242 104407
003244 000757
003246 000240
003250 104406
003252 015527
003254 104414
003256 001147
003260 104406
003262 015600
003264 104414
003266 001150
003270 104406
003272 015650
003274 104414
003276 001151
003300 104406
003302 015727
003304 104414
003306 001153

003310 012706
003316 106427
003320 032777
003326 001613
003330 104406
003332 015613
003334 104410
003336 003374
003340 017500
003342 001402
003344 001
003345 001
003346 016767
003354 000403
003356 012767
003364 104401
003370 000177
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000300 013466 OUuTMUL: MOV
013412 JSR

; COMPARE THE FIRST CHARACTER IN THEzTELETVPE INPUT

BUFFER
:IF ThE
:IF THE

INSTR
MSYNC
000061 012610 3$: g:gs
175726 CLRB
000062 012572 1%: CMPB
1777?27 175706 MOvB
2s: INSTER

4(8: NOP

AAA:

INITIALIZE THE COMMON TAGS

#300,DUPRT
PC.DULEV

TO THE CHARACTERS ‘'1°' AND
CHARACTER IS °'1'* CLEAR THE FLAG
CHARACTER IS *'2'* SET THE FLAG

;OUTPUT MESSAGE & GET INPUT STRING

s MESSAGE
#°'1, INBUF
13

SVNCNO :000

5;2 . INBUF JIS IT 't 7
#-1,SYNCNO :377

(3 3

<RETRY

is

:IS IT ll1.l ?

;OUTPUT MESSAGE & GET INPUT STRING

sMESSAGE
:SET FLAG BASED UPON INPUT STRING
s THIS FLAG

sOUTPUT MESSAGE & GET INPUT STRING

sMESSAGE
JSET FLAG BASED UPON INPUT STRING
sTHIS FLAG

;OUTPUT MESSAGE & GET INPUT STRING

MESSAGE
sSET FLAG BASED UPON INPUT STRING
:THIS FLAG

sOUTPUT MESSAGE & GET INPUT STRING

sMESSAGE
:SET FLAG BASED UPON INPUT STRING
:THIS FLAG

sTEST START AND RESTART

001100 .BEGIN: MOV
000300 MTPS
000002 176112 BIT
BEQ
INSTR
MTSTPC
PARAM
TST1
17500
STSTNM
.BYTE 1
.BYTE 1
176030 175730 ggv
003374 175520 3§: MoV
015407 4$: TYPE
175510 JMP

#STACK,SP
#300

#SW01,aSWR
3s

*MESSAGE

*CONVERT STRING

SLOwW LIMIT

THIGH LIMIT

SSTORE AT THIS LOCATION
TMASK

<HOW MANY TIMES + 2
i;srnn RETURN

#TST1,RETURN
MR TYPE R

RE TURN START TESTING

sSET UP STACK
sLOCK QUT INTERRUPTS
sIF SW01=1,

sOUTPUT MESSAGE & GET INPUT STRING

GET STARTING PC

START AT TEST 1

SEQ 0031
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|CNDURA.H11 29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0032
8151
8152 sTHIS TEST VERIFYS WORD LENGTH SELECT OF THE

..RECEIVER SECTION,IT USES THE ERROR FLAGS
;70 DETERMINE THAT IT WAS SELECTED CORRECTLY
¢ s (OVRRUN ,RXERR)

: $MODE : 1SYMOD

: s LENGTH:FIVE

..CHAR 37

ttittttttﬁtlit.".Q"it't.tt't'li.tt'ttl‘tiﬁt'i'.t!it'Qt'itttt'

003374 000004 $871:  SCOPE

003376 052777 000400 176322 BIS MMRESET,aTXCSR :MASTER RESET
003404 012777 000000 176310 MOV #1SYMOD,aPARCSR :SET THE MODE
003412 052777 000400 176306 BIS #MRESET.RTXCSR :MASTER RESET

;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE

(1)

)

(1)

(1)

(1)

(N

(N

(S)

4)

(L)

(3)

(2)

(3)

&

gg; 003420 012777 064001 176300 MOV #MTOATA! CLK'MINT !BREAK,3TXCSR

(2) :SET MODE .# OF BITS,PARITY SENSE,ELOAD SYNC REG

(2) 003426 012777 000000 176266 MOV #ISYMOD ' F EVE 'NOPAR !0, aPARCSR

(2) 003434 052777 000020 176250 BIS #SYNSCH,@RXCSR :SET SYNC SEARCH

(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 0034642 042777 020000 176256 BIC #CLK,.STXCSR :POKE CLK DOWN

(2) 003450 052777 020000 176250 BIS #CLK,@TXCSR :POKE CLK UP

(2) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION

(2) 003456 042777 020000 176242 BIC #CLK,ATXCSR :POKE CLK DOWN

(2) 003466 052777 020000 176234 BIS #CLK.ATXCSR SPOKE CLK UP

(1) 003472 016703 176220 MOV RXDBUF ,R3 *SET UP FOR ERROR MESSAGE
(1) 003476 012700 000037 MOV #37.R0  EXPECTED

(1) 003502 012767 020007 175412 MOV #7 SHIFT ;4 OF SHIFTS

(1) 003510 012767 000176 175762 MOV #176,$THP1 *DATA CHAR

(1) 003516 004767 013300 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 003522 105777 176164 TSTB  @RXCSR :RXDONE ?

(1) 003526 100401 BM] . +4

(1) 003530 104004 ERROR & :RXDONE SHOULD BE SET

(1) 003532 017701 176160 MOV SRXDBUF . R1 < ACTUAL

(1) 003536 020001 CMP RO,R1  ;COMPARE EXPECTED VS. ACTUAL
(1) 003540 001401 BEQ L+

(1) 003542 104002 ERROR 2 ;RECEIVED DATA DID NOT MAT(CH
(1) SEXPECTED DATA ~ CHECK MAINT DATA
(1) SOR RECEIVER LOGIC

(1) 003544 012767 000007 175350 MOV 27, SHIFT’ -4 OF SHIFTS

(1) 003552 012767 000176 175720 MOV #176,8TAP1 SDATA CHAR

(1) 003560 004767 013236 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) ;NOW SHIFT IN A secono CHARACTER WITHOUT READING RXDBUF
(1) 003564 012767 000007 175330 MOV SHIFT :# OF SHIFTS

(1) 003572 012767 000176 175700 MOV 0176 STHPY SDATA CHAR

(1) 003600 004767 013216 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 003604 012700 140037 MOV #140000'37,R0  :EXPECTED DATA PLUS
(1) ;RXERR & OVRRUN

(1) 003610 017701 176102 MOV aRXDBUF ,R1 ACTUAL

(1) 003614 020001 CMP RO,RT ;COMPARE" ExP vS. ACT

(1) 003616 001401 BEQ ¢4

g}; 003620 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &

sOVRRUN BITS...THEY B0TH SHOULD BE SET
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CNDURA.M11  29-0(T-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0033

(1

8153 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
€} SSRECEIVER SECTION,IT USES THE ERROR FLAGS
N $3TO DETERMINE THAT IT WAS SELECTED CORRECTLY
N + 3 (OVRRUN, RXERR)
(M + sMODE : 1SYMOD
(1) ¢ LENGTH:FIVE
g}; ::CHAR:0
(S) ::Qﬁtttt;;tt..tttt'ttt""t.tt'ttﬁﬁttttﬁtﬁttttttt'ttttﬁtttt'ttttt
:z; 003622 000004 TS12:  SCOPE
(3) 003624 052777 000400 176074 BIS #MRESET,TXCSR :MASTER RESET
(2) 003632 012777 000000 176062 MOV X1SYMOD,3PARCSR >SET THE MODE
53; 003640 052777 000400 176060 BIS NMRESET.@TXCSR :MASTER RESET
(2) ;SET MAINT DATA,CLK,BREAK,CMAINTENANCE MODE
gg; 003646 012777 066001 176052 MOV #MTDATA!CLK'MINT 'BREAK,3TXCSR
(2) :SET MODE ,# OF BITS,PARITY SENSE,LLOAD SYNC REG
(2) 003656 012777 000000 176040 MOV #1SYMOD ' F IVE 'NOPAR ' 0, aPARCSR
(2) 003662 052777 000020 176022 BiS #SYNSCH.ARXCSR :SET SYNC SEARCH
(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 003670 042777 020000 176030 BIC #CLK,TXCSR ;POKE CLK DOWN
(2) 003676 052777 020000 176022 BIS #CLK.STXCSR +POKE (LK UP
(2) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 003704 042777 020000 176014 BIC #CLK,3TXCSR :POKE ch oouu
(2) 003712 052777 020000 176006 BIS #CLK.TXCSR POKE CLK
(1) 003720 016703 175772 MOV RXDBUF ,R3 SET UP ron snaon ME SSAGE
(1) 003724 012700 000000 MOV co ao expscreo
(1) 003730 012767 000007 175164 MOV RIFT :# OF SHIFTS
(1) 003736 012767 000100 175534 MOV c160 srnp1 ‘DATA CHAR
(1) 003744 004767 013052 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 003750 105777 175736 TSTB  @RXCSR :RXDONE ?
(1) 003754 100401 BM] . +h
(1) 003756 104004 ERROR 4 :RXDONE SHOULD BE SET
(1) 003760 017701 175732 MOV aRXDBUF ,R1 - ACTUAL
(1) 003764 020001 CMP RO,R1  :COMPARE EXPECTED VS. ACTUAL
(1) 003766 001401 8EQ .+
(1) 003770 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) SEXPECTED DATA = CHECK MAINT DATA
(1 :OR RECEIVER LOGIC
(1) 003772 012767 000007 175122 MOV N7, SHIFT’ :# OF SHIFTS
(1) 004000 012767 000100 175472 MOV #100,$TMP1 ‘DATA CHAR
(1) 004006 004767 013010 JSR PC,RPOKE SSHIFT IN THIS CHAR
(N :NOW SHIFT IN A secouo CHARACTER WITHOUT READING RXDBUF
(1) 004012 012767 000007 175102 MOV SHIFT :# OF SHIFTS
(1) 004020 012767 000100 175452 MOV 0160 $TMP1 “DATA CHAR
(1) 004026 0047267 012770 JSR PC.RPOKE SSHIFT IN THIS CHAR
(1) 004032 012700 140000 MOV #140000'0,R0  :EXPECTED DATA PLUS
(1N :RXERR & OVRRUN
(1) 004036 017701 175654 MOV aRXDBUF ,R1 *ACTUAL
(1) 004042 020001 CMP no R1 ;COMPARE EXP VS. ACT
(1) 004044 001401 BEQ RYA
(1) 004046 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR &
%)) SOVRRUN BITS...THEY BOTH SHOULD BE SET
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004050

004052
004060
004066

004074

004102
004110

004116
004124

004132
004140
004146
004152
004156
004164
004172
004176
004202
004204
004206
004212
004214
004216

004220
004226
004234

004240
004246
004254
004260

004264
004270
004272
004274

29-0CT-82

000004

052777
012777
052777

012777

012777
052777

042777
052777

042777
052777
016703
012700
012767
012767
004767
105777
100401
104004
017701
020001
001401
104002

012767
012767
004767

012767
012767
004767
012700

017701
020001
001401
104002
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16:31

000400
000000
000400

064001
002000

000020

020000
020000

020000

000010
000252
012562

000010
000252
012542
140025

175426

174674
175244

176654
1752264

INITIALIZE THE COMMON TAGS

,.THIS TEST VERIFYS WORD LENGTH SELECT OF THE
sRECEIVER SECTION,IT USES THE ERROR FLAGS
::T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
: ; (OVRRUN ,RXERR)

; :MODE : 1SYMOD
s sLENGTH:SIX

::CHAR'ZS
e 'tt.Qtt'."'.i""'i"""'t"."".Q.Q..QQ.Q.QQ.Q'Q"Q' (2 X2 R 22|
TIST3: SCOPE

8IS #MRESET,@TXCSR ;MASTER RESET
MOV #1SYMOD ,8PARCSR ;SET THE MODE
8IS #MRESET,TXCSR  MASTER RESET

:SET MAINT DATA,CLK,BREAK,LMAINTENANCE MODE

MOV #MTDATA!CLK !MINT!BREAK,QTXCSR

;SET MODE ,# OF BITS,PARLTY SENSE,LLOAD SYNC REG
MOV #1SYROD'SIX!NOPAR!Q,aPARCSR
BIS #SYNSCH,@RXCSR :SET SYNC SEARCH
:POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
BIC #CLK,3TXCSR sPOKE CLK DOWN
BIS #CLK,@TXCSR : POKE CLK UP

;POKE CL;IEO GET LOGIC INTO SYNCRONIZATION

#CLK,ATXCSR ;POKE CLK DOWN
BIS #CLK.ATXCSR :POKE CLK UP
MOV RXDBUF ,R3 $SET UP FOR ERROR MESSAGE
MOV #25,R0° :EXPECTED
MOV #8. SHIFT :# OF SHIFTS
MOV #2525, $THPY :DATA CHAR
JSR PC,RPOKE SSHIFT IN THIS CHAR
1s18 aazcsa ;RXDONE ?
 J

8M] .

ERROR & s RXDONE SHOULD BE SET

MOV SRXDBUF, R1 sACTUA

g?g R0‘R1 COHPARE EXPECTED vS. ACTUAL
RS

ERROR 2 sRECEIVED DATA DiD NOT MATCH

sEXPECTED DATA = CHECK MAINT DATA
;OR RECEIVER LOGIC

MOV #8. SHIFT :# OF SHIFTS

MOV #252.$TMP1 ‘DATA CHAR

JSR PC ,RPOKE SSHIFT IN THIS CHAR
:NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF

MOV #8. SHIFT :# OF SHIFTS

MOV #252,8TMP1 :DATA CHAR

JSR PC ,RPOKE :SHIFT IN THIS CHAR
MOV #140000'25,R0  :EXPECTED DATA PLUS
sRXERR & OVRRUN

MOV SRXDBUF ,R1 sACTUAL
g?: ROZR1 :COMPARE EXP VS. A(T
ERROR 2 sSPECIFICALLY LOOK AT RXERR &

;OVRRUN BITS...THEY BOTH SHOULD BE SET

SEQ 0034
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004276

004300
004306
004314

004322

004330
004336

004344
004352

004360
004366
004374
004400
004404
004412
004420
004424
004430
004432
004434
004440
004442
004444

004446
004454
004462

004466
004474
004502
004506

004512
004516
004520
004522

29-0(T-82

000004

052777
012777
052777

012777

012777
052777

042777
052777

042777
052777
016703
012700
012767
012767
004767
105777
100401
104004
017701
020001
001401
104002

012767
012767
004767

012767
012767
004767
012700

017701
020001
001401
104002
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INITIALIZE THE COMMON TAGS

16:31

000400
000000
000400

064001

002000
000020

020009
020C0¢

020000
020000
175316
000052
000010
000324
012376
175262

175256

000010
000324
012334

000010
000324
012314
140052

175200

175420
175406
175404

175376

174446
175016

1744626
174776

..HODE 1SYMOD
..LENGTH SIX
AR:52

tttttit'iti.i'.'."".i'..t.i'.'..t'i'lttli"ttttttttitttt't'tt

18T4:  SCOPE

BIS
MOV
8IS

:SET MAINT DATA
MOV

;SET MODE .# OF
MOV
BIS

ORD LENGTH SELECT OF THE
USES THE ERROR FLAGS
T WAS SELECTED CORRECTLY

O™
>»E <
-4v
-
g C

#MRESET,@TXCSR ;MASTER RESET
#1SYMOD ,@PARCSR ;SET THE MODE
#MRESET,@TXCSR ;MASTER RESET

.CLK,BREAK ,EMAINTENANCE MODE

#MTDATA!CLK!MINT!BREAK,STXCSR

BITS,PARITY SENSE,LLOAD SYNC REG
#1SYAOD'SIX!NOPAR!D,aPARCSR
#SYNSCH.ARXCSR ;SET SYNC SEARCH

:POKE CLK TO GET RECEIVER INTO SYNCROIZATION....

BIC #CLK,3TXCSR ;POKE CLK DOWN
BIS #CLK ,aTXCSR *POKE CLK UP
;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
BIC #CLK,@TXCSR : POKE CLK ooun
BIS #CLK.QTXCSR :POKE CLK
MOV RXDBUF ,R3 *SET UP ron ERROR ME SSAGE
MOV #52.R0° EXPECTED
MOV #8. SHIF ;4 OF SHIFTS
MOV #32% STHP1 ‘DATA CHAR
JSR PC,RPOKE SSHIFT IN THIS CHAR
TSTB  @RXCSR ;RXDONE ?
BM! Y
ERROR & :RXDONE SHOULD BE SET
MOV aRXDBUF , R1 ACTUAL
ggg no4a1 : COMPARE ' EXPECTED VS. ACTUAL
.t
ERROR 2 ;RECEIVED DATA DID NOT MATCH
SEXPECTED DATA = CHECK MAINT DATA
:OR RECEIVER LOGIC
MOV #8. SHIFT :# OF SHIFTS
MOV #324,8TMP1 :DATA CHAR
JSR PC,RPOKE SSHIFT IN THIS CHAR
:NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF
MOV #8. SHIFTY :# OF SHIFTS
MOV #324.8TMP1 :DATA CHAR
JSR PC,RPOKE :SHIFT IN THIS CHAR
MOV #140000'52,R0  :EXPECTED DATA PLUS
*RXERR € OVRRUN
MOV aRXDBUF ,R1 *ACTUAL
ggg nozn1 : COMPARE EXP VS. ACT
[
ERROR 2 :SPECIFICALLY LOOK AT RXERR &

:OVRRUN BITS...THEY BOTH SHOULD BE SET

SEQ 0035
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CNDURA.M11 29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0036

”~~
-
-

8 ssTHIS TEST VERIFYS WORD LENGTH SELECT OF THE
ssRECEIVER SECTION,IT USES THE ERROR FLAGS
s:TO DETERMINE THAT IT WAS SELECTED CORRECTLY
s s (OVRRUN ,RXERR)

; $MODE : [ SYMOD

s s LENGTH:SIX

..CHAR 77

tttttﬁttitttit'ttiiii"i'tifiitttil‘.Qttttttttttitttittttttttttt

004524 000004 815:  SCOPE

004526 052777 000400 175172 8IS #MRESET,@TXCSR ;MASTER RESET
004534 012777 000000 175160 MOV #1SYMOD,@PARCSR ;SET THE MODE
004542 052777 000400 175156 8l1s #MRESET ,@TXCSR ;MASTER RESET

sSET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
004550 012777 064001 175150 MOV #MTOATA!CLK!MINT !BREAK ,@TXCSR

;SET MODE .# OF BITS,_PARITY SENSE.LLOAD SYNC REG

156

(1)

(1)

(1)

(1)

(1

(1)

(1)

(5)

(4)

(4)

(3)

(2)

(3)

(2)

(2)

(2)

&

(2) 004556 012777 002000 175136 MOV #1SYMOD ! SIX'NOPAR!O, aPARCSR

(2) 004564 052777 000020 175120 BIS #SYNSCH,@RXCSR :SET SYNC SEARCH

(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 004572 062777 020000 175126 BIC #CLK,ATXCSR :POKE CLK DOWN

(2) 004600 052777 020000 175120 BIS #CLK.QTXCSR :POKE CLK UP

(2) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION

(2) 004606 042777 020000 175112 BIC #CLK,ITXCSR ;POKE CLK DOWN

(2) 004614 052777 020000 175104 BIS #CLK.ATXCSR :POKE CLK UP

(1) 004622 016703 175070 MOV RXDBUF ,R3 *SET UP FOR ERROR MESSAGE
(1) 004626 012700 000077 MOV ,77 RO’ ;EXPECTED

(1) 004632 012767 000010 174262 MOV . SHIFY :# OF SHIFTS

(1) 004640 012767 000376 174632 MOV csré,srnp1 :DATA CHAR

(1) 004646 004767 012150 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 004652 105777 175034 TSTB  @RXCSR  ;RXDONE ?

(1) 004656 100401 BMI L +4

(1) 004660 104004 ERROR & :RXDONE SHOULD BE SET

(1) 004662 017701 175030 MOV SRXDBUF ,R1 “ACTUAL

(1) 004666 020001 CMP RO,RT ;COMPARE EXPECTED VS. ACTUAL
(1) 004670 001401 BEQ .+

(1) 004672 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
(1) SEXPECTED DATA = CHECK MAINT DATA
(1) :0R RECEIVER LOGIC

(1) 004674 012767 000010 174220 MOV #8..SHIFT :# OF SHIFTS

(1) 004702 012767 000376 174570 MOV #376,$THP1 ‘DATA CHAR

(1) 004710 004767 012106 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) :NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF
(1) 004714 012767 000010 174200 MOV #8. SHIFT :# OF SHIFTS

(1) 004722 012767 000376 174550 MOV 3376 STMPI ‘DATA CHAR

(1) 004730 004767 012066 JSR C . RPOKE SSHIFT IN THIS CHAR
(1) 004734 012700 140077 MOV oiloooo'77 RO :EXPECTED DATA PLUS
(1) :RXERR & OVRRUN

(1) 004740 017701 174752 MOV aRXDBUF ,R1 * ACTUAL

(1) 004744 020001 CMP RO,R1  :COMPARE EXP VS. ACT

(1) 004746 001401 8EQ L+,

5}; 004750 104002 ERROR 2 sSPECIFICALLY LOOK AT RXERR &

:OVRRUN BITS...THEY BOTH SHOULD BE SET
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004752

004754
004762
004770

004776

005004
005012

005020
005026

005034
005042
005050
005054

005122
005130

000004

052777
012777
052777

012777

012777
052777

042777
052777

042777
052777
016703
012700
012767
012767
004767
105777
100401
104004
017701
020001
001401
104002

012767
012767
004767

012767
012767
004767
012700

017701
020001
001401
104002
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29-0CT-82 16:31

000400
000000
000400

064001

002000
000020

020000
020000

020000
020000
174642
000000
000010
000200
011722
174606

174602

000010
000200
011660

000010
000200
011640
140000

174524

174744
174732
174730

174722
174710

174672

174700
174672

174664
174656

1764034
174404

173772
174342

173752
176322

INITIALIZE THE COMMON TAGS

::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
:sRECEIVER SECTION,IT USES THE ERROR FLAGS
;270 DETERMINE THAT IT WAS SELECTED CORRECTLY
..(OVHRUN RXERR)

s :MODE: ISVHOD

JoLENGTH:SIX

::CHAR'O

't*tﬁittttﬁt't'tit""ti"ii"ii.iﬁlQi'ii!!i'.titﬁttt'ittitt't.

t476:  SCOPE

BIS #MRESET,@TXCSR ;MASTER RESET
MOV #1SYMOD,@PARCSR ;SET THE MODE
BIS #MRESET,@TXCSR ;MASTER RESET

sSET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE

MoV #MTDATA!CLK!MINT !BREAK ,@TXCSR

;SET MODE ,# OF BITS,PARITY SENSE,.LLOAD SYNC REG

MOV #1SYMOD!SIX!NOPAR!Q,3PARCSR

BIS #SYNSCH,8RXCSR ;SET SYNC SEARCH

sPOKE CLK TO GET RECEIVER INTO SYNCROIZATION....

BIC #CLK,8TXCSR sPOKE CLK DOWN
#CLK,@TXCSR sPOKE CLK UP

BIS
+ POKE CLEIZO GET LOGIC INTO SYNCRONIZATION

#CLK,3TXCSR :POKE CLK DOWN

BIS #CLK.@TXCSR ‘POKE CLK UP

MOV RXDBUF ,R3 *SET UP FOR ERROR MESSAGE
MOV #o RO EXPECTED

MOV SHIFT :# OF SHIFTS

MOV #206 STMP1 ‘DATA CHAR

JSR PC,RPOKE PSHIFT IN THIS CHAR

TSTB  @RXCSR :;RXDONE 2

BMI . +4

ERROR & ;RXDONE SHOULD BE SET

MOV JRXDBUF ,R1 ACTUAL

ggg R04R1 : COMPARE "EXPECTED VS. ACTUAL

.

ERROR 2 ;RECEIVED DATA DID NOT MATCH
SEXPECTED DATA = CHECK MAINT DATA
;OR RECEIVER LOGIC

MOV #8. SHIFT 4 OF SHIFTS

MOV #200,$TMP1 *DATA CHAR

JSR PC,RPOKE SSHIFT IN THIS CHAR

;NOW SHIFT IN A SECOND CHARACTER WITHSUT READING RXDBUF

MOV #8. SHIFT ;# UF SHIFTS

MOV wzob srnp1 “0ATA CHAR

JSR SSHIFT IN THIS CHAR

MoV 0140000'0.90 SEXPECTED DATA PLUS
;RXERR & OVRRUN

MOV aRX. 3UF ,R1 :ACTUAL
ggg R0£R1 ; COMPARE EXP VS. ACT
ERROR 2 sSPECIFICALLY LOOK AT RXERR &

;OVRRUN BITS...THEY BOTH SHOULD BE SET

SEQ 0037
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CNDUR=A MACY11_30(1046)
CNDURA .M

”~~
=~ )
-

005200 000004

005202 052777
005210 012777
005216 052777

005224 012777

005232 012777
005240 052777

005246 042777
005254 052777

005262 042777
005270 052777
005276 016703
005302 012700
005306 012767
005314 012767
005322 004767
005326 105777
005332 100401
005334 104004
005336 017701
005342 020001
005344 001401
005346 104002

005350 012767
005356 012767
005364 004767

005370 012767
005376 012767
005404 004767
005410 012700

005414 017701
005420 020001
005422 001401
005424 104002
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INITIALIZE THE COMMON TAGS

29-0CT-82 16:31

000400
000000
000400

064001
004000

000020

020000
020000

020000

011474
174360

174354

000011
000652
011432

000011
000652
011412
140125

174276

d b cmd
NN
S
v
OO —
RSO

174474
174462
174444

174452
174444

174436
174430

173606
174156

173524
174074

;s THIS TEST VERIFYS WORD LENGTH SELECT OF THE

..RECEIVER SECTION

IT USES THE ERROR FLAGS

O DETERMINE THAT IT WAS SELECTED CORRECTLY
,.(OVRRUN RXERR)
2 sMODE : ISYHOD
:;LENGTH:SEVEN
':CHAR-125

QttitQttttﬁtQﬁtt'iiiit.'ti"*iﬁtttﬁt't*tﬁﬁtlttttittitttit.tittt

$4717:  SCOPE

BIS
MOV
BIS

:SET MAINT DATA,

Mov

:SET MODE ,# OF
MOV
8lS

BIC

#MRESET ,@TXCSR ;MASTER RESET
#1SYMOD ,@PARCSR ;SET THE MODE
#MRESET ,@TXCSR ;MASTER RESET

CLK,BREAK,EMAINTENANCE MODE
#MTDATA!CLK!MINT!BREAK,@TXCSR

BITS,PARITY SENSE,LLOAD SYNC REG
#1SYMOD ' SEVEN!NOPAR!0,aPARCSR
#SYNSCH,ARXCSR :SET SYNC SEARCH

;POKE CLK TO GET RECEIVER INTO SYNCROIZATION....

#CLK,8TXCSR
#CLK,@TXCSR

sPOKE CLK DOWN
:POKE CLK UP

BIS
< POKE CLEIEO GET LOGIC INTO SYNCRONIZATION

BIS
MOV
MOV
MOV
MoV
JSR
TST8
BMI
ERROR
MOV
CMP
BEQ
ERROR

Mov
MOV

JSR
sNOW SHIFT IN A

MOV

MOV

JSR

MOV

MOV
CMP
BEQ
ERROR

#CLK,aTXCSR +POKE CLK DOWN

#CLK, atxcsa *POKE CLK UP
RXDBU ‘SET UP ron ERROR MESSAGE
0125 n6 EXPECTED

HIFT ;4 OF SHIFTS
nesé.srnp1 :DATA CHAR
PC,RPOKE SSHIFT IN THIS CHAR
aRXCSR  :RXDONE ?
A :RXDONE SHOULD BE SET
aRXDBUF , R1 ACTU

AL
R04R1 COHPARE EXPECTED VS. ACTUAL
S
2 sRECEIVED DATA DID NOT MATCH
cEXPECTED DATA - CHECK MAINT DATA
OR RECEIVER LOGIC

#9. SHIFT :# OF SHIFTS
#652,$THP1 :DATA CHAR
PC ,RPOKE SSHIFT IN THIS CHAR
SECOND CHARACTER WITHOUT READING RXDBUF
#9. SHIF :# OF SHIFTS
xssé srnpl :DATA CHAR
SSHIFT IN THIS CHAR
o1£oooo'125 RO :EXPECTED DATA PLUS
*RXERR € OVRRUN
aRXDBUF , R1 *ACTUAL
RO.R1  :COMPARE EXP VS. ACT
2 :SPECIFICALLY LOOK AT RXERR &

;OVRRUN BITS...THEY BOTH SHOULD BE SET

SEQ 0038
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CNDURA .M

1)

8159

~~
b
A4
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005426

005430
005436
005444

005452

005460
005466

005474
005502

005510
005516
005524
005530
005534
005542
005550
005554
005560
005562
005564
005570
005572
005574

005576
005604
005612

005616
005624
005632
005636

005642
Qu5646
005650
005652

000004

052777
012777
052777

012777

012777
052777

042777
052777

042777
052777
016703
012700
012767
012767
004767
105777
100401
104004
017701
020001
001401
104002

012767
012767
004767

012767
012767
004767
012700

017701
020001
001401
104002

164~DEC~-82 09:58 PAGE 61-25

16:31

000400
000000
000400

064001

004000
000020

020000
020000

020000
020000
174166
000052
000011
000524
011246
174132

174126

000011
000524
011204

000011
000524
011164
140052

174050

173316
173666

173276
173646

1

f

NITIALIZE THE COMMON TAGS

;s THIS TEST VERIFYS WORD LENGTH SELECT OF THE
:sRECEIVER SECTION,IT USES THE ERROR FLAGS
::T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
; : (OVRRUN ,RXERR)

; MODE : ISYMQD

..LENGT?ZSEVEN

ttttttttQtttt.ttiQ".t'i""i"i".'tt.tttﬁt"!'i't'tt.t'titQti

ST10: SCOPE

BIS #MRESET ,@TXCSR ;MASTER RESET
MOV #1SYMOD,@PARCSR ;SET THE MODE
BIS #MRESET,@TXCSR ;MASTER RESET

;SET MAINT DATA,CLK,BREAK,LMAINTENANCE MODE

Mov #MTDATA!CLK!MINT!BREAK,QTXCSR

:SET MODE ,# OF BITS,PARITY SENSE.LLOAD SYNC REG
MOV #1SYROD' SEVEN!NOPAR ' 0, 3PARCSR
BIS #SYNSCH.IRXCSR :SET SYNC SEARCH
:POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
BIC #CLK,aTXCSR :POKE CLK DOWN
#CLK.BTXCSR :POKE CLK UP

BIS
s POKE CLEIEO GET LOGIC INTO SYNCRONIZATION

#CLK,3TXCSR : POKE CLK ooun

BIS ACLK.ATXCSR :POKE (LK

MOV RXDBUF ,R3 ‘SET UP ron ERROR MESSAGE
MOV xsz ao :EXPECTED

MOV . SHIFT ;4 OF SHIFTS

MOV cszz.stnp1 :DATA CHAR

JSR PC,RPOKE SSHIFT IN THIS CHAR

TSTB  SRXCSR ;RXDONE 2

BM! .t
ERROR & : RXDONE SHOULD BE SET
MOV aRXDBUF ,R1 ACTUA

CMP RO,R1 ' ;COMPARE’ EXPECTED VS. ACTUAL

BEQ . +4

ERROR 2 ;RECEIVED DATA DID NOT MATCH
EXPECTED DATA - CHECK MAINT DATA
;OR RECEIVER LOGIC

MOV #9. SHIFT :# OF SHIFTS

MoV #524 ,$TMP1 :DATA CHAR

PC,RPCKE sSHIFT IN THIS CHAR

JSR
sNOW SHI;BVIN A SECOND CHARACTER WITHOUT READING RXDBUF

#9.,SHIFT :# OF SHIFTS
MOV #524 ,8$THPY :DATA (HAR
JSR PC,RPOKE sSHIFT IN THIS CHAR
MoV #140000!52,R0  ;EXPECTED DATA PLUS
RXERR € OVRRUN

MOV aRXDBUF ,R1 ACTUAL
g?z RO‘Rl COHPARE EXP VS. ACT
.t
ERROR 2 sSPECIFICALLY LOOK AT RXERR ¢

sOVRRUN BITS...THEY BOTH SHOULD BE SET

SEQ 0039
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;EXPECTED DATA = CHECK MAINT DATA
:OR RECEIVER LOGIC

CNDURA . M11 29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0040
%))
8160 :sTHIS TEST VERIFYS WORD LENGTH SELECT OF THE
(N SRECEIVER SECTION,IT USES THE ERROR FLAGS
(N ::TO DETERMINE THAT IT WAS SELECTED CORRECTLY
(N * (OVRRUN, RXERR)
(N : SMODE : ISYMOD
1N *LENGTH:SEVEN
g}; ::CHAR:17
(S) ;:tttttt;;ttttﬁttt'tttttttttt'ttttttttﬂtnttﬁittttﬁttttﬁitﬁttttttt
gz; 005654 000004 T§T11: SCOPE
(3) 005656 052777 000400 174042 BIS #MRESET,aTXCSR :MASTER RESET
(2) 005664 012777 000000 174030 MOV #1SYMOD,APARCSR ;SET THE MODE
23; 005672 052777 000400 174026 BIS #MRESET,3TXCSR :MASTER RESET
(2) :SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
25; 005700 012777 064001 174020 MOV #MTDATA'CLK'MINT!BREAK,TXCSR
(2) :SET MODE .# OF BITS,PARITY SENSE,LLOAD SYNC REG
(2) 005706 012777 004000 174006 MOV #1SYMOD ! SEVEN ! NOPAR |0, @PARCSR
(2) 005714 052777 000020 173770 BIS #SYNSCH,3RXCSR :SET SYNC SEARCH
(2) ;POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 005722 042777 020000 173776 BIC ACLK,TXCSR sPOKE CLK DOWN
(2) 005730 052777 020000 173770 BIS #CLK,@TXCSR POKE CLK UP
(2) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 005736 042777 0200 173762 BIC #CLK,TXCSR :POKE CLK DOWN
(2) 005744 052777 02000u 173754 BIS #CLK.ITXCSR *POKE CLK UP
(1) 005752 016703 173740 MOV RXDBUF ,R3 *SET UP FOR ERROR MESSAGE
(1) 005756 012700 000177 MOV #177.R0 EXPECTED
(1) 005762 012767 000011 173132 MOV o, SHIFY :# OF SHIFTS
(1) 005770 012767 000776 173502 MOV #776,$TMP :DATA CHAR
(1) 005776 004767 011020 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 006002 105777 173704 TSTB  @RXCSR ;RXDONE ?
(1) 006006 100401 BMI Ry
(1) 006010 104004 ERROR & :RXDONE SHMOULD BE SET
(1) 006012 017701 173700 MOV aRXDBUF ,R1 cACTUAL
(1) 006016 020001 CMP RO,R1  ;COMPARE EXPECTED VS. ACTUAL
(1) 006020 )1401 BEQ L+,
2}; 006022 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
("
(1) 006024 012767 000011 173070 MOV #9. SHIFT :# OF SHIFTS

(1) 006032 012767 000776 173440 MOV #776,8THP1 ‘DATA CHAR

(1) 006040 004767 010756 JSR PC ,RPOKE :SHIFT IN THIS CHAR

1N ;NOW SHIFT IN A SECOND CMARACTER WITHOUT READING RXDBUF

(1) 006044 012767 000011 173050 MOV #9. SHIFT :# OF SHIFTS

(1) 006052 012767 000776 173420 MOV A776.8TMP1 *DATA CHAR

(1) 006060 004767 010736 JSR PC.RPOKE SSHIFT IN THIS CHAR

(1) 006064 012700 140177 MOV #1400001177,R0 :EXPECTED DATA PLUS

(1) :RXERR & OVRRUN

(1) 006070 017701 173622 MOV aRXDBUF ,R1 *ACTUAL

(1) 006074 020001 CMP RO.R1 ~:COMPARE EXP VS. ACT

(1) 006076 001401 BEQ  +4

f}; 006100 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR ¢

;OVRRUN BITS,...THEY BOTH SHOULD BE SET
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006102

006104
006112
006120

006126

006134
006142

006150
006156

006164
006172
006200
006204
006210
006216
006224
006230
006234
006236
006240
006244
006246
006250

006252
006260
006266

006272
006300
006306
006312

006316
006322
006324
006326

CNDUR=A MACY11_30(1046

CNDURA .M11 29-0(CT-8

000004

052777
012777
052777

012777

012777
052777

042777
052777

042777
052777
016703
012700
012767
012767
004767
105777
100401
104004
017701
€20001
001401
104002

012767
012767
004767

012767
012767
004767
012700

017701
020001
001401
104002

14-DEC~82 09:58 PAGE 61-27
INITIALIZE THE COMMON TAGS

)
2 16: 1

000400
000000
000400

064001

004000
000020

020000
020000

020000

020000
173512

000011
000400
010530

000011
000400
010510
140000

173374

;:THIS TEST v
:iRECEIVER SE
310 DETERMIN
: : (OVRRUN, RXERR

ERIFYS WORD LENGTH SELECT OF THE
CTION,IT USES THE ERROR FLAGS
£ ;nnf IT WAS SELECTED CORRECTLY

2 sMODE : 1SYMOD
1 2LENGTH:SEVEN
::CHAR: 0

X
A ALLAAALA A A d R AR AR ldialll el 208222222222 222220]

TST12: SCOPE

8IS
MOV
BIS

#MRESET ,@TXCSR ;MASTER RESET
#1SYMOD,@PARCSR ;SET THE MODE
#MRESET ,@TXCSR ;MASTER RESET

sSET MAINT DATA,CLK,BREAK,CMAINTENANCE MODE

Mov

:SET MODE .4 OF
MOV
BIS

#MTDATA!CLK!MINT!BREAK ,8TXCSR

BITS ,PARITY SENSE,BLOAD SYNC REG
#1SYMOD ! SEVEN!NOPAR!0,@PARCSR
#SYNSCH,@RXCSR :SET SYNC SEARCH

:POKE CLK TO GET RECEIVER INTO SYNCROIZATION....

BIC
BIS

#CLK,aTXCSR sPOKE CLK DOWN
#CLK,ATXCSR ¢ POKE CLK UP

: POKE clezo GET LOGIC INTO SYNCRONIZATION

BIS
MoV
MOV
MoV
MOV
JSR
1ST8
8M]
ERROR
MOV
cMP
BEQ
ERROR

MOV
MOV

JSR
:NOW SHIFT IN A

MOV

MOV

JSR

MoV

MOV
CMP
8EQ
ERROR

#CLK,3TXCSR :POKE CLK DOWN

#CLK.@TXCSR :POKE CLK UP

RXDBUF ,R3 “SET UP FOR ERROR MESSAGE

#0,RO ~ ;EXPECTED
9. SHIFT ;4 OF SHIFTS

#400,$TmP1 ‘DATA CHAR

PC,RPOKE SSHIFT IN THIS CHAR

anzcsa ;RXDONE 2

i g

H ;RXDONE SHOULD BE SET

aRXDBUF ,R1 *ACTUAL

noza1 : COMPARE "EXPECTED VS. ACTUAL
L 2

2 :RECEIVED DATA DID NOT MATCH
SEXPECTED DATA = CHECK MAINT DATA
:OR RECEIVER LOGIC

#9. SHIFT :# OF SHIFTS

#400,sTmP1 :DATA CHAR

PC,RPOKE “SHIFT IN THIS CHAR
SECOND CHARACTER WITHOUT READING RXDBUF
¥9. SHIFT :# OF SHIFTS

#4600, $TmP1 ‘DATA CHAR

PC ,RPOKE SSHIFT IN THIS CHAR

#140000'0,R0O  EXPECTED DATA PLUS
*RXERR € OVRRUN

SRXDBUF ,R1 sACTUAL

ROLRI ;COMPARE EXP VS. A(TY

.

V4 sSPECIFICALLY LOOK AT RXERR ¢

sOVRRUN BITS...THEY BOTH SHOULD BE SET

SEQ 0041



-
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CNDURA . M1 29-0CT1~82 16:31 INITIALIZE THE COMMON TAGS SEQ 0042
1)
8 ;s THIS TEST VERIFYS WORD LENGTH SELECT OF THE

F
ssRECEJVER SECTION,IT USES THE ERROR FLAGS
::T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
s s (OVRRUN,RXERR)
: :MODE : 1SYMOD
ssLENGTH:EIGHT

:sCHAR:125
. :'Q.'Q';;'.".'.."."'.""."."'..Q.'...'..'.'..."'.Q'Q""'
006330 000004 TST13: SCOPE

006332 052777 000400 173366
006340 012777 000000 173354 MOV #1SYMOD,3PARCSR ;SET THE MODE
006346 052777 000400 173352 8IS #MRESET ,ATXCSR  ;MASTER RESET

BIS #MRESET,ATXCSR ;MASTER RESET

sSET MAINT DATA,CLK,BREAK,CMAINTENANCE MODE
006354 012777 064001 173344 MOV #MTDATA!CLK!MINT!BREAK,3TXCSR

sSET "00509' OF BITS PARITY SENSE,ELOAD SYNC REG

162

(1)

1)

(1)

(1

(1)

1N

(N

(5)

(%)

(4)

(3)

(2)

(3)

(2)

(2)

(2)

3

(2) 006362 012777 006000 173332 #1SYMOD 'EIGHT | NOPAR 0, aPARCSR

(2) 006370 052777 000020 173374 8IS NSYNSCH,BRXCSR :SET SYNC SEARCH

(2) ;POKE CLK TO GEf RECEIVER INTO SYNCROIZATION....
(2) 006376 042777 020000 173322 BIC #CLK,@TXCSR ;POKE CLK DOWN

(2) 006404 052777 020000 173314 BIS #CLK.ATXCSR *POKE CLK UP

(2) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION

(2) 006412 042777 020000 173306 BIC #CLK,TXCSR ;POKE CLK DOWN

(2) 006420 052777 020000 173300 BIS NCLK.ATXCSR :POKE (LK UP

(1) 006426 016703 173264 MOV RXDRUF ,R3 *SET UP FOR ERROR MESSAGE
(1) 006432 012700 000125 MOV #125,R0 ;EXPECTED

(1) 006436 012767 000012 172456 MOV 210, SSHIFT 4 OF SHIFTS

(1) 006444 012767 001252 173026 MOV #1252, $THP1 :DATA CMAR

(1) 006452 004767 010344 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 006456 105777 173230 TSTB  @RXCSR :RXDONE ?

(1) 006462 100401 BM] .+

(1) 006464 104004 ERROR & :RXDONE SHOULD BE SET

(1) 006466 017701 173224 MOV aRXDBUF ,R1 ACTUAL

(1) 006472 020001 CMP RO,R1 ;COMPARE EXPECTED VS. ACTUAL
(1) 006476 001401 BEQ Ry

(1) 006476 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
(1N SEXPECTED DATA = CHECK MAINT DATA
(1 *OR RECEIVER LOGIC

(1) 006500 012767 000012 172416 MOV #10, ,SHIFT :# OF SHIFTS

(1) 006506 012767 001252 172764 MOV #1252,8THP1 ‘DATA CHAR

(1) 006514 004767 010302 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) :NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF
(1) 006520 012767 000012 172374 MOV #10. ,SHIFT :# OF SHIFTS

(1) 006526 012767 001252 172744 MOV #1252,8TMP1 SDATA CHAR

(1) 006534 004767 010262 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 006540 012700 140125 MOV #140000'125,R0  :EXPECTED DATA PLUS
(1) *RXERR € OVRRUN

(1) 006544 017701 173146 MOV aRXDBUF ,R1 TACTUAL

(1) 006550 020001 CMP RO,R1 ;COMPARE EXP VS. ACT

(1) 006552 001401 BEQ Ry

g}; 006554 1046002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &

sOVRRUN BITS...THEY BOTH SHOULD BE SET
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CNDURA . M1 29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0043

(1)
8 JTHIS TEST VERIFYS WORD LENGTH SELECT OF THE
,.RECEIVER SECTION,IT USES THE ERROR FLAGS
370 DETERMINE THAT IT WAS SELECTED CORRECTLY
¢ s (OVRRUN,RXERR)

+ sMODE : ISYMOD
..LENGTH EIGHT
.. CHAR:25¢2

. e ttt'ﬁttttttttttitttt'itt't'iittliittitttiltittttt*ttitiiittﬁtt'

006556 000004 TST14: SCOPE

006560 052777 000400 173140 BIS #MRESET,aTXCSR ;MASTER RESET
006566 012777 000000 173126 MOV #1SYMOD .@PARCSR :SET THE MODE
006574 052777 000600 173124 BIS #MRESET.ATXCSR :MASTER RESET

;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE

163

1

(1)

(1)

(1)

(1)

(N

(1)

(5)

(%)

(&)

(3)

(2)

3

3

gg; 006602 012777 064001 173116 MOV #MTOATA! CLK 'MINT !BREAK,3TXCSR

(2) :SET MODE ,# OF BITS,PARITY SENSE.ELOAD SYNC REG

(2) 006610 012777 006000 173104 MOV #1SYMOD'EIGHT !NOPAR'0,aPARCSR

(2) 006616 052777 C00020 173066 BIS #SYNSCH.SRXCSR :SET SYNC SEARCH

(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 006624 042777 020000 173074 BIC #CLK,3TXCSR :POKE CLK DOWN

(2) 006632 052777 020000 173066 BIS #CLK.ATXCSR *POKE CLK UP

(2) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION

(2) 006640 042777 020000 173060 BIC #CLK,3TXCSR ;POKE CLK ooun

(2) 006646 052777 020000 173052 BIS #CLK.@TXCSR :POKE CLK U

(1) 006654 016703 173036 MOV RXDBUF ,R3 SSET UP ron eanon MESSAGE
(1) 006660 012700 000252 MOV #252.R0 ;EXPECTED

(1) 006664 012767 000012 172230 MOV #10. . SHIFT 4 OF SHIFTS

(1) 006672 012767 001524 172600 MOV #1524, $THPI ‘DATA CHAR

(1) 006700 004767 010116 JSR PC . RPOKE SSHIFT IN THIS CHAR
(1) 006704 105777 173002 TSTB  @RXCSR :RXDONE ?

(1) 006710 100401 BM] .+

(1) 006712 104004 ERROR & : RXDONE SHOULD BE SET

(1) 006714 017701 172776 MOV aRXDBUF ,R1 ACTUAL

(1) 006720 020001 CMP RO.R1  :COMPARE EXPECTED VS. ACTUAL
(1) 006722 001401 BEQ 44

(1) 006724 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
1 SEXPECTED DATA = CHECK MAINT DATA
(1 :OR RECEIVER LOGIC

(1) 006726 012767 000012 172166 MOV #10. ,SHIFT ;4 OF SHIFTS

(1) 006734 012767 001524 172536 MOV #1524, $TmP1 SDAT". CHAR

(1) 006742 004767 010054 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) ;NOW SHIFT IN A secono CHARACTER WITHOUT READING RXDBUF
(1) 006746 012767 000012 172146 MOV SHIFT :# OF SHIFTS

(1) 006754 012767 001524 172516 MOV c152£ StnPl :DATA CHAR

(1) 006762 004767 010034 JSR PC.R SSHIFT IN THIS CHAR
(1) 006766 012700 140252 MOV a1aooooszsz,ao SEXPECTED DATA PLUS
(1) *RXERR € OVRRUN

(1) 006772 017701 172720 MOV aRXDBUF ,R1 $ACTUAL

(1) 006776 020001 CMP RO,R1 ~:COMPARE EXP VS. ACT

(1) 007000 001401 BEQ .+

5}; 007002 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR §

sOVRRUN BITS...THEY BOTH SHOULD BE SETY




CNDUR=A MACY11 30(1046) 14<DEC-82 09:58 PAGE 61-30
CNDURA .M11 29-0(T-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0044
(1)
8 ssTHIS TEST VERIFYS WORD LENGTH SELECT OF THE
ssRECEIVER SECTION,IT USES THE ERROR FLAGS
soTO DETERMINE THAT 1T WAS SELECTED CORRECTLY
s s (OVRRUN,RXERR)

2 :MODE : 1SYMOD
2LENGTH:EIGHT
::CHAR'377

'QQ'.Q.t"QQ'QQ.Q'.'."'.""I’..'...ttti'itt'iil’titttttttttttti

007004 000004 $6T15:  SCOPE

007006 052777 000400 172712 8IS #MRESET,QTXCSR  ;MASTER RESET
007014 012777 000000 172700 MOV #1SYMOD,@PARCSR ;SET THE MODE
007022 052777 000400 172676 8IS #MRESET,@TXCSR ;MASTER RESET

sSET MAINT DATA,CLK,BREAK,CMAINTENANCE MODE

007030 012777 064001 172670 MOV #MTOATA CLK 'MINT !BREAK,3TXCSR
;SET MODE .# OF BITS,PARITY SENSE.LLOAD SYNC REG

007036 012777 006000 172656 MOV #1SYMOD 'EIGHT !NOPAR'0,aPARCSR
007044 052777 000020 172640 8IS #SYNSCH.ARXCSR :SET SYNC SEARCH

:POKE CLK TO GET RECEIVER INTO SYNCROIZATION..
007052 42777 020000 172646 81¢C #CLK,ATXCSR ;POKE CLK DOWN
007060 352777 020000 172640 8IS #CLK.@TXCSR *POKE CLK UP

;POKE CLK TO GET LOGIC INTO SYNCRONIZATION

007066 042777 020000 172632 8IC #CLK,3TXCSR :POKE CLX DOWN
007074 052777 020000 172624 8IS #CLX .@TXCSR ‘POKE CLK UP
007102 016703 172610 MOV RXDBUF ,R3 *SET UP FOR ERROR MESSAGE
007106 012700 000377 MOV #377.R0 EXPECTED
007112 012767 000012 172002 MOV #10. CSHIFT 4 OF SHIFTS
007120 012767 001776 172352 MOV N1776.8THP :DATA CHAR
007126 004767 007670 JSR PC,RPOKE SSHIFT IN THIS CHAR
007132 105777 172554 TSTB  @RXCSR ;RXDONE ?
007136 100401 BM] .+
007140 104004 ERROR 4 :RXDONE SHOULD BE SET
007142 017701 172550 MOV aRXDBUF ,R1 ACTUAL
007146 020001 CMP RO.R1 ;COMPARE EXPECTED VS. ACTUAL
007150 001401 BEQ .+
007152 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH

sEXPECTED DATA = CHECK MAINT DATA
:OR RECEIVER LOGIC

007154 012767 000012 171740 MOV #10. ,SHIFT :# OF SHIFTS

007162 012767 001776 172310 MOV M776,8THP1 SDATA CHAR

007170 004767 007626 JSR PC . RPOKE SSHIFT IN THIS CHAR
;NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF

007174 012767 000012 171720 MOV #10. ,SHIFT :# OF SHIFTS

007202 012767 001776 172270 MOV #1776,8TAP1 SDATA CHAR

007210 004767 007606 JSR PC,RPOKE ‘SHIFT IN THIS CHAR

007214 012700 140377 MOV #140000'377,R0 :EXPECTED DATA PLUS

:RXERR € OVRRUN

007220 017701 172472 MOV arRXDBUF ,R1 S ACTUAL

007224 020001 CMP RO,R1 ' :COMPARE EXP VS. ACT

007226 001401 BEQ 4

007230 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR €

L X X W W W N Y Y Y Y Y ey Y Y e Y e Yalateleatalealealelatalelealeatealalatealeale e laleteYe et latalalalalalela el s X
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sOVRRUN BITS...THEY BOTH SHOULD BE SET
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CNDURA .M11 29-0(T-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0045
(1)
8 :2THIS TEST VERIFYS WORD LENGTH SELECT OF THME
JSRECEJVER SECTION,IT USES THE ERROR FLAGS
270 DETERMINE THAT ]V WAS SELECTED CORRECTLY
;3 (OVKRUN ,RXERR)

: 2MODE : ISYMOD
::LENGTH:EIGHT

::CHAR:0
: . tﬁttt.;;ttQtQ.QQ.QtQQ.QQ'Q'QQ'Q'QQQQ.Q.t"'.'..'."Q.QQQ'QQ'QQ.
007232 000004 1ST16: SCOPE

007234 052777 000400 172464
007242 012777 000000 172452 MOV #1SYMOD ,8PARCSR ;SETV THE MODE
007250 052777 000400 172450 BIS W#MRESET ,ATXCSR  ;MASTER RESET

;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
007256 012777 064001 172442 MOV #MTDATA!CLK!MINT!GREAK,@TXCSR

sSET HODS .# OF BITS,PARITY SENSE,BLOAD SYNC REG

BIS W#MRESET ,@TXCSR  ;MASTER RESET

165

(1)

(1

(1)

(1

(1)

(N

(1)

5

4)

(4)

(3)

(2)

(3)

(2)

(2)

(2)

2

(2) 007264 012777 006000 172430 ov #1SYMOD'E IGHT !NOPAR'0,aPARCSR

(2) 007272 052777 000020 172412 BIS #SYNSCH,SRXCSR :SET SYNC SEARCM

(2) :POKE CLK TO GET RECEIVER INTO SYNCROIZATION....
(2) 007300 042777 020000 172420 BIC #CLK,STXCSR ;POKE CLK DOWN

(2) 007306 052777 020000 172412 BIS #CLK.ATXCSR *POKE CLK UP

(2) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION

(2) 007314 042777 020000 172404 BIC #CLK,dTXCSR :POKE CLK DOWN

(2) 007322 052777 020000 172376 BIS #CLK,8TXCSR sPOKE (LK UP

(1) 007330 016703 172362 MoV RXDBUF ,R3 JSET UP FOR ERROR MESSAGE
(1) 007334 012700 000000 MOV #0,R0O ~ :EXPECTED

(1) 007340 012767 000012 171554 MOV #10.  SHIFY <4 OF SHIFTS

(1) 007346 012767 001000 172124 MOV #1000, $TMP1 :DATA CHAR

(1) 007354 004767 007442 JSR PC.RPOKE SSHIFT IN THIS CHAR
(1) 007360 105777 172326 TSTB  @RXCSR ;RXDONE ?

(1) 007364 100401 BM] . %4

(1) 007366 104004 ERROR & :RXDONE SHOULD BE SET

(1) 007370 017701 172322 MOV aRXDBUF , R1 “ACTUAL

(1) 007374 020001 CMP RO,R1 ;COMPARE EXPECTED VS. ACTULL
(1) 007376 001401 BEQ . +4

(1) 007400 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
1 SEXPECTED DATA - CHECK MAINT DATA
(1) “OR RECEIVER LOGIC

(1) 007402 012767 000012 171512 MoV 010, SHIFT :# OF SHIFTS

(1) 007410 012767 001000 172062 MOV #1000, $TmP1 :DATA CHAR

(1) 007416 004767 007400 JSR PC . RPOKE SSHIFT IN THIS CHAR
(N :NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF
(1) 007422 012767 000012 171472 MOV #10. , SHIFT ;& OF SHIFTS

(1) 007430 012767 001000 172042 MOV #1000, $TmP1 :DATA CHAR

(1) 007436 004767 007360 JSR PC . RPOKE SSHIFT [N THIS CHAR
(1) 007442 012700 140000 MOV #140000'0,R0  :EXPECTED DATA PLUS
1) :RXERR & OVRRUN

(1) 007446 017701 172244 MOV aRXDBUF ,RY *ACTUAL

(1) 007452 020001 CMP RO.R1 ~;COMPARE EXP VS. ACT

(1) 007454 001401 BEQ . +4

:}; 007456 104002 ERROR 2 JSPECIFICALLY LOOK AT RXERR ¢

cOVRRUN BITS...THEY BOTH SHOULD BE SET




f
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CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0046
(1)
8166 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
1) SSRECEIVER SECTION,IT USES THE ERROR FLAGS
(1) 1370 DETERMINE THAT IV WAS SELECTED CORRECTLY
1) 23 (OVRKRUN,RXERR)
(1) 2 2MODE : SYNEXT
(1 L:LENGTH:FIVE
g}; *:CHAR:2S
(S) ::t't'l’t;;"ttﬂt..""""tt.'Q'Q.t.."'.'.'.ﬁ'.QQ.Q.Q.QQ.QQQQ'.Q
{9; 007460 000004 1ST17:  SCOPE
-
(3) 007462 052777 000400 172236 BIS #MRESET,@TXCSR :MASTER RESET
(2) 007470 012777 020000 172224 MOV #SYNEXT .@PARCSR :SET THE MODE
gg; 007476 052777 000400 172222 BIS #MRESET QTXCSR -MASTER RESET
(2) ;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
f%; 007504 012777 064001 172214 MOV #MTDATA! CLK 'MINT /BREAK,3TXCSR
(2) ;SET MODE .# OF BITS,PARITY SENSE,LLOAD SYNC REG
(2) 007512 012777 020000 172202 MOV #SYNEXT!F IVE 'NOPAR'0,aPARCSR
(1) 007520 052777 000020 172164 BIS #SYNSCH,ARXCSR  ;SET SEARCH SYNC
(2) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 007526 062777 020000 172172 BIC #CLK,STXCSR :POKE CLK DOWN
(25 007534 052777 020000 172164 BIS #CLK.QTXCSR *POKE (LK UP
(1) 007542 016703 172150 MOV RXDBUF ,R3 *SET UP FOR ERROR MESSAGE
(1) 007546 012700 000025 MOV #25,R0° :EXPECTED
(1) 007552 012767 000005 171342 MOV #S SHIFT :# OF SHIFTS
(1) 007560 012767 000025 171712 MOV 225 $1MP1 ‘DATA CHAR
(1) 007566 004767 007230 JSR PC . RPOKE “SHIFT IN THIS CHAR
(1) 007572 105777 172114 TST8  SRXCSR ;RXDONE ?
(1) 007576 100401 gM] . +4
(1) 007600 104004 ERROR & ;RXDONE SHOULD BE SET
(1) 007602 017701 172110 MoV SRXDBUF ,R? :ACTUAL
(1) 007606 020001 CMpP RO.R1 :COMPARE EXPECTED VS. ACTUAL
(1) 007610 001401 BEQ . +4
(1) 007612 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
(1) SEXPECTED DATA = CHECK MAINT DATA
1) *OR RECEIVER LOGIC
(1) 007614 012767 000005 171300 MOV #5 SHIFT :# OF SHIFTS
(1) 007622 012767 000025 171650 MOV #25 . sTMP1 :DATA CHAR
(1) 007630 004767 007166 JSR PC ,RPOKE SSHIFT IN THIS CHAR
(1) :NOW SHIFT IN A SECOND CHARACTER  JITHOUT READING RXDBUF
(1) 007634 012767 000005 171260 MOV #S_SHIFT :# OF SHIFTS
(1) 007642 012767 000025 171630 MOV #25,8TMP1 ‘DATA CHAR
(1) 007650 004767 007146 JSR PC .RPOKE TSHIFT IN THIS CHAR
(1) 007656 012700 140025 MOV #140000'25,R0  EXPECTED DATA PLUS
(1) :RXERR © OVRRUN
(1) 007660 017701 172032 MOV aRXDBUF ,R1 ACTUAL
(1) 007664 020001 CMP RO,R1 ;COMPARE EXP VS. A(CT
(1) 007666 001401 BEQ . +4
(1) 007670 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR §
g}; SOVRRUN BITS...THEY BOTH SHOULD BE SET
8167 ;:THIS TEST VERIFYS WORD LENGTH SELECT OF TME
(1) S RECEIVER SECTION,1Y USES THE ERROR FLAGS
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CNDURA . M11 29-0C7-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0047

&

ssTHIS TEST VERIFYS WORD LENGTH SELECT OF THE
ssRECEIVER SECTION,IT USES THE ERROR FLAGS
ssTO DETERMINE THAT [T WAS SELECTED CORRECTLY
s (OVRRUN,RXERR

ssMODE : SYNEXT

(1) ::TO DETERMINE THAT IT WAS SELECTED CORRECTLY
(N ¢ s (OVRRUN, RXERR)

1) 2 sMODE : SYNEXT

(1 SLENGTH:FIVE

g}; 3 CHAR:12

(S) ::ttttt'tit"t'!..'t't"it't""'..ﬁ.QQQQQ.QQQ!QQQQQQ'QQQ!Q.Q.Q.Q
gz; 007672 000004 7$120: SCOPE

(3) 007674 052777 000400 172024 BIS #MRESET,3TXCSR :MASTER RESET

(2) 007702 012777 020000 172012 MOV #SYNEXT.SPARCSR :SET THE MODE

23; 007710 052777 000400 172010 BIS #MRESET.STNCSR :MASTER RESET

(2) ;SET MAINT DATA,CLK,BREAY,CMAINTENANCE MODE

55; 007716 012777 064001 172002 MOV #MTOATA!CLK 'MINT !BREAK,3TXCSR

2) :SET MODE ,# OF BITS,PARITY SENSE,SLOAD SYNC REG

(2) 007724 012777 020000 171770 MOV #SYNEXT ' F IVE !NOPAR ' 0, aPARCSR

(1) 007732 052777 000020 171752 BIS #SYNSCH_ARXCSR :SET SEARCH SYNC

(2) ;POKE CLK TO GET LOGIC lNTO SVNCRONIZATION

(2) 007740 042777 020000 171760 BIC #CLK,ITXCSR ;POKE CLK DOWN

(2) 007746 052777 020000 171752 BIS #CLK.ATXCSR :POKE CLK UP

(1) 007754 016703 171736 MOV RXDBUF ,R3 SSET UP FOR ERROR MESSAGE
(1) 0077260 012700 000012 MOV 02, ao EIPECIED

(1) 007764 012767 000005 171130 MOV #S SHIF :# OF SHIFTS

(1) 007772 012767 000012 171500 MOV 02, strot ‘DATA CHAR

(1) 010000 004767 007016 JSR PC.RPOKE SSHIFT IN THIS CHAR

(1) 010004 105777 171702 TST8  @RXCSR ;RXDONE ?

(1) 010010 100401 BM] .+

(1) 010012 104004 ERROR & :RXDONE SHOULD BE SET

(1) 010014 017701 171676 MOV aRXDBUF ,R1 *ACTUAL

(1) 010020 020001 CMP RO,R1 ;COMPARE EXPECTED VS. ACTUAL
(1) 010022 001401 BEQ . +4

(1) 010024 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1 TEXPECTED DATA = CHECK MAINT DATA
(1) :0R RECEIVER LOGIC

(1) 010026 012767 000005 171066 MOV #5, SHIFT :# OF SHIFTS

(1) 010034 012767 000012 171436 MOV #12,8TMPY :DATA CHAR

(1) 010042 004767 006754 JSR PC,RPOKE SSHIFT IN THIS CHAR

(1) ;NOW SHIFT IN A SECOND cuaancrsn WITHOUT READING RXDBUF
(1) 010046 012767 000005 171046 MOV #S_ SHIFT 4 OF SHIFTS

(1) 010054 012767 000012 171416 MOV #12.8THPY :DATA CHAR

(1) 010062 004767 006734 JSR PC,RPOKE SSHIFT IN THIS CHAR

(1) 010066 012700 140012 MOV #140000'12,R0  :EXPECTED DATA PLUS

(1) :RXERR €& OVRRUN

(1) 010072 017701 171620 MOV aRXDBUF ,R1 *ACTUAL

(1) 010076 020001 CMP RO.RT :COMPARE EXP VS. ACT

(1) 010100 001401 BEQ L+

(1) 010102 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR ¢
g;; *OVRRUN BITS...THEY BOTH SHOULD BE SET
1
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CNDURA . M11 29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0048
N ssLENGTH:F IVE
§}} ;5 CHAR: 37
(S) .-:tt't.tt'tt'ttttttt't't'tt't.t.tttt.ttt'th'tt.ttttttt'.ttttttttt
:2; 010104 000004 7$121: SCOPE
(3) 010106 052777 000400 171612 BIS #MRESET,@TXCSR  ;MASTER RESET
(2) 010114 012777 020000 171600 MOV #SYNEXT.@PARCSR >SET THE MODE
gg; 010122 052777 000400 171576 BIS WMRESET.@TXCSR :MASTER RESET
(2) :SET MAINT DATA,CLK,BREAK,CMAINTENANCE MODE
23; 010130 212777 064001 171570 MOV #MTDATA'CLK ' MINT !BREAK,3TXCSR
(2) ;SET MODE ,# OF BITS,PARITY SENSE,LLOAD SYNC REG
(2) 010136 012777 020000 171556 MOV #SYNEXT'F IVE 'NOPAR ' 0, aPARCSR
(1) 010144 052777 000020 171540 BIS #SYNSCH.ARXCSR :SET SEARCH SYNC
(2) :POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 010152 042777 020000 171546 BIC #CLK,TACSR ;POKE CLK DOWN
(2) 010160 052777 020000 171540 BIS #CLK.STXCSR :POKE CLK UP
(1) 010166 06703 171524 MOV RXDBUF ,R3 SSET UP FOR ERROR MESSAGE
(1) 010172 012700 000037 MOV #37,R0  :EXPECTED
(1) 010176 012767 000005 170716 MOV #5 SHIFT 4 OF SHIFTS
(1) 010204 012767 000037 171266 MOV 237.81mMP1 :DATA CHAR
(1) 010212 004767 006604 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 010216 105777 171470 TSTB  @RXCSR ;RXDONE ?
(1) 010222 100401 BMI .+
(1) 0102264 104006 ERROR & ;RXDONE SHOULD BE SET
(1) 010226 017701 171464 MOV SRXDBUF , R1 ACTUAL
(1) 010232 020001 CMP RO.R1 :COMPARE’ expecreo VS. ACTUAL
(1) 010236 001401 BEQ L+
(1) 010236 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1) SEXPECTED DATA = CHECK MAINT DATA
&3] :0OR RECEIVER LOGIC
(1) 010240 012767 000005 170654 MOV #5,SHIFT ;4 OF SHIFTS
(1) 010246 012767 000037 171224 MOV 237, $1MP1 “DATA CHAR
(1) 010256 004767 006542 JSR PC,RPOKE SSHIFT IN THIS CHAR
%3] ;NOW SHIFT IN A secouo CHARACTER WITHOUT READING RXDBUF
(1) 010260 012767 000005 170634 MOV #5_ SHIFT ;4 OF SHIFTS
(1) 010266 012767 000037 171204 MOV #37.81MP1 *DATA CHAR
(1) 010274 004767 006522 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 010300 012700 140037 MOV #140000'37,R0  ;EXPECTED DATA PLUS
(N *RXERR € OVRRUN
(1) 010304 017701 171406 MOV aRXDBUF ,R1 *ACTUAL
(1) 010310 020001 CMP RO,R1 ;COMPARE EXP VS. ACT
(1) 010312 001401 BEQ .44
(1) 010314 104002 ERROR 2 sSPECIFICALLY LOOK AT RXERR ¢
5}; SOVRRUN BITS...THEY BOTH SHOULD BE SET
8169 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(N SSRECEIVER SECTION,IT USES THE ERROR FLAGS
%)) $3T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
() s : (OVRRUN, RXERR)
1 : sMODE : SYNEXT
(1) 2LENGTH:F]VE
f%g s3CHAR:D
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012777
052777
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012767
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012767
012767
004767
012700
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001401
104002

000004

14-DEC~-82 09:58 PAGE 61-35

29-0C7-82 16:3

000400
020000
000400

064001

020000
000020

020000
020000
171312
000000
000005
000000
006372
171256

171252

000005
000000
006330

000005
000000
006310
140000

171174

INITIALIZE THE COMMON TAGS

A AR AAAARARAAAL AR AAAAAARAAAARAAALAAALARAAAAALAARSARRAALRAR LA RD

SCOPE

BIS #MRESET,@TXCSR ;MASTER RESET
MOV #SYNEXT,@PARCSR ;SET THE MODE
BIS #MRESET ,@TXCSR  ;MASTER RESET

:SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE

MoV #MTDATA!CLK!MINT!BREAK,STXCSR

;SET MODE ,# OF BITS,PARITY SENSE,LLOAD SYNC REG

MOV #SYNEXT!F IVE NOPAR!0,aPARCSR
BIS #SYNSCH,@RXCSR - SET SEARCH SYNC

:POKE CLgIEO GET LOGIC INTO SYNCRONIZATION

#CLK,8TXCSR ;POKE CLK DOWN
BIS #CLK,@TXCSR ;POKE CLK UP
MOV RXDBUF ,R3 :SET UP FOR ERROR MESSAGE
MOV #0,R0 EXPECTED
MOV #5,SHIT :# OF SHIFTS
MOV #O.STH :DATA CHAR
JSR PC.RPOKE SSHIFT IN THIS CHAR
TST8 @RXCSR ;RXDONE ?
BM] . th
ERROR & s RXDONE SHOULD BE SET
MOV aRXDBUF ,R1 ACTUAL
gg: RO R1 : COMPARE EXPECTED VS. ACTUAL
.0
ERROR 2 sRECEIVED DATA DID NOT MAT(H
cEXPECTED DATA = CHECK MAINT LATA
JOR RECEIVER LOGIC

MOV #5,SHIFT :# OF SHIFTS

MOV #0,8TMP1 +DATA CHAR

JSR PC,RPOKE sSHIFT IN THIS CHAR
:NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF

MOV #5,SHIFT s# OF SHIFTS

MOV #0,$TMPI ;DATA_CHAR

JSR PC ,RPOKE ;SHIFT IN THIS CHAR
MOV #140000:0,R0 ;EXPECTED DATA PLUS
:RXERR § OVRRUN

MOV SRXDBUF ,R1 sACTUAL
ggg RO£R1 ;COMPARE EXP VvS. A(CT
RS
ERROR 2 sSPECIFICALLY LOOK AT RXERR &

sOVRRUN BITS...THEY BOTH SHOULD BE SET

s:;THIS TEST VERIFYS WORD LENGTH SELECT OF THE
ssRECEIVER SECTION,IT USES THE ERROR FLAGS
s:T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
s (OVRRUN ,RXERR)

: MODE : SYNEXT

..LENGTH SIX

: : CHAR:25

::'Q.Q‘QtlQ'.t..""""'*Q't'.t".tt.ttt'.tti.Q"'.'.l!..!."tt'

SCOPE

SEQ 0049
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CNDURA .M11 29-0C7-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0050
(3) 010532 052777 000400 171166 BIS #MRESET ,@TXCSR ;MASTER RESET
010540 012777 020000 171154 MOV #SYNEXT,@PARCSR ;SET THE MODE
010546 052777 000400 171152 BIS #MRESET,@TXCSR ;MASTER RESET

:SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
010554 012777 064001 171144 MOV #MTDATA!CLK!MINT!BREAK ,8TXCSR

;SET MODE ,# OF BITS,PARLTY SENSE,LLOAD SYNC REG

010562 012777 022000 171132 MOV ASYNEXT!SIX!NOPAR {0, 3PARCSR

010570 052777 000020 171114 BIS #SYNSCH,aRXCSR :SET SEARCH SYNC
:POKE CLK TO GET LOGIC INTO SYNCRONIZATION

010576 042777 020000 171122 8IC #CLK,aTXCSR :POKE CLK DOWN

010604 052777 020000 171114 8IS #CLK.BTXCSR :POKE CLK UP

010612 016703 171100 MOV RXDBUF ,R3 SSET UP FOR ERROR MESSAGE

010616 012700 000025 MOV n25, no expecreo

010622 012767 000006 170272 MOV #6 SHIF :# OF SHIFTS

010630 012767 000025 170642 MOV 028, srnp1 :DATA CHAR

010636 004767 006160 JSR PC . RPOKE SSHIFT IN THIS CHAR

010642 105777 171044 TSTB  @RXCSR ;RXDONE ?

010646 100401 BMI .+

010650 104004 ERROR & :RXDONE SHOULD BE SET

010652 017701 171040 MOV aRXDBUF ,R1 sACTUAL

010656 020001 CMP RO,R1 ;COMPARE EXPECTED VS. ACTUAL

010660 001401 BEQ L+

010662 104002 ERROR 2 sRECEIVED DATA DID NOT MATCH

SEXPECTED DATA = CHECK MAINT DATA
:OR RECEIVER LOGIC

010664 012767 000006 170230 MOV #6 SHIFT 4 OF SHIFTS

010672 012767 000025 170600 MOV #25 8P ‘DATA CHAR

010700 004767 006116 JSR PC,RPOKE SSHIFT IN THIS CHAR
:NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF

010704 012767 000006 170210 MOV #6 SHIFT ;# OF SHIFTS

010712 012767 000025 170560 MOV czS stnp1 :DATA CHAR

010720 004767 006076 JSR SSHIFT IN THIS CHAR

010724 012700 140025 MOV v1aoooo~2s RO ;EXPECTED DATA PLUS

RXERR £ OVRRUN

010730 017701 170762 MOV aRXDBUF ,R1 ACTU

010734 020001 CMP RO,R1 COHPARE EXP VS. ACT

010736 001401 BEQ 44

010740 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR &

:OVRRUN BJTS...THEY BOTH SHOULD BE SET

s:THIS TEST VERIFYS WORD LENGTH SELECT OF THE
s;RECEIVER SECTION,IT USES THE ERROR FLAGS
s:TO DETERMINE THAT 1T WAS SELECTED CORRECTLY
s s (OVRRUN ,RXERR)

; sMODE : SYNEXT

..LENGT?ZSIX

tttQttﬁiﬁi'tttitttttt"ti't""t'lt.tt.it.ii (AR AAZSLARRRRRRRR R )

010742 000004 T T24: SCOPE

010744 052777 0006400 170754 8IS #MRESET,@TXCSR ;MASTER RESET
010752 012777 020000 170742 MOV #SYNEXT ,aPARCSR ;SET THE MODE
010760 052777 000400 170740 BIS #MRESET,@TXCSR ;MASTER RESET
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CNDURA . .M11 29-0CT7-82 16:

012777

012777
052777

042777
052777
016703
012700
012767
012767
004767
105777
100401
104004
017701
020001
001401
104002

012767
012767
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012767
012767
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012700

017701
020001
001401
104002

000004
052777
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012777

064001
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000020
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170666
000052
000006
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000006
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3 INITIALIZE THE COMMON TAGS

:SET MAINT DATA.CLK.BREAK.l AINTENANCE MODE

MoV #MTDATA!CLK!MINT!BREAK,8TXCSR

sSET MODE ,# GF BITS,PARITY SENSE,ZLOAD SYNC REG

MOV #SYNEXT!SIX!NOPARI0,aPARCSR
BIS #SYNSCH.@RXCSR ;SET SEARCH SYNC

s POKE CLgIEO GET LOGIC INTO SYNCRONIZATION

#CLK,3TXCSR :POKE CLK DOWN
BIS #CLK.ATXCSR *POKE CLK UP
MOV RXDBUF ,R3 :SET UP FOR ERROR MESSAGE
MOV #52.R0° ;EXPECTED
MOV #6,SHIFT :# OF SHIFTS
MOV #55,$TMP :DATA CHAR
JSR PC,RPOKE SSHIFT IN THIS CHAR
TST8  @RXCSR ;RXDONE ?
BM] . +4
ERROR & ;RXDONE SHOULD BE SET
MOV aRXDBUF ,R1 ACTUAL
ggg no R1 ;COMPARE’ EXPECTED VS. ACTUAL
.+
ERROR 2 :RECEIVED DATA DID NOT MATCH
TEXPECTED DATA = CHECK MAINT DATA
:0OR RECEIVER LOGIC
MOV #6 SHIFT' :# OF SHIFTS
MOV #59,$THPY *DATA CHAR
PC,RPOKE SSHIFT IN THIS CHAR

JSR
sNOW SHI;BVIN A SECOND CHARACTER HITHOUT READING RXDBUF

#6,SHIF ;# OF SHIFTS

MOV #52, srnp1 DAIA CHAR

JSR PC, RPOKE SSHIFT IN THIS CHAR

MOV #140000'52,R0  -EXPECTED DATA PLUS
SRXERR & OVRRUN

MOV aRXDBUF ,R1 sACTUAL
ggg ROZR1 sCOMPARE EXP VS. ACT
S
ERROR 2 sSPECIFICALLY LOOK AT RXERR &

;OVRRUN BITS...THEY BOTH SHOULD BE SET

2:THIS TEST VERIFYS WORD LENGTH SELECT OF THE
JJRECEJVER SECTION.,IT USES THE ERROR FLAGS
2:TO DETERMINE THAT IT WAS SELECTED CORRECTLY
2 s (OVRRUN,RXERR)

2 ;MODE : SYNEXT

..LENGTH SIX

‘ CHAR:77

::tttttt!ittttt.'tttt"'t'."'ti't'ﬁtti‘iiit'!'t'ttt'tttttiit*'tt

SCOPE

BIS #MRESET ,@TXCSR ;MASTER RESET
MOV #SYNEXT,@PARCSR ;SET THE MODE
BIS #MRESET ,@TXCSR ;MASTER RESET

SSET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE

MoV #MTDATAICLK!MINT!BREAK,STXCSR

SEQ 0051
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CNDURA.M11 29-0(CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0052
(2)
(2) :SET MODE ,# OF BITS,PARITY SENSE,BLOAD SYNC REG
(2) 011206 012777 022000 170506 MOV #SYNEXT!SIX!NOPAR!0,3PARCSR
(1) 011214 052777 000020 170470 BIS #SYNSCH,aRXCSR  :SET SEARCH SYNC
2) ;POKE CLK TO uET LOGIC INTO' SYNCRONIZATION
(2) 011222 042777 020000 170476 BIC #CLK,ITXCSH :POKE CLK DOWN
(2) 011230 052777 0620000 170470 BIS #CLK.ITXCSY :POKE CLK UP
(1) 011236 016703 170456 MOV RXDBUF ,R3 sSET UP FOR ERROR MESSAGE
(1) 011242 012700 000077 oV #77.R0° EXPECTED
(1) 011246 012767 000006 167646 MOV #6,SHIFT s# OF SHIFTS
(1) 011254 012767 000077 170216 MOV #7277, $1MP1 :DATA CHAR
(1) 011262 004767 005534 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 011266 105777 170420 TSTB  BRXCSR ;RXDONE ?
(1) 011272 100401 BMI .+
(1) 011274 104004 ERROR 4 ;RXDONE SHOULD BE SET
(1) 011276 017701 170414 MOV aRXDBUF , R1 *ACTUAL
(1) 011302 020001 cMpP RO,R1  ;COMPARE EXPECTED VS. ACTUAL
(1) 011304 001401 BEQ L+
(1) 011306 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(N SEXPECTED DATA - CHECK MAINT DATA
(1) SOR RECEIVER LOGIC
(1) 011310 012767 000006 167604 MOV #6,SHIFT :# OF SHIFTS
(1) 011316 012767 000077 170154 MOV #77,$TMP1 ‘DATA CHAR
(1) 011324 004767 005472 JSR PC.RPOKE SSHIFT IN THIS CHAR
(1 :NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDSUF
(1) 011330 012767 000006 167564 MOV #6,SHIFT :# OF SHIFTS
(1) 011336 012767 000077 170134 MOV #77,$TMP1 *DATA CHAR
(1) 011344 004767 0056452 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 011350 012700 140077 MOV #140000777,R0  :EXPECTED DATA PLUS
(1) sRXERR € OVRRUN
(1) 011354 017701 170336 MOV aRXDBUF ,R1 *ACTUAL
(1) 011360 020001 CMP RO,R1  :COMPARE EXP VS. ACT
(1) 011362 001401 BEQ .+
(1) 011364 104002 ERROR 2 ;SPECIFICALLY LOOX AT RXERR 8
f}; :OVRRUN BITS...THEY BOTH SHOULD BE SET
8173 ::THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(N +RECEIVER SECTION,IT USES THE ERROR FLAGS
n +:TO DETERMINE THAT IT WAS SELECTED CORRECTLY
(N +: (OVRRUN.RXERR)
(N : SMODE : SYNEXT
(1) :SLENGTH:SIX
g}; ::CHAR:0
(S) :;tt*ttt't;tttttttttti*ttttttttttttttt*ttttttttttttttttttttttttttt
52; 011366 000004 1S126: SCOPE
(3) 011370 052777 000400 170330 BIS #MRESET,aTXCSR :MASTER RESET
(2) 011376 012777 020000 170316 MOV #SYNEXT.APARCSR :SET THE MODE
gg; 011404 052777 000400 170314 BIS #MRESET.QTXCSR :MASTER RESET
(2) :SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
gg; 011412 012777 064001 170306 MOV #MTDATA!CLK'MINT 'BREAK,aTXCSR
(2) :SET MODE ,# OF BITS,PARITY SENSE.BLOAD SYNC REG
(2) 011420 012777 022000 170274 MOV #SYNEXT!SIX!NOPAR!Q,aPARCSR
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CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0053
(1) 011426 052777 000020 170256 BIS #SYNSCH,BRXCSR  :SET SEARCH SYNC
(2) ;POKE CLK TO GET LOGIC INTO SYNCRONIZATION
(2) 011434 042777 020000 170264 BIC #CLK,@TXCSR :POKE CLK DOWN
(2) 011442 052777 020000 170256 BIS #CLK.STXCSR ‘POKE CLK UP
(1) 011450 016703 170242 MOV RXDBUF ,R3 *SET UP FOR ERROR MESSAGE
(1) 011454 012700 000000 MOV #0,R0 ~ ;EXPECTED
(1) 011460 012767 000006 167434 MOV #6.SHIFT ¥ OF SHIFTS
(1) 011466 012767 000000 170004 MOV 20.$TMP1 ‘DATA CHAR
(1) 011474 004767 005322 JSR PC .RPOKE *SHIFT IN THIS CHAR
(1) 011500 105777 170206 TSTB  aRXCSR ;RXDONE ?
(1) 011504 100401 BM] . +4
(1) 011506 104004 ERROR & ;RXDONE SHOULD BE SET
(1) 01i510 017701 170202 MOV aRXDBUF ,R1 T ACTUAL
(1) 011514 020001 CMP RO,R1 ;COMPARE EXPECTED VS. ACTUAL
(1) 011516 001401 BEQ . +4
(1) 011520 104002 ERROR 2 :RECEIVED DATA DID NOT MATCH
1 *EXPECTED DATA = CHECK MAINT DATA
(1) :0R RECEIVER LOGIC
(1) 011522 012767 000006 167372 MOV #6,SHIFT ;¥ OF SHIFTS
(1) 011530 012767 000000 167742 MOV #0.$TMP1 :DATA CHAR
(1) 011536 004767 005260 JSR PC .RPOKE SSHIFT IN THIS CHAR
(1) :NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF
(1) 011542 012767 000006 167352 MOV #6,SHIFT :# OF SHIFTS
(1) 011550 012767 000000 167722 MOV #0.$TMPI :DATA CHAR
(1) 011556 004767 005240 JSR PC .RPOKE SSHIFT IN THIS CHAR
(1) 011562 012700 140000 MOV #14000070,R0  EXPECTED DATA PLUS
(1 *RXERR © OVRRUN
(1) 011566 017701 170124 MOV aRXDBUF , R1 *ACTUAL
(1) 011572 020001 CMP RO,R1 ' ;COMPARE EXP VS. ACT
(1) 011574 001401 BEQ . +4
(1) 011576 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR &
g}; SOVRRUN BITS...THEY BOTH SHOULD BE SET
8174 ;:THIS TEST VERIFYS WORD LENGTH SELECT OF THE
(1) SSRECEIVER SECTION,IT USES THE ERROR FLAGS
(1) :3T0 DETERMINE THAT IT WAS SELECTED CORRECTLY
(1) + 3 (OVRRUN, RXERR)
(1) 2:MODE : SYNEXT
(1) J:LENGTH: SEVEN
:}; ;:CHAR: 125
(S) . ;ttttt';;tttttttt.t'ttitt't"t'ﬁ.ttt.t....Q.t..t..'tlt.ﬁtﬁt'ittt
52; 011600 000004 1S127:  SCOPE
(3) 011602 052777 0006400 170116 BIS #MRESET,ATXCSR  ;MASTER RESET
(2) 011610 012777 020000 170104 MOV #SYNEXT.PARCSR :SET THE MODE
23; 011616 052777 000400 170102 BIS MMRESET.ATXCSR :MASTER RESET
(2) ;SET MAINT DATA,CLK,BREAK,EMAINTENANCE MODE
gg; 011624 012777 064001 170074 MOV #MTOATA' CLK 'MINT !BREAK ,aTXCSR
(2) ;SET MODE ,# OF BITS,PARITY SENSE,BLOAD SYNC REG
(2) 011632 012777 024000 170062 MOV #SYNEXT!SEVEN'NOPAR'0,@PARCSR
(1) 011640 052777 000020 170044 BIS #SYNSCH,@RXCSR -SET SEARCH SYNC
(2) ;POKE CLK TO GET LOGIC iNTO SYNCRONIZATION
(2) 011646 062777 020000 170052 BIC #CLK,3TXCSR :POKE CLK DOWN
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CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 00564
(2) 011654 052777 020000 170044 BIS #CLK,@TXCSR :POKE CLK UP
011662 016703 170030 MOV RXDBUF ,R3 ‘SET UP FOR ERROR MESSAGE
011666 012700 000125 MOV c1zs ab SEXPECTED
011672 012767 000007 167222 MOV 4 OF SHIFTS
011700 012767 000125 167572 MOV ¢1és srnp1 ‘DATA CHAR
011706 004767 005110 JSR PC,RPOKE SSHIFT IN THIS CHAR
011712 105777 167774 TSTB  @RXCSR :;RXDONE ?
011716 100401 BM] . +4
011720 104004 ERROR & :RXOONE SHOULD BE SET
011722 017701 167770 MOV aRXDBUF ,R1 ACTUAL
011726 020001 CMP RO,R1  ;COMPARE EXPECTED VS. ACTUAL
011730 001401 BEQ Ry
011732 104002 ERROR 2 sRECEIVED DATA DID NOT MATCH
SEXPECTED DATA = CHECK MAINT DATA
*OR RECEIVER LOGIC
011734 012767 000007 167160 MOV #7,SHIFT’ .8 OF SHIFTS
011742 012767 000125 167530 MOV #1285 ,$THP1 :DATA CHAR
011750 004767 005046 JSR PC,RPOKE SSHIFT IN THIS CHAR
:NOW SHIFT IN A sscouo CHARACTER W] THOUT RCADING RXDBUF
011754 012767 000007 167140 MOV SHIFT ;4 OF SHIFTS
011762 012767 000125 167510 MOV 4125 STMPI :DATA CHAR
011770 004767 005026 JSR PC ,RPOKE SSHIFT IN THIS CHAR
0117726 012700 140125 MOV #140000'125,R0 :EXPECTED DATA PLUS
:RXERR & OVRRUN
012000 017701 167712 MOV aRXDBUF ,R1 *ACTUAL
012004 020001 CMP RO,R1  ;COMPARE EXP VS. ACT
012006 001401 BEQ L+
012010 104002 ERROR 2 :SPECIFICALLY LOOK AT RXERR &

;OVRRUN BITS...THEY BOTH SHOULD BE SET

:sTHIS TEST VERIFYS WORD LENGTH SELECT OF THE
s;RECEIVER SECTION,1T USES THE ERROR FLAGS
::TO DETERMINE THAT [T WAS SELECTED CORRECTLY
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- : (OVRRUN,RXERR)
:2MODE : SYNEXT
*SLENGTH:SEVEN
::C AR:52
. tttttttttttttttttttttiittt'tt'ttttttt'ttttttt'ttti'ttttttﬁt'ttt
012012 000004 7S730: SCOPE
012014 052777 000400 167704 BIS #MRESEY,ATXCSR  ;MASTER RESET
012022 012777 020000 167672 MOV #SYNEXT.@PARCSR :SET THE MODE
012030 052777 000400 167670 BIS MMRESET.STXCSR :MASTER RESET
:SET MAINT DATA,CLK,BREAK,CMAINTENANCE MODE
012036 012777 064001 167662 MOV #MTOATA!CLK'MINT!BREAK,3TXCSR
+SET MODE .# OF BITS,PARITY SENSE.CLOAD SYNC REG
012044 012777 024000 167650 MOV #SYNEXT!SEVEN!NOPAR'0,aPARCSR
012052 052777 000020 167632 BIS #SYNSCH,ARXCSR :SET SEARCH SYNC
:POKE CLK TO GET LOGIC INTO SYNCRONIZATION
012060 042777 020000 167640 BIC #CLK,3TACSR :POKE CLK ooun
012066 052777 020000 167632 BIS #CLK, atxcsa :POKE (LK U
012074 016703 167616 MOV RXDBUF ,R3 :SET UP roa ERROR MESSAGE
012100 012700 000052 MOV #52,R0° ;EXPECTED
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CNDURA.M11  29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0055
(1) 012106 012767 000007 167010 MOV 47, SHIFT 4 OF SHIFTS
(1) 012112 012767 000052 167360 MOV #59,8TMPI SDATA CHAR
(1) 012120 004767 004676 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 012126 105777 167562 TSTB  @RXCSR ;RXDONE ?
(1) 012130 100401 BMI . +4
(1) 012132 104004 ERROR & ;RXDONE SHOULD BE SET
(1) 012136 017701 167556 MOV aRXDBUF , R1 *ACTUAL
(1) 012140 020001 CMP RO,R1  ;COMPARE EXPECTED VS. ACTUAL
(1) 012162 001401 BEQ R
(1) 012144 104002 ERROR 2 ;RECEIVED DATA DID NOT MATCH
(1 SEXPECTED DATA = CHECK MAINT DATA
(1) :OR RECEIVER LOGIC
(1) 012146 012767 000007 166746 MOV N7, SHIFT :# OF SHIFTS
(1) 012154 012767 000052 167316 MOV #52,$TMP1 :DATA CHAR
(1) 012162 004767 004634 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) ;NOW SHIFT IN A SECOND CHARACTER WITHOUT READING RXDBUF
(1) 012166 012767 000007 166726 MOV #7 SHIFT :# OF SHIFTS
(1) 012174 012767 000052 167276 MOV #52,8TMP1 :DATA CHAR
(1) 012202 004767 004614 JSR PC,RPOKE SSHIFT IN THIS CHAR
(1) 012206 012700 140052 MOV #140000'52,R0  EXPECTED DATA PLUS
(1) :RXERR & OVRRUN
(1) 012212 017791 167500 MOV aRXDBUF ,R1 *ACTUAL
(1) 012216 020001 CMP RO.R1  :COMPARE EXP VS. ACT
(1) 012220 001401 BEQ . +4
(1) 012222 104002 ERROR 2 ;SPECIFICALLY LOOK AT RXERR &
i}; sOVRRUN BITS...THEY BOTH SHOULD BE SET
8176
(2) JEND OF PASS
(2) sTYPE NAME OF TEST
(2) JUPDATE PASS COUNT
(2) SCHECK FOR EXIT TO ACT=11
55; ‘RESTART TEST
(2) 012224 000004 .EOP:  SCOPE
(2) 012226 004767 000340 JSR PC,CKSWR
(2) 012232 104401 TYPE ;TYPE NAME OF TEST
(2) 01223¢ 015362 MEPASS
(2) 012236 104413 012470 CONVRT ,OUTCRY
(2) 012242 104401 015201 TYPE  .DEVICE
(2) 012246 105767 166700 TSTB  MULTD  :;ARE YOU RUNNING MULTIPLE DEVICES ?
(2) 012252 001511 BEQ cce *NO, JUMP AROUND
(2) 012254 005767 166706 13 ACTREG -ARE ANY DEVICES ACTIVE ?
(2) 012260 001007 BNE RUNIT  :YES
(2) 012262 104401 015213 TYPE  ,MCOW  :NO
(2) 012266 016700 166674 MOV ACTREG,RD :DISPLAY ACTREG
(2) 012272 000000 HALT <SELECT SOMETHING TO RUN @ ACTREG:
(2) SSELECT SWITCHES © HIT CONTINUE (PUT SWO0 =1)
(2) 012274 000167 167652 IMp .START ;START OVER AGAIN......YOU DESELECTED EVERYTHING
(2) 012300 062767 000010 166646 RUNIT: ADD #10,BASEADD :NEXT BLOCK (ADDRESSES)
(2) 012306 062767 000010 166646 ZERO:  ADD #10.BASEIV SNEXT BLOCK (VECTORS)
(2) 012314 000241 cLe
(2) 012316 006167 166646 ROL ROTADD ;UP DATE ROTATING POINTER
(2) 012322 103410 BCS 28 218 1T THE LAST DEVICE
(2) <10 BE TESTED IN THIS PASS ?
(2) 012326 036767 166640 166634 BIT ROTADD,ACTREG  ;TEST THIS DEVICE FOR ACTIVE STATUS
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CNDURA.M11 29-0CT-82 16:31 INITIALIZE THE COMMON TAGS SEQ 0056
(2) 012332 001762 BEQ RUNIT  :IF NOT ACTIVE, TRY NEXT ADDRESS
(2) 01233« 004767 000034 JSR PC,REPLAY :CALCULATE NEW PARAMETERS
(2) 012340 000167 000210 JMP RESTRT YES IT WAS ACTIVE,TEST THIS DEVICE
(2) 012344 012767 000001 166616 28: MOV #1,ROTADD :0K!.NOW SET UP ROTATING
(2) :POINTER FOR NEXT MULTIPLE PASS
(2) 012352 016767 166600 166574 MOV KEEPADD,BASEADD ;RESTORE BASE ADDRESS
(2) 012360 016767 166600 166574 MOV KEEPIV,BASEIV  :RESTORE BASE INTERRUPT VECTORS
(2) 012366 004767 000002 JSR PC,REPLAY :CALC NEW PARAMETERS
(2) 012372 00044) B8R cce ; JUMP AROUND REPLAY
(2) 012376 016767 166554 004416 REPLAY: MOV BASEADD,DUBASE ;SET UP FOR NEW ADDRESSES
(2) 012402 004767 004260 JSR PC,DUADDR *CREATE NEW ADDRESSES
(2) 012406 016767 166550 167322 MOV BASEIV,DURIV  :CREATE DURIV
(2) 012414 062767 000002 166540 ADD #2.,BASELV
(2) 012422 016767 166536 167310 . MOV BASEIV,DURIS  ;CREATE DURIS
(2) 012430 062767 000002 166524 ADD #2,BASEIV
(2) 012636 016767 166520 167276 MOV BASEIV.OUTIV  ;CREATE DUTIV
(2) 012446 062767 000002 166510 ADD #2,BASEIV
(2) 012452 016767 166504 1c7264 MOV BASEIV,DUTIS  ;CREATE DUTIS
(2) 012460 016767 167252 166474 MOV DURIV,BASEIV  ;RESTORE
55; 012466 000207 RTS pC
(2) 012470 000001 OUTCRY: 1
(2) 012472 006 002 .BYTE 6,2
25; 012474 001712 RXCSR
(2) 012476 ccc:

(2) 012476 005067 166700 CLR STSTNM :CLEAR TEST NUMBER
(2) 012502 005067 166710 CLR $ERRPC JCLEAR LAST ERROR P(C
(2) 012506 005067 166671 CLR $ERFLO JCLEAR ERROR FLAG
(2) 012512 005267 166374 INC PASCNT :UPDATE PASS COUNT
(2) 012516 016767 166370 166356 MOV PASCNT,LIGHTS SDISPLAY PASS COUNT
(2) 012524 016767 166362 167002 MOV PASCNT . SPASS :PASS COUNT TO APT
(2) 012532 013701 000042 MOV ani2 i SCHECK FOR ACT-11 OR DDP
(2) 012536 001406 BEQ RESTRY ;IF NO CONTINUE TESTING

(2) 012540 000005 RESET

(2) 012542 000005 RESET

(2) 012544 004711 SENDAD: JSR PC,(R1)

(2) 012546 000240 NOP

(2) 012550 000240 NOP

(2) 012552 000240 NOP

(2) 012554 RESTRT:

(2) 012554 012767 003376 166624 MOV #TST1¢2,8LPADR ;LOAD LAST ADDR

(2) 012562 004767 000004 JSR PC,CKSWR

f%; 012566 000167 170516 JMP .BEGIN

(2) ;CHECK SWITCH REGISTER ROUTINE.

(2) “CHECKS TO ALLOW FOR <“G> TO ALLOW

553 :THE CHANGING OF LOCATION 176

(2) 012572 005737 000042 CKSWR: TST a2

(2) 012576 001040 BNE ouT

(2) 012600 022767 000176 166632 CMP #SWREG, SWR :SOFTWARE SWR PRESENT?

(2) 012606 001034 BNE out *NO~~LEAVE

(2) 012610 105777 166630 1ST8 @$TKS SCHECK TTY READY

(2) 012614 100031 BPL ouT *NO-=LEAVE

(2) 012616 017767 166626 000422 MOV a$TkB, .MSG *GET CHARACTER
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CNDURA M1 29-0CT-82 16:3 INITIALIZE THE COMMON TAGS SEQ 0057
(2) 012624 042767 177600 000414 81C #177600, .MSG sSTRIP JUNK
012632 122767 000007 000406 CMP8 #7,.MS6 SIS IT <*6> ?
012640 001017 BNE out +NO
012642 104401 015767 TYPE MCNTG
012646 005137 012706 CNTLU: COM a#RDSY
012652 104401 015777 TYPE MMSWR
012656 104413 CONVRT
012660 012710 SWREGL
012662 104406 016010 INSTR ,MMNEW
012666 104410 PARAM
012670 000000 0
012672 177777 177777
012674 000176 SWREG
012676 000 001 .BYTE 0,1
012700 005037 012706 ouT: CLR a#RDSY
012704 000207 RTS PC
012706 000000 RDSW: .WORD O
012710 000001 SWREGL: 1
012712 006 002 .BYTE 6.2
012714 000176 SWREG
012716 000005 5
;CHECK FOR FREEZE ON CURRENT DATA
012720 004767 177646 .SCOP1: JSR PC,CKSWR
012724 032777 001000 166506 BIT #5W09,aSWR
012732 001402 BEQ 1$
012734 016716 166150 MOV LOCK, (SP)
012740 000002 18: RTI

.SBTTL TYPE ROUTINE

IAAAALAA AR AAA AL AAARAAAAAARAAARRR ARSI AARAAARAARARALRAL DAl

'ROUTINE TO TYPE ASCIZ MESSAGE. MESSAGE MUST TERMINATE WITH A 0 BYTE.
;«THE ROUTINE WILL INSERT A NUMBER OF NULL CHARACTERS AFTER A LINE FEED.

R Y e el el ettt et etatatateatetatata ot e
MO AINLNLNINL NI RN AN NI NI AININI N AL NN NI NN NN RN NN N N N NI N = A RININ N NN AN R NN NN AN N NN NN
R R s i R R i i s s s e R s i e e R

*NOTEI SNULL CONTAINS THE CHARACTER TO BE USED AS THE FILLER CHARACTER.

tNOTEZ SFILLS CONTAINS THE NUMBER OF FILLER CHARACTERS REQUIRED.

:*NOTE3: $FILLC CONTAINS THE CHARACTER TO FILL AFTER.

°t

J*CALL:

t1) USING A TRAP INSTRUCTION

OR TYPE +MESADR ::MESADR IS FIRST ADDRESS OF AN ASCIZ STRING

t

;' TYPE

ot MESADR

:t
012742 105767 166511 $TYPE: 18718 $TPFLG 2:1S THERE A TERMINAL?
012746 100002 BPL 1% 2:BR [F YES
012750 000000 HALT ..HALT HERE 1F NO TERMINAL
012752 000430 B8R bt 3 LEAVE
012754 010046 1$: MOV RO,~(SP) SAVE RO
012756 017600 000002 MOV 82(sP) RO ..GET ADDRESS OF ASCIZ STRING
012762 122767 000001 166556 C(MPB #APTENV,SENV J:RUNNING IN APT MODE
012770 0010M BNE 62% J2NO,.GO CHECK FOR APT CONSOLE
012772 132767 000100 166547 8IT8 #APTSPOOL ,SENVM ; :SPOOL MESSAGE TO APT
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CNDURA . M11 29-0(T-82 16:31 TYPE ROUTINE SEQ 0058
(2) 013000 001405 BEQ 62% ;:NO,GO CHECK FOR CONSOLE
(2) 013002 010067 000004 MOV RO,61% ;:SETUP MESSAGE ADDRESS FOR APT
(2) 013006 004767 164776 JSR PC,S8ATYS ::SPOOL MESSAGE TO APT
(2) 013012 000000 LMORD O ;s sMESSAGE ADDRESS
(2) 013014 132767 000040 166525 BITB #APTCSUP,SENVM ;:APT CONSOLE SUPPRESSED
(2) 013022 001003 BNE 60% :YES,SKIP TYPE OUT
(2) 013024 112046 MOve (RO)+,=-(SP) :PUSH CHARACTER TO BE TYPED ONTO STA(K
(2) 013026 001005 BNE (% 22BR IF IT ISN'T THE TERMINATOR
(2) 013030 005726 TST (SP)+ :21F TERMINATOR POP IT OFF THE STACK
(2) 013032 012600 MOV (SP)+, .0 :;RESTORE RO
(2) 013034 062716 000002 ADD #2,(SP) ;:ADJUST RETURN PC
(2) 013040 000002 RTI : RETURN
(2) 013042 122716 000011 CMPB #HT, (SP) ;;BRANCH IF <HT>
(2) 013046 001430 B8EQ 8s
(2) 013050 122716 000200 (MPB #CRLF , (SP) ::BRANCH IF NOT <CRLF>
(2) 013054 001006 BNE 5%
(2) 013056 005726 ST (SP)+ ::POP  <CR><LF> EQUIV
(2) 013060 104401 TYPE :;TYPE A CR AND LF
(2) 013062 001523 SCRLF
(2) 013064 105067 000130 CLRB SCHARCNT ::CLEAR CHARACTER COUNT
(2) 013070 000755 BR P4 3 ::GET NEXT CHARACTER
(2) 013072 004767 000056 JSR PC.STYPEC 2:G0 TYPE THIS CHARACTER
(2) 013076 126726 166354 (MPB SFILLC,(SP)+ J2IS IT TIME FOR FILLER CHARS.?
(2) 013102 001350 BNE 2% Js1F NO GO GET NEXT (HAR.
(2) 013104 016746 166344 MOV $NULL ,=(SP) J:GET # OF FILLER CHARS., NEEDED
(2) J3AND THE NULL CHAR,
(2) 013110 105366 000001 DECB 1(SP) :;DOES A NULL NEED TO BE TYPED?
(2) 013114 002770 BLT 6$ ::BR IF NO==GO POP THE NULL OFFf OF STA(K
(2) 013116 004767 000032 JSR PC,STYPEC 2260 TYPE A NULL
(2) 013122 105367 000072 DECB $CHARCNT :.;D0 NOT COUNT AS A COUNT
:g; 013126 000770 B8R 7% ;. LOOP
zs; :HORIZONTAL TAB PROCESSOR
(2) 013130 112716 000040 MOV8 £ ,(SP) J:REPLACE TAB WITH SPACE
(2) 013134 004767 000014 JSR PC,8TYPEC J;TYPE A SPACE
(2) 013140 132767 000007 000052 BIT8 87 ,8CHARCNT J:BRANCH IF NOT AT
(2) 013146 001372 BNE 9% ::TAB STOP
(2) 013150 005726 ST (SP) ¢ ;sPOP SPACE OFF STA(CK
(2) 013152 000724 BR 2% J:GET NEXT CHARACTER
(2) 013154 105777 166270 $STYPEC: TST1B asTPS J:WALT UNTIL PRINTER IS READY
(2) 013160 100375 8PL STYPEC
g%; 013162 116677 000002 166262 MOve 2(SP),a8TPB ::LO0AD CHAR TO BE TYPED INTO DATA REG.
(2) 0131720 122766 000015 000002 #CR,2(SP) ;1S CHARACTER A CARRIAGE RETURN?
(2) 013176 001003 BNE 18 :;BRANCH ]F NO
(2) 013200 105067 000014 (LRB $CHARCNT J:YES==CLEAR CHARACTER COUNT
(2) 013204 000406 B8R STYPEX JIEXITY
(2) 013206 122766 000012 000002 (MPB #LF ,2(SP) 221S CHARACTER A LINE FEED?
(2) 013214 001402 BEQ STYPEX ::BRANCH IF YES
(2) 013216 105227 INCB (PC)e J:COUNT THE CHARACTER
(2) 013220 000000 $CHARCNT: .WORD O JSCHARACTER COUNT STORAGE
gs; 013222 000207 $TYPEX: RTS PC
(2)
(2)



CNDUR=A MACY11 30(1046) 14=~DEC~82 09:58 PAGE 61-45
CNOURA . M11 29-0(T1-82 16:31 TYPE ROUTINE SEQ 0059

(2)

gg; ;ASCII STRING INPUT ROUTINE

(2) 013224 017667 000000 000014 .INSTR: MOV (SP), .MSG :PICK UP MESSAGE

(2) 013232 062716 000002 ADD #2, (SP) SJUMP AROUND MESSAGE FOR RT]
(2) 013236 105767 166304 TST8  SENV *APT CONTROL

(2) 013242 001036 BNE INSTR2 SYES NO TYPE

(2) 0132644 104401 JINST1: TYPE

(2) 013246 000000 msG: 0

(2) 013250 0127064 016022 MOV # INBUF ,R& ;GET STARTING LOC OF INBUF
(2) 013254 012703 000007 MOV #7,R3 ‘MAX # OF CHARS

(2) 013260 105777 166160 18: TST8  asfkS  :TTY FLAG

(2) 013264 100375 BPL 18

(2) 013266 117714 166154 MOVB  @$TKB, (R4) ;TAKE CHAR

(2) 01327¢ 142714 000200 BICB  #200, (R&) *STRIP

(2) 013276 121427 000025 (MPB  (R4).#25 YIS IT <G>

(2) 013302 001760 BEQ JINSTY

(2) 013304 122427 000015 CMPB  (R4)+, #15 ;CHECK FOR CR

(2) 013310 001413 BEQ INSTR2

(2) 013312 105777 166132 28: TSTB  @STPS  ;TEST FLAG

(2) 013316 100375 BPL 28

(2) 013320 117777 166122 166124 MOVE  3$TKB.asTPB ;ECHO CHARACTER

(2) 013326 005303 DEC R3 :DID YOU TYPE TOO MANY CHARS ?

(2) 013330 001353 BNE 1%

(2) 013332 104401 JINSTE: TYPE

(2) 01333¢ 015307 MOM :?

(2) 013336 000742 BR "INST1  :RETRY

gs; 013340 000002 INSTR2: RTI

53; ;CONVERT ASCII STRING TO OCTAL

(2) 013342 011605 .PARAM: MOV (SP),RS ;PUT CONTENTS OF SP INTO RS

(2) 013344 012567 000162 MOV (RS)+,LOLIM ;PUT LOW LIMIT INTO LOLIM
(2) ~*3350 012567 000160 MOV (RS)+ HILIN SPUT HIGH LIMIT INTO HILIM
(2) 013354 012567 000156 MOV (R5)+.DEVADR  :PUT STORE LOC INTO DEVADR
(2) 013360 112567 000154 MOVB  (RS)+.LOBITS  :PUT MASK INTO LOBITS

(2) 013364 112567 000151 MOVB  (RS)+.ADRCNT  :PUT COUNT INTO ADRCNT

(2) 013370 010516 MOV RS, (SP) :RESTORE RETURN ADDR ON STACK FOR RT]
(2) 013372 005005 PARAMT: CLR RS

(2) 0133724 012704 016022 MOV #INBUF ,RG

(2) 013400 122714 000015 (MP8  #15, (R&) :CR ?

(2) 013404 001420 B8EtQ PARERR ;YOU TYPED CR TOO SOON !

(2) 013406 121427 000060 18: CMPB  (R&),#60 ;LOW LIMIT ASCIi ©

(2) 013412 002415 BLT PARERR

(2) 013414 121427 000067 (MP8  (R4L), 867 SHIGH LIMIT ASCII 7

(2) 013420 003012 BGT PARERR

(2) 013422 142714 000060 BICB  #60, (R&) :CONVERT TO OCTAL

(2) 013426 152405 BISB  (R4$+,.RS *STORE AWAY ITS AN OK CHAR
(2) 013430 122714 000015 (MP8  #15, (R4) TR ?

(2) 013434 001414 BEQ LIMNETS  :NOW CHECK FOR HIGH CLOW LIMIT CONDS
(2) 013436 006305 ASL RS TALLOCATE ROOM FOR NEXT CHAR

(2) 013440 006305 ASL RS

(2) 013442 006305 ASL RS

(2) 013444 000760 BR 18

(2) 013446 122714 000015 PARERR: CMPB  #15, (R4 ;CR?

(2) 013452 001003 BNE 120§
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(NDURA .mM11 29-0(71~82 16:3 TYPE ROUTINE SEQ 0060
(2) 013454 005737 012706 TST S4RDSW ;K SWR USED

013460 001023 BNE PART]
013462 104407 1208:  INSTER _RETRY
013464 000742 B8R PARAMT

sTEST TO SEE IF NUMBER IS WITHIN LIMITS
013466 020567 000042 LIMITS: CMP RS, HILIM '
013472 101365 8H] PARERR ;THE # [S TOO MIGH
013476 020567 000032 CMP R5,LOLIM
013500 103762 BLO PARERR -THE # [S TOO LOW
013502 136705 000032 BI18 LOBITS,RS sTEST BY MASKINGTHE #
013506 001357 BNE PARERR

sSTORE NUMBER AT SPECIFIED ADDRESS
013510 016704 000022 MOV DEVADR R4 ;GET STARTING ADDR OF
013514 01052¢ 1$: MOV RS, (R4)¢+ ;STORE AT THIS ADDR
013516 062705 000002 ADD #2,RS
013522 105367 000013 DE(CB ADRCNT  ;HOW MANY TIMES ¢+ 2 ?
013526 001372 BNE 13
013530 000002 PARTI: RTI]
013532 000000 LOLIM: O
013534 000000 HILIM: 0
013536 000000 DEVADR: 0
013540 000000 LOBITS: 0

013541 ADRCNT=LOBITS+1

sSAVE PC OF TEST THAT FAILED AND RO-RS
013542 016667 000006 165356 .SAV0S5: MOV 4(SP),SAVP(

P N A A Y e Y e Y Y. Y . W N Y Y Y Y alalalealealetelatole tatate Yo latalatalaletalalale:
PLRLALNINLNLNLPLALNLNLNLNININLNL NI NN RN N NI NI NI N AL NN NN N NN NI NNV PV NV NN POPVP NI PN VPO RO
N N N et N e et o e et N N Nt Nt Nt Yt Nt et Nt o N st Nt Nt Nt N f Nl N sl Nl st i st Vst N N N NP Nt Nt Vb N b N il N NP b b b

;SAVE RO-RS
013550 010567 165720 Sv0S: MmOV RS.$REGS
013554 0106467 165712 MOV R4 ,$REGS
013560 010367 165704 MOV R3,$REG3
013564 010267 165676 MOV RZ.$REG2
013570 010167 165670 MOV R1,$REG
013576 010067 165662 MOV RO,$REGO
013630 000002 RT]

;RESTORE RO-RS
013602 016700 165654 LRESOS: MoV $REGO,RO
013606 016701 165652 MoV $REG1,R1
013612 016702 165650 MoV $REGZ . R?
013616 016703 165646 mov $REG3,R3 .
013622 016704 165644 [ [8)") $REG4 R4
013626 016705 165642 MOV $REGS RS
013632 000002 RTI

;CONVERT OCTAL NUMBER TO ASCII AND OUTPUT TO TELEPRINTER
013634 104401 .CONVR: TYPE
013636 015313 MCRLF JCR LF
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CNDURA . M11 29-0CT-82 16:31 TYPE ROUTINE SEQ 0061
(2) 013640 017601 000000 MOV 3(sP),.R1 :PICK UP DATA POINTER
(2) 013644 062716 000002 ADD #2,(SP) :SET UP SP FOR RT]
(2) 013650 012167 000130 MOV (RT)+,WRDCNT ~ :PICK UP # OF WORDS FROM TABLE
() 013654 112167 000126 18: MOVB  (R1)+.CHRCNT  :PICK UP # OF CHARS FROM TABLE
(2) 013660 112167 000123 MOVB  (R1)+.SPACNT  :PICK UP # OF SPACES FROM TABLE
(2) 013664 013167 000120 MOV 3(R1)+,BINWRD  :PICK UP ADDRESS OF MSG
() “FROM TABLE
(2) 013670 016704 000114 28: MOV BINWRD ,R& : SAVE
(2) 013674 116705 000106 MOVB  CHRCNT.RS < SAVE
(2) 013700 012700 016064 MOV #TEMP,RO :STARTING ADDRESS OF TEMP BLOCK
(2) 013704 010403 38: MOV R4 ,R3 +SAVE
(2) 013706 042703 177770 BIC #1%7770,R3 :CLR OUT UPPER BITS .. SAVE CHAR
(2) 013712 062703 000260 ADD #260,R3 :CONVERT TO ASCII
() 013716 110320 MOVB  R3,(RO)e ;STORE AWAY
(2) 013720 006204 ASR R& :SHIFT FOR NEXT #
(2) 013722 006204 ASR R4 :DITTO
(2) 013724 006204 ASR n4 :DITTO
(2) 013726 005305 DEC :DEC CHAR COUNT
(2) 013730 001365 BNE 3: D0 IT AGAIN ?
(2) 013732 012703 01€126 MOV #MDATA RS :STARTING ADDRESS OF MDATA BLOCK
() 013736 114023 4$: MOVB  -(RO),(R3)+ “REVERSE THE ORDER OF NUMBERS
(2) 0137240 105367 000042 DECB  CHRCNT :DEC CHAR COUNT
(2) 013744 001374 BNE i :D0 IT AGAIN ?
(2) 013746 105767 000035 TSTB  SPAUNT ;HOW MANY SPACES ?
(2) 013752 001405 BEQ 6 STYPE # [F BR =0
(2) 013754 112723 000240 58 MOVB  #240, (R3)+ ;'SPACE'* IN ASCII
(2) 013760 105367 000023 DECB  SPACNT :DEC # OF SPACE COUNT
(2) 013764 001373 BNE 13 :00 IT AGAIN
(2) 013766 105013 6$: CLRB  (R3) - INSERT o"ron TTY OUTPUT ROUTINE
(2) 013770 104401 TYPE
(2) 013772 016126 MDATA  :;THIS MESSAGE
(2) 013774 005367 000004 DEC WRDCNT  :HOW MANY #°'S 2
(2) 014070 001325 BNE 18 :DO THIS ROUTINE AGAIN [F NOT EQUAL TO O
(2) 014002 000002 RT] ;RETURN TO PROGRAM
(2) 014004 000000 WRDCNT: 0
(2) 014006 000000 CHRCNT: 0
(2) 014007 SPACNT=CHRCNT +1
gs; 014010 000000 BINWRD: 0
(2) :COMPARE THE FIRST CHARACTER IN THE TELETYPE INPUT
(2) :BUFFER TO THE CHARACTERS “N'* AND "Y',
(2) SIF THE CHARACYER IS ''N'‘ CLEAR THE FLAG
55; SIF THE CHARACTER IS *°Y'* SET THE FLAG
(2) 014012 017605 000000 .SETFLG:MOV a(SP) RS
(2) 0164016 122767 000116 001776 CMP8  #°'N, INBUF SIS IT W2
(2) 014024 001002 BNE 18
(2) 014026 105015 CLRB  (RS) ;000
(2) 014030 000406 BR 2
(2) 014032 122767 000131 001762 1$: CMPB  #°'Y, INBUF SIS 1T oy 2
(2) 016040 001005 BNE 3s
(2) 014042 112715 1772777 MOVB  #-1,(RS) ;377
(2) 016046 062716 000002 2s: ADD #2,(SP)
(2) 014052 000002 RTI
(2) 014054 104407 3s: INSTER  :RETRY
(2) 014056 000755 BR "SETFLG
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CNDURA . M11 29-0C7-82 16:31 ERROR HANDLER ROUTINE SEQ 0062

é%; .SBTTL ERROR HANDLER ROUTINE

(3) R g e e R A E i el
(2) s*THIS ROUTINE WILL INCREMENT THE ERROR FLAG AND THE ERROR COUNT,
(2) :«SAVE THE ERROR ITEM NUMBER AND THE ADDRESS OF THE ERROR CALL
(2) ;*AND GO TO SAVIT ON ERROR

(2) s*THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:

(2) s+SW15=1 HALT ON ERROR

(2) s*SW13=1 INHIBIT ERROR TYPEOUTS

(2) seSW10=1 BELL ON ERROR

(2) ;*SW09=1 LOOP ON ERROR

(2) s*CALL

(%g A ERROR N ;s sERROR=EMT AND N=ERROR ITEM NUMBER

(

(2) 014060 $ERROR:

(2) 014060 105267 165317 7$: INCB SERFLG ssSET THE ERROR FLAG

(2) 014064 001775 8EQ 7$ :sDON'T LET THE FLAG GO TO ZERO
(2) 014066 016777 165310 165346 MOV STSTNM,aDISPLAY ;;DISPLAY TEST NUMBER AND ERROR FLAG
(2) 0140746 032777 002000 165336 BIT #8IT10,85uR ssBELL ON ERROR?

(2) 014102 001402 BEQ 18 J:NO - SKIP

(2) 0141046 104401 001516 TYPE +SBELL :sRING BELL

(2) 014110 005267 165276 1$: INC SERTTL :+sCOUNT THE NUMBER OF ERRORS

(2) 014114 011667 165276 MOV (SP) ,$ERRPC ssGET ADDRESS OF ERROR INSTRUCTION
(2) 014120 162767 000002 165270 sSu8 #2,SERRP(

(2) 014126 117767 165264 165260 MOVB @SERRPC,SITEMB ;:STRIP AND SAVE THE ERROR ITEM CODE
(2) 014134 032777 020000 165276 8IT #81T13,aSWR s+SKIP TYPEQUT IF SET

(2) 014142 001004 BNE 20% JsSKIP TYPEQUTS

(2) 016144 004767 000072 JSR PC,SAVIT 2:G0 TO USER ERROR ROUTINE

(2) 014150 104401 001523 TYPE +SCRLF

(2) 0146154 20$:

(2) 0146154 122767 000001 165364 CMPB #APTENV,SENV :sRUNNING IN APT MODE

(2) 014162 001007 BNE 2% ::NO,SKIP APT ERROR REPORT

(2) 0146164 116767 165224 000004 MOVB $I1TEMB,21$ ssSET ITEM NUMBER AS ERROR NUMBER
(2) 014172 004767 163620 JSR PC,SATYL :¢REPORT FATAL ERROR TO APT

(2) 014176 000 21$: .BYTE 0

(2) 014177 000 BYTE 0

(2) 014200 000777 22%: BR 22% ;:APT ERROR LOOP

(2) 0164202 005777 165232 2$: TST aSWR JsHALT ON ERROR

(2) 014206 100001 BPL 3s ::SKIP IF CONTINUE

(2) 0164210 000000 HALT ssHALT ON ERROR!

(2) 014212 032777 001000 165220 3$: BIT #B81709,aSWR ::LO0OP ON ERROR SWITCH SET?

(2) 014220 001402 ) BEQ 4 ;:8R [F NO

(2) 014222 016716 165162 MOV $LPERR, (SP) :sFUDGE RETURN FOR LOOPING

(2) 014226 005767 165262 43: TST SESCAPE :sCHECK FOR AN ESCAPE ADDRESS

(2) 014232 001402 BEQ 5% ::8R ]F NONE

sg; 8}2528 016716 165254 53 MOV $ESCAPE, (SP) :sFUDGE RETURN ADDRESS FOR ESCAPE
(2) 016240 000002 RTI : sRETURN

(2) 014242 010067 164662 SAVIT: MOV RO,HLDO

(2) 016266 010167 164660 MOV R1,HLD1T

(2) 014252 010267 164656 MOV R2,HLDZ

(2) 014256 010367 164654 MOV R3,HLD3

(2) 016262 010467 164652 MOV R4 ,HLDSG

(2) 014266 010567 164650 MOV R5,HLDS

gs; 014272 016767 165104 164644 MOV $TSTNM, HLDG
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CNDURA .M 29-0CT-82 16:31 ERROR MESSAGE TYPEOUT ROUTINE SEQ 0063

.SBTTL ERROR MESSAGE TYPEOUT ROUTINE

P W
W
-

(l‘) : ;ttt'ttt'tttttttttttttt'tttttttttttttittttttttttttttttttttttt L X 2 ]

(3) :%THIS ROUTINE USES THE *'ITEM CONTROL BYTE'* (SITEMB) TO DETERMINE WHICH

3 SeERROR IS TO BE REPORTED. [T THEN OBTAINS, FROM THE 'ERROR TABLE'®* (SERRTB),

5%; :«AND REPORTS THE APPROPRIATE INFORMATION CONCERNING THE ERROR.

(3) 014300 SERRTYP: . 5

(3) 014300 104401 001523 TYPE  ,SCRLF ::"'CARRIAGE RETURN'' & ''LINE FEED

(3) 014304 010046 MOV RO, ~(SP) :3SAVE RO

(3) 014306 005000 CLR RO ::PICKUP THE ITEM INDEX

(3) 014310 153700 001414 BISB  a#SITEMB.RO

(3) 014314 001004 BNE 18 :;IF ITEM NUMBER IS 2ERO, JUST

(3) +:TYPE THE PC OF THE ERROR

(&) 014316 016746 165074 MOV $ERRPC,-(SP)  ::SAVE SERRPC FOR TYPEOUT

(4) ::ERROR ADDRESS

(4) 014322 104402 TYPOC 2360 TYPE--OCTAL ASCII(ALL DIGITS)

(3) 014324 000426 BR 6$ <iGET ouT

(3) 014326 005300 1%: DEC RO S3ADJUST THE INDEX SO THAT IT wiLL

(3) 014330 006300 ASL RO Iy WORK FOR THE ERROR TABLE

(3) 014332 006300 ASL RO

(3) 014334 006300 ASL RO

(3) 014336 062700 001652 ADD #S$ERRTB,RO ;;FORM TABLE POINTER

(3) 014342 012067 000004 MOV (RO)+,28$ ::PICKUP ERROR MESSAGE'* POINTER

(3) 014346 001404 BEQ 3$ $3SKIP TYPEOUT IF NO POINTER

(3) 014350 104401 TYPE ::TYPE THE '‘ERROR MESSAGE'*

(3) 014352 000000 28: WORD O ::"ERROR MESSAGE'' POINTER GOES HERE

(3) 014354 104401 001523 TYPE  ,S$CRLF ::"'CARRIAGE RETURN'' & '‘LINE FEED’

(3) 014360 012067 000004 3s: MOV (RO)+ 48 ::PICKUP "DATA HEADER'® POINTER

(3) 014364 001404 BEQ 5¢ ::SKIP TYPEOUT IF 0

(3) 014366 104401 TYPE SSTYPE THE 'DATA HEADER''

(3) 014370 000000 48: .WORD O ::'DATA HEADER'' POINTER GOES HERE

(3) 014372 104401 001523 TYPE  ,S$CRLF ::'CARRIAGE RETURN'' § 'LINE FEED"

(3) 014376 011000 5% MOV (RO) ,RO SPICKUP "DATA TABLE'* POINTER

(3) 014400 0010064 BNE 7s $3G0O TYPE THE DATA

gg; 014402 012600 6$: MOV (SP)+,R0 :SRESTORE RO

(3) 0144064 104401 001523 TYPE  ,SCRLF ::""CARRIAGE RETURN'' € "‘LINE FEED'’

(3) 014410 000207 RTS PC :;RETURN

(3) 014412 78:

(&) 014412 013046 MOV 3(RO) ¢+ ,=-(SP) ::SAVE a(RO)+ FOR TYPEOUT

(L) 014414 104402 TYPOC 2360 TYPE=-OCTAL ASCII(ALL DIGITS)

(3) 014416 005710 ST (RO) 23 1S THERE ANOTHER NUMBER?

(3) 014420 001770 BEQ 6% :BR IF NO

(3) 014422 104401 014430 TYPE 8s ::TYPE TWO(2) SPACES

(3) 014426 000771 BR 7 < :LOOP

(3) 014430 020040 000 8s: ASCIZ 7/ ::TWO(2) SPACES

%3] 014434 -EVEN

gg; .SBTTL BINARY TO OCTAL (ASCII) AND TYPE

(3) :.'ttttttttQttttt'tttt'ttt'ttQt'tttt.l"tttttt'tttlttttttttitttttt

(2) “*THIS ROUTINE IS USED TO CHANGE A 16-BIT BINARY NUMBER TO A 6=DIGIT

(2) *«0CTAL (ASCII) NUMBER AND TYPE IT,

sg; ;tgxzfos---snrea HERE TO SETUP SUPPRESS ZEROS AND NUMBER OF DIGITS TO TYPE
M :

(2) ‘e MOV NUM, = (SP) : :NUMBER TO BE TYPED
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CNDURA.M11  29-0CT-82 16:31 BINARY TO OCTAL (ASCII) AND TYPE SEQ 0064
(2) se TYPOS .- CALL FOR TYPEOUT
(2) e .BYTE N t:N=1 TO 6 FOR NUMBER OF DIGITS TO TYPE
(2) e BYTE M tiM=1 OR 0
(2) te ::1=TYPE LEADING ZEROS
gg; e ::0=SUPPRESS LEADING ZEROS
.t
(2) 1 «$TYPON----ENTER HERE TO TYPE OUT WITH THE SAME PARAMETERS AS THE LAST
(2) 1«$TYPOS OR $TYPOC
(2) *CALL
(2) e MOV NUM,~(SP) : :NUMBER TO BE TYPED
25; e TYPON $:CALL FOR TYPEOUT
.*
53; -g;{foc---enren HERE FOR TYPEOUT OF A 16 BIT NUMBER
%
(2) e MOV NUM,=(SP) : :NUMBER TO BE TYPED
gg; e TYPOC :3CALL FOR TYPEOUT
(2) 014434 017646 000000 $TYPOS: MOV a(SP),~(SP) ::PICKUP THE MODE
(2) 014440 116667 000001 000211 MOVB  1(SP),SOFILL  :;LOAD ZERC FILL SWITCH
(2) 014446 112667 000207 MOVEB  (SP)+.SOMODE+1 ::NUMBER OF DIGITS TO TYPE
(2) 014452 062716 000002 ADD #2,(SP) 1:ADJUST RETURN ADDRESS
(2) 0164456 000406 BR STYPON
(2) 014460 112767 000001 000171 S$TYPOC: MOVB  #1,8OFILL :3SET THE ZERO FILL SWITCH
(2) 014466 112767 000006 000165 MOVB  #6.SOMODE +1 P3SET FOR SIX(6) DIGITS
(2) 014476 112767 000005 000154 S$TYPON: MOVB  #5.S$OCNT P3SET THE ITERATION COUNT
(2) 014502 010346 MOV R3.-(SP) .,SAVE R3
(2) 014504 010446 MOV R&,=(SP) *SAVE R4
(2) 014506 010546 MOV RS.=(SP) -SAVE RS
(2) 014510 116704 000145 MOVEB  SOMODE+1,Ré4 ZGET THE NUMBER OF DIGITS TO TYPE
(2) 014514 005404 NEG R4
(2) 014516 062704 000006 ADD #6,R4 :sSUBTRACT IT FOR MAX. ALLOWED
(2) 014522 110467 000132 MOVB  R&.$OMODE P3SAVE IT FOR USE
() 014526 116704 000125 MOVEB  SOFILL,R4 $3GET THE 2ERO FILL SWITCH
(2) 014532 016605 000012 MOV 12(SP) RS $:PICKUP THE INPUT NUMBER
(2) 014536 005003 CLR R3 :3CLEAR THE OUTPUT WORD
(2) 014540 006105 1$: ROL RS ::ROTATE MSB INTO °*'C"
(2) 014542 000404 B8R 3 360 DO MSB
(2) 014544 006105 28: ROL RS S:FORM THIS DIGIT
(2) 014546 006105 ROL RS
(2) 014550 006105 ROL RS
(2) 014552 010503 MOV R5,R3
(2) 014554 006103 3s: ROL R3 :3GET LSB OF THIS DIGIT
(2) 014556 105367 000076 DECB  SOMODE S:TYPE THIS DIGIT?
(2) 014562 100016 B8PL 78 S:BR IF NO
(2) 014564 042703 177770 B8IC #177770.R3 $3GET RID OF JUNK
(2) 014570 001002 BNE 43 SSTEST FOR 0
(2) 014572 005704 ST R4 : SSUPPRESS THIS 0?
(2) 014574 001403 8EQ 5¢ ::BR IF YES
(2) 014576 005204 48: INC R4 S:DON'T SUPPRESS ANYMORE 0°S
(2) 014600 052703 000060 8IS #'0,R3 SSMAKE THIS DIGIT ASCII
(2) 014606 052703 000040 58 BIS # R3 SSMAKE ASCII IF NOT ALREADY
(2) 014610 110367 000040 MOVB  R3,8% ::SAVE FOR TYPING
(2) 014614 104401 014654 TYPE 8% $:GO TYPE THIS DIGIT
(2) 014620 105367 000032 78: DECB  $OCNT ::COUNT BY 1
(2) 014626 003347 BGT 2 ‘1 BR IF MORE TO DO
(2) 014626 002402 BLT 68 *iBR IF DONE




- ——— — —-——

N 5
CNDUR=A MACY11 _30(1046) 14=-DEC-82 09:58 PAGE 61-51

CNDURA.M11  29-0CT=-82 16:31 BINARY TO OCTAL (ASCII) AND TYPE SEQ 0065
(2) 014630 005204 INC R4 ;s INSURE LAST DIGIT ISN'T A BLANK
(2) 0164632 000746 BR 28 ;160 DO THE LAST DIGIT

| (2) 014636 012605 6%: MOV (SP)+,RS *RESTORE RS

| (2) 014636 012604 MOV (SP) +.Ré :RESTORE Ré

| () 014640 012603 MOV (SP)+.R3 :*RESTORE R3
(2) 014642 016666 000002 000004 MOV 2(SP) .4 (SP) t3SET THE STACK FOR RETURNING
(2) 014650 012616 MOV (SP)+. (SP)

(2) 014652 000002 RTI : :RETURN

(2) 014654 000 8s: .BYTE 0 1 STORAGE FOR ASCII DIGIT

(2) 014655 000 ‘BYTE 0 :TERMINATOR FOR TYPE ROUTINE
(2) 014656 000 SOCNT: .BYTE 0 $S0CTAL DIGIT COUNTER

(2) 014657 000 $OFILL: .BYTE O 1S2ERO FILL SWITCH

(2) 014660 000000 $OMODE: .WORD 0 ::NUMBER OF DIGITS TO TYPE

:g; :ENTER HERE ON POWER FAILURE

(2)

(2) 014662 $PWRDN:

(2) 014662 010046 .PFAIL: MOV RO,=(SP) ;SAVE RO-RS ON PROCESSOR STACK
(2) 014664 010146 MOV R1.=(SP)

(2) 014666 010246 MOV R2.~(SP)

(2) 014670 010346 MOV R3.-(SP)

(2) 014672 010446 MOV R&.=(SP)

(2) 014674 010546 MOV RS.=(SP)

(2) 014676 016746 163122 MOV 24.=(SP)

(2) 014702 010667 164210 MOV SP.SAVSP :SAVE STACK POINTER
(2) 014706 012767 014720 163110 MOV ¥RESTART, 24 SSET UP FOR POWER UP TRAP
(2) 014714 000000 HALT SHALT ON POWER DOWN NORMAL
gs; 014716 000777 BR .

g%g :PROCESSOR WILL TRAP HERE WHEN POWER IS RESTORED

(2) 014720 016706 164172 RESTAR: MOV SAVSP,SP :RESTORE STACK POINTER
(2) 014724 012605 MOV (SP) +.R5 *RESTORE RO-RS

(2) 014726 012604 MOV (SP)+.R&

(2) 014730 012603 MOV (SP) ¢.R3

(2) 014732 012602 MOV (SP)+.R2

(2) 014734 012601 MOV (SP)+.R1

(2) 014736 012600 MOV (SP)+.RO

(2) 014740 012767 014662 163056 MOV #.PFAIL,24 ;SET UP FOR POWER FAILURE
(2) 014746 106427 000300 MTPS  #300

(2) 014752 012706 001100 MOV #STACK,SP

(2) 014756 005067 001102 CLR TEMP

(2) 014762 005267 001076 INC TEMP

(2) 014766 001375 BNE =4

(2) 0164770 104413 CONVRT

(2) 014772 015014 PFTAB

(2) 014774 104401 TYPE

(2) 0164776 015316 MPFAIL

(2) 015000 005067 164377 CLR $ERFLG

(2) 015006 005067 164406 CLR $ERRPC

(2) 015010 000177 164070 JMP SRETURN

(2) 015014 000001 PFTAB: 1

(2) 015016 006 002 .BYTE 6,2

(2) 015020 000207 RE TURN

(2) 015022 005015 0642012 053125 MTITLE: .ASCIZ <15><12,<12>/DUV11 CNDUR-A TAPE B /<15><12>
(2) 015030 030461 041440 042116
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(2) 015036 051125 040455 (052040
(2) 015044 050101 020105 020102
(2) 015052 005015 000
(2) 015055 015 053012 041505 MVECTO: .ASCIZ <15><12>/VEC ADD-/
(2) 015062 040440 042104 000055
(2) 015070 005015 051461 020124 MREGAD: .ASCIZ <15><12>/1ST DEV: REC CSR ADD~/
(2) 015076 042504 035126 051040
(2) 015104 041505 041440 051123
(2) 015112 040440 042104 000055
(2) 015120 005015 052515 052174 MMULT: .ASCIZ <15><12>/MULT DEV ? (Y OR N)=/
(2) 015126 0642040 053105 037440
(2) 015136 024040 020131 051117
(2) 015142 047040 026451 000
(2) 015147 015 046012 051501 MLASTD: .ASCIZ <15><12>/LAST DEV: REC CSR ADDR-/
(2) 015154 020124 042504 035126
(2) 015162 051040 041505 041440
(2) 015170 051123 040440 042104
(2) 015176 026522 _ 000
(2) 015201 075 0642504 044526 DEVICE: .ASCIZ /=DEVICE /
(2) 015206 0642503 020040 000
(2) 015213 015 051412 046105 MCOW: .ASCIZ <15><12>/SELECT TO RUN @ACTREG/
(2) 015220 041505 020124 047524
(2) 015226 051040 047125 040040
(2) 015234 041501 051124 043505
(2) 015242 000 )
(2) 015243 015 047412 043126 MRANGE: .ASCIZ <15><i2>/OVFLO:RETYPE LAST DEV RXCSR ADDS-/
(2) 015250 047514 051072 052105
(2) 015256 050131 020105 040514
(2) 015264 052123 042040 053105
(2) 015272 051040 041530 051123
(2) 015300 040440 042104 026523
(2) 015306 000
(2) 015307 040 037440 000 MaM:  .ASCIZ / %/
(2) 015313 015 000012 MCRLF: .ASCIZ  <15><12>
(2) 015316 043120 044501 026114 MPFAIL: .ASCIZ /PFAIL, RESTART AT TEST IN PROGRESS/
(2) 015324 020040 042522 052123
(2) 015332 051101 020124 052101
(2) 015340 052040 051505 020124
(2) 015346 047111 050040 047522
(2) 015354 051107 051505 000123
(2) 015362 005015 047105 020104 MEPASS: .ASCIZ <15><12>/END OF PASS TAPE B/

(2) 015370 043117 050040 051501

(2) 015376 020123 040526 042520

(2) 015404 041040 000

(2) 015407 015 051012 000 MR: ASCIZ  <15><12>/R/

(2) 015413 015 052012 051505 MISTPC: .ASCIZ <15><12>/TEST PC~/

(2) 015420 020124 041520 000055

(2) 015626 005015 047514 045503 MLOCK: .ASCIZ <15><12>/LOCK ON TEST? (Y OR N)=/

(2) 015434 047440 020116 052040

(2) 015442 051505 037524 024040

(2) 015450 020131 051117 047040

(2) 015456 026451 _ 000

(2) 015481 015 021412 047440 MSYNC: .ASCIZ <15><12>/# OF SYNC CHARS SELECTED ( 1 OR 2)-/

(2) 015466 020106 054523 041516

(2) 015476 041440 040510 051522

(2) 015502 051440 046105 041505
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(2) 015510 042524 020104 020050
(2) 015516 020061 051117 031040
(2) 015524 026451 000
() Q15507 015 Quaal2 020123 MUIREG: .ASCIZ <15><12>/IS SEC XMIT SWITCH ESS5-2 IN? (Y OR N)=/
(2) 015534 042523 020103 046530
(2) 015542 052111 051440 044527
(2) 015550 041524 020110 032505
(2) 015556 026465 020062 047111
(2) 015564 020077 054450 047440
(2) 015572 020122 024516 000055
(2) 015600 005015 051511 051440 MWIRES: .ASCIZ <155<12>/1S SEC REC SWITCH ES5=3 IN? (Y OR N)=/
(2) 015606 041505 051040 041505
(2) 015614 051440 044527 041524
(2) 015622 020110 032505 026465
(2) 015630 020063 047111 020077
(2) 015636 054450 047440 020122
(2) 015644 024516 000055
(2) 015650 005015 051511 047440 MWIRE4: .ASCIZ <15><12>/1S OPT CLR ENABLE SWITCH ESS5=1 IN? (Y OR N)=/
(2) 015656 052120 041440 051114
(2) 015664 042460 040516 046102
(2) 015672 020105 053523 052111
(2) 015700 044103 042440 032465
(2) 015706 030455 044440 037516
(2) 015714 024040 020131 051117
(2) 015722 047040 026451 . 000
(2) 015727 015 005012 031510 MEXTJ: .ASCIZ <15><12><12>/H315 CONNECTOR ON 2(Y OR N)=-/
(2) 015734 032461 041440 047117
(2) 015742 042516 052103 051117
(2) 015750 047440 020116 024077
(2) 015756 020131 051117 047040
(2) 015784 026451 _ 000
(2) 015767 015 020012 043536 MCNTG: .ASCIZ <155<12>/ *G /
(2) 015774 020040 000
(2) 015777 040 053523 036522 MMSWR: .ASCIZ / SWR= /
(2) 016004 020040 000040
(2) 016010 020040 047040 053505 MMNEW: .ASCIZ / NEWs /
(2) 016016 020075 000040
() .EVEN
3) ;BUFFERS FOR INPUT-OUTPUT
(2) 016022 000000 INBUF: 0
(2) 016064 .=, +40
(2) 016064 000000 fEMP: 0
(2) 016126 .=, +40
(2) 016126 000000 MDATA: 0
(2) 016170 .=, +40
(3) .SBTTL SCOPE_HANDLER ROUTINESTARS
(3) :«THIS ROUTINE CONTROLS THE LOOPING OF SUBTESTS. IT WILL INCREMENT
(3) :«AND LOAD THE TEST NUMBER(STSTNM) INTO THE DISPLAY REG.(DISPLAY<7:0>)
(3) :*AND LOAD THE ERROR FLAG (SERFLG) INTO DISPLAY<15:08>
(3) :«THE SWITCH OPTIONS PROVIDED BY THIS ROUTINE ARE:
(3) S eSW14=1 LOOP ON TEST
(3) :eSW11=1 INHIBIT I1TERATIONS
(3) ;¢ 5W09=1 LOOP ON ERROR
(3 : ¢SW08=1 LOOP ON TEST IN SWR<7:0>
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004767
005067
022716
001422

032777
001412
016767
000406
105777
100123
017766
032777
001114

000416

013746
012737
005737
012637
000463
022626
012637
000423

002026
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16:31

174376
163216
003376
040000
163160
163212

163206
040000

000004
016300
177060
000004

000004

000400
163114
163047
163053
001000
163026

163011
163114

004000
163120

162762
163064

163224
163162

177776
163170

000004

163122
163054

163037
163064
163022

163032

162754

SCOPE HANDLER ROUTINESTARS

s*CALL

."

$SCOPE :

.SCOPE :

TTST:

18:

SCOPE

;;SCOPE=]0T

:SCOPE LOOP AND INTERATION HANDLER

JSR
CLR
CMP
BEQ

BIT
BEQ
MOV
BR
1ST8
8PL
MOV
8lY
BNE

- AANINSTART
$XTSTR: BR

5%:

BR
S :; #NRRNEND OF

2%:

7%:
'3 ¥

3s:

MOV
MOV
TST
MOV
BR

CMP
MOV

BIT
BEQ
CMPB
BEQ
1ST8
8EQ
CMPB
BHI
BIT
8EQ
MOV
BR
CLRB
CLR
BR
BIT
BNE
TST
BEQ
INC
(MP
BGE

PC,CKSWR
SERRPC
#T5T1¢2,(SP)
SXTSTR

qelT16.iSHR
%;STNH.‘LPADR

asTks

SOVER
asTKB,=2(SP)
nsxt1£.asun
SOVER

OF CODE FOR THE XOR
63

SMERRVEC,=(SP)
#5%, SPERRVEC
ar1$7060

(SP) +,3FERRVE(

$SVLAD
(SP)+,(SP)+

(SP) ¢+ ,QFERRVEC
’$

sCLEAR LAST ERROR PC
:1S SCOPE AT BEGINING OF TEST 1?
sYES NO LOOP.

sTHIS CODE IS FOR TESTING FOR BIT 14
sON LSI WHICH SYSMAC CANNOT HANDLE

:KEYBOARD DONE?

8 IF NO

JCLEAR DONE BIT

..LOOP ON PRESENT TEST?
:YES IF SWl4=1

tEsTERmNRRS

;:IF RUNNING ON THE 'XOR:' TESTER CHANGE
STHIS INSTRUCTION TO A 'NOP'* (NOP=240)

::SAVE THE CONTENTS OF THE ERROR VECTOR.

..SET FOR TIMEOUT
sTIME OUT ON XOR?
: RESTORE THE ERROR VECTOR
::60 _TO THE NEXT TEST
ssCLEAR THE STACK AFTER A TIME OUT
..RESTORE THE ERROR VECTOR
:LOOP ON THE PRESENT TEST

CODE FOR THE XOR TESTERAANAN

ggITOB .@SWR
aSWR,STSTNM
SOVER

SERFLG

3$
g%RHAX.‘ERFLG
zng09.0SHR
SLPERR,SLPADR
SOVER

SERFLG

STIMES

1$

#BIT11, 3SR
18

SPASS

1%

$ICNT

SIIHES $ICNT
SOVER

;:LO00P ON SPEC. TEST?
s:BR IF NO

;sON THE RIGHT TEST?
::BR IF YES

:2HAS AN ERROR OCCURRED?
::BR IF NO

s:MAX. ERRORS FOR THIS TEST O(CURRED?
::BR [F NO

::LO00P GN ERROR?

2:BR IF NO

J:SET LOOP ADDRESS TO LAST SCOPE

;;ZERO THE ERROR FLAG
J:CLEAR THE NUMBER OF ITERATIONS TO MAKE
J:ESCAPE TO THE NEXT TEST
::INHIBII ITERATJONS?
:BR IF YES
..IF FIRST PASS OF PROGRAM
INHIBIT ITERATIONS
..INCREHENT [TERATION COUNT
;sCHECK THE NUMBER OF ITERATIONS MADE
J:BR IF MORE ITERATION REQUIRED

SWR<7:0>

SEQ 0068
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CNDURA . M11 29-0CT~82 16:31 SCOPE HANDLER ROUTINESTARS SEQ 0069
(3) 0166432 0127267 000001 162744 1%: MOV #1,81CNT ::REINITIALIZE THE ITERATION COUNTER
(3) 016640 016767 000056 163044 MOV SMXCNT,STIMES  ;;SET NUMBER OF ITERATIONS TO DO
(3) 016446 105267 162730 $SVLAD: INCB STSTNM ::COUNT TEST NUMBERS
(3) 016452 116767 162724 163052 MOVB STSTNM,STESTN  ;:SET TEST NUMBER IN APT MAILBOX
(3) 016460 011667 162722 MOV (SP),SLPADR ::SAVE SCOPE LOOP ADDRESS
(3) 016464 011667 162720 MOV (SP) ,SLPERR ::SAVE ERROR LOOP ADDRESS
(3) 016470 005067 163020 CLR SESCAPE ::CLEAR THE ESCAPE FROM ERROR ADDRESS
(3) 016474 112767 000001 162713 MOVB #1,SERMAX :;ONLY ALLOW ONE(1) ERROR ON NEXT TEST
(3) 016502 016777 162674 162732 SOVER: MOV STSTNM,SDISPLAY ;:DISPLAY TEST NUMBER
(3> 016510 016716 162672 MOV SLPADR, (SP) :;FUDGE RETURN ADDRESS
(5) 016514 000002 48 RTI
(S) 016516 001407 BRW: 1407
(5) 016520 000432 8RX: 632
(3) 016522 000005 SMXCNT: § ;:MAX. NUMBER OF ITERATIONS
gg; .SBTTL TRAP DECODER
(3) 2, 1 2332233222333 232233023022322323232223223322323233 3233323232223 22222332332322232273}.;

(2) :*THIS ROUTINE WILL PICKUP THE LOWER BYTE OF THE ''TRAP'* INSTRUCTION
(2) s«AND USE IT TO INDEX THROUGH THE TRAP TABLE FOR THE STARTING ADDRESS
(2) :*0F THE DESIRED ROUTINE. THEN USING THE ADDRESS OBTAINED IT WILL

{%; :+GO TO THAT ROUTINE.

(2) 01652« (10046 $STRAP: MOV RO,=(SP) ::SAVE RO

(2) 016526 016600 000002 MOV 2(SP),RO ::GET TRAP ADDRESS

(2) 016532 005740 TST -(R0O) : :BACKUP BY 2

(2) 01653 111000 MOVB (RO) ,RO ::GET RIGHT BYTE OF TRAP

(2) 016536 006300 ASL RO ::POSITION FOR INDEXING

(2) 016540 016000 016560 MOV $STRPAD(RO),RO  ;;INDEX TO TABLE

gg; 016544 000200 RTS RO ::60 TO ROUTINE

(2)

gg; 2:THIS 1S USE TO HANDLE THE '‘GETPRI’' MACRO

(2) 016546 011646 $STRAP2: MOV (SP) ,~(SP) ::MOVE THE PC DOWN

(2) 016550 016666 000004 000002 MOV 4(SP),2(SP) ::MOVE THE PSW DOWN

gg; 016556 000002 RT] ::RESTORE THE PSW

52; .SBTTL TRAP TABLE

(4) ;*THIS TABLE CONTAINS THE STARTING ADDRESSES OF THE ROUTINES CALLED
52; :*BY THE "'TRAP'' INSTRUCTION.

:2; ; ROUT INE

(4) 016560 016546 STRPAD: .WORD  $TRAP?

(4) 016562 012742 $STYPE  ;;CALL=TYPE TRAP+1(104401) TTY TYPEQUT ROUTINE
(4) 016564 014460 $STYPOC ,;CALL=TYPOC TRAP+2(104402) TYPE OCTAL NUMBER (WITH LEADING ZEROS)
(4) 016566 014434 $TYPOS ;;CALL=TYPOS TRAP+3(104403) TYPE OCTAL NUMBER (NO LEADING 2EROS)
53; 016570 014474 $TYPON ;;CALL=TYPON TRAP+4(104404) TYPE OCTAL NUMBER (AS PER LAST CALL)
(2)

(3) 016572 012720 .SCOP1 ;;CALL=SCOP1 TRAP+5(104405)

(3) 016574 013224 JINSTR  ;:CALL=INSTR TRAP+6(104406)

(3) 016576 013332 JINSTER :;:CALL=INSTER TRAP+7(104407)

(3) 016600 013342 PARAM ;:CALL=PARAM TRAP+10(104410)

(3) 016602 013542 .SAVOS5 ;;CALL=SAVOS TRAP+11(104411)
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(3) 016604 013602
(3) 016606 013634
(3) 016610 014012

s
~
-~

2 006367
6 006367
016622 006367
016626 006367
8186 016632 006367
8187 016636 016767
8188 016644 162767
8189 016652 042767
8190 016660 000207
8191 016662 000240
8192 016664 000200

00 00 0o o 00 0o 00 00 00
b b ood d b b e
Ongy’ODG"”*J\J
VIS N = O 000

8195 016666 016767
8196 016674 005267
8197 016700 016767
8198 016706 005267
8199 016712 016767
8200 016720 016767
8201 016726 005267
8202 016732 016767
8203 016740 016767
8204 016746 005267
8205 016752 016767
8206 016760 005267
8207 016764 016767
8208 016772 005267
8209 016776 016767
8210 017004 005267

8211 017010 016767
8212 017016 000207
82'3 017020 000000
8214

821.

8216

8217

8218 017022 0462777
8219 017030 005067
8220 01703 006067
8221 017040 006067
8222 017044 006267
8223 017050 042767
8224 017056 056777
8225 017064 042777
8226 017072 052777
8227 017100 005367
8228 017104 001346
8229 017106 000207

-RESO5
- CONVRT
.SETFLG

MALALAAAALAL A ARARAAAAARAARARAARAAARA R AR ARARRL SR ARl add ] )]

F 6

¢ s CALL=RESOS TRAP01§(10441 )
s CALL=CONVRT  TRAP+13(104415)
s CALL=SETFLG  TRAP+14(104414)

SUTILATIES

FAALAALALLAAARAAAALLAAAAAMARAARAAAARRAR AR ARALAAALR AR ATl 222 )]

sTHIS UTILITY CALCULATES PRIORITY LEVEL
DUPRT

000044 DULEV: ASL
000040 ASL
000034 ASL
000030 ASL
000024 ASL
000020 000020 Mov
000001 000012 sus
000037 000004 BIC
RTS
DUPRT: PRS
LESS1: PRG
:NEW DU
000126 163016 DUADDR: MOV
000120 INC
000114 163006 MOV
00010< INC
000102 1A277§ MOV
000074 162774 MoV
000066 INC
000062 162760 MoV
000054 162756 MoV
000046 INC
000042 162746 MOV
000034 INC
000030 162736 MoV
000022 INC
000016 162726 MOV
€00010 INC
000004 162716 MOV
RTS
DUBASE: 0

¢THIS UTILITY POKES THE MAINT DATA BASED UPON THE
s INFORMATION CONTAINED IN $TMP1 AND IT IS

SSHIFT LEFT

DUPRT
DUPRT :

DUPRT

DUPRT :

DUPRT,LESS1 :MOVE THIS TO LESS!
#1,LESST <CREATE LESS1
g%?.LESS1 <CLEAR TNZVC

:LEVEL TO ALLOW INTERRUPTS
ADDRESSES

DUBASE .RXCSR  :XXX0

DUBASE

DUBASE ,HRXCSR  ;XXX1

DUBASE

DUBASE ,RXDBUF  ;XXX2
DUBASE ,PARCSR  ;XXX2
DUBASE
DUBASE ,HRXDBUF  ;XXX3
DUBASE ,HPARCSR  ; XXX3
DUBASE
DUBASE , TXCSR s XXX&
DUBASE
DUBASE ,HTXCSR  ; XXX5
DUBASE
DUBASE, TXDBUF  ;XXX6
DUBASE
ggBASE.HTXDBUF s XXX7

cSHIFTED IN BY THE CONTENTS OF SHIFT

040000 162676 RPOKE: BIC

162446 CLR
162440 ROR
162436 ROR
162432 ASR
100000 162424 BIC
162420 162642 8IS
020000 162634 8IC
020000 162626 8IS
162016 DEC

BNE

RTS

#MTDATA,STXCSR

$TMP?2

$STMP1  ;FORCE CARRY

$TMP2  :PICK UP CARRY IN BIT 15
STMP2  :SHIFT INTO BIT 14
#B1T15,8TMP2  :CLR BIT 15
STMP2,@TXCSR  ;POKE MAINT DATA
#CLK,@TXCSR :POKE CLK
#CLK,@TXCSR :

sHIFf

RPOKE

PC

SEQ 0070
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8230
8231 017110 016767
8232 017116 005067
8233 017122 012727
8234 017126 000000
8235 017130 006067
8236 017134 005567
8237 017140 005367
8238 017144 001371
8239 017146 006067
8240 017152 103404

8241 017154 052767
8242 017162 000403
8243 017164 062767

8245 017172 000207

8247

8248 0171764 016767
8249 017202 005067
8250 017206 012727
8251 017212 000000
8252 017214 006067
8253 017220 005567
8254 017224 005367
8255 017230 001371
8256 017232 006067
8257 017236 103004

8258 017240 052767
8259 0172646 000403
8260 017250 042767

8262 017256 000207
8264 017260 062716

8266 017266 000002
8267 017266

(1) 000100
000100 017266
000102 000300
000140
000140 170000
000142 000300
017266
017266 104401
000000
7274 005015
302 020103
310 051122
316 020055
326 047117
332 046040
000001

NA’\AAAAAAAAAAAA

@ (YT JEPT IR QP Y YR QT S Y Y G S — —
O " s "t " i " Nl N o N W N N
o
-
~
~N
~J
~N

Oo

14-DEC-~-82 09:

16:31

162332
000400
000400

162300
162276
0000190

162262
162260
177762
162246
000400

000400

000002

017274

045514
047111
050125
044506
062516
041524

162364

162316
162306

162300

162232
162222

042526
042524
020124
061523
052103
000040

58 PAGE 61-57

TRAP TABLE
sTHIS ROUTINE CALCULATES ODD PARITY FOR AN 8 BIT CHAR
0DD8: MOV $STMP1,8THP2 ;SAVE TEMP1
(LR $TMP3
MOV #8.,(PCHe
(8 0
1%: ROR STMP2
ADC STMP3
DEC (% 3
BNE 1
ROR $TMP3
BCS 2%
SAS gngB.STHPl JSET 00D PARITY
2s: BIC #BIT8,STMP? JCLR EVEN PARITY
J$TMP1 NOW HAS ODD PARITY CHARACTER
3%: RTS PC
JTHIS ROUTINE CALCULATES EVEN PARITY FOR AN 8 BIT CHARACTER
EVENS: MOV STMP1,$THP2 :SAVE TEMP1
CLR $TMP3
MOV #8.,(PC)¢+
'3 ¥ 0
1%: ROR STMP?
ADC $TMP3
DEC 43
BNE 1$
ROR $TMP3
BCC 2%
gés ggITS ,$THP1 :SET EVEN PARITY
2%: 8IC #BIT8,$TMP1 ;CLR ODD FAR]TY
:$TMP1 NOW HAS EVEN PARITV CHARACTER
38: RTS PC
TRPREG: ADD #2,(SP) ;ALLOW IT TO ‘°CRUNCH'® INTO HLT BACK
RTI JIN MAIN PART OF THE PROGRAM
P0{85=. :SAVE POINTER
$CLKVEC cLKVEC HANDLER
300 s INTERRUPT HANDLER PRI
=140 :BRKVEC
170000 :0DT START ADDRESS
300 :PRIORITY
.SPOINT cRESTORE POINTER
$CLKVEC: TXP;.CLKHES
HAL
CLKMES: .ASCIZ <15><12>/LKVEC INTERRUPT = DISCONNECT LTC /
'END

SEQ 0071
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AAA
ABASE
ACDWY
ACDW?
ACPUOP=
ACTREG
ADDWO
ADOM1
AODW10
ADDW11
ADDW1?2
ADDW13
4
S

ADDW1
ADDW
ADDW?2
ADOW3
ADDW&
ADDWS
ADDW6
ADDW?
ADDW8
ADDW9
ADEVCT
ADEVM
ADRCNT
AENV
AENVM

AMTYP4=
APASS =
APRIOR=
APT(CSU=
APTENV=
APTSI2=

BASEAD

003200
000000
000000
000000
000000
001166
000000

000000
000000

= 000000

000000

= 000000

000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000000
000040
000001
000200
000100
000000
000000
000000
000000
000000
000000
001154

oo
-
N
o
»

<
[ ]

©0 00 Qv 00 G0 O O 00 O G0 00 O GO G0 G GO OB 0o OB Co 0O Co O O G 0D 0B GO OO GO G GO 0B 4O GO 0O OB O CO 0O OO 0O 00 00

—b cnb b cnd b b ) wd b ad and ) cd e ) il d d e e wd wad wed ) b el b wd wd b el e el b =l e b il ad il ) e e

VAWV VWA A A WA AT A A VIA VA NAA LA A A VAVA A WADWAWN A AT AWV

OOOOOOOOOOOOOOOOOOOO%OOOOOOOOOOOOOOOOOOOOOOO
-

8176

8176+
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BASEIV 001162 81504« 8176+

888 003026 8150#

BINWRD 014010 81764+

BITw = 002000 81504

8170 = 000001 81504

BI1T00 = 000001 8150#

B1T01 = 000002 81504

B1T02 = 000004 81504

BIT03 = 000010 8150#

BIT04 = 000020 8150#

BITOS = 000040 8150#

BITO6 = 000100 8150#

BITO? = 000200 81504

BITO8 = 000400 81504 8176

81709 = 001000 8150# 8176

BIT1 = 000002 8150#

BIT10 = 002000 81504 8176

8IT11 = 004000 81504 8176

BIT12 = 010000 8150#

BIT13 = 020000 81504 8176

BIT14 = 040000 81504 8176

BIT15 = 100000 81504 8223

8172 = 000004 81504

8173 = 000010 81504

8174 = 000020 8150#

BITS = 000040 81504

BITé = 000100 8150#

BIT7 = 000200 81504

BIT8 = 000400 81504 8241 8243 8258 8260

B1T9 = 001000 81504

BPTVEC= 000014 81504

BREAK = 000001 81504 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163
8164 8165 8166 8167 8168 8169 8170 81N 8172 8173 8174 8175

BRKVEC= 000140 81504

BRW 016516 81764

BRX 016520 81764

CARDET= 010000 81504

ccc¢ 012476 81764

CHRCNT 014006 B1764«

(KSWR 012572 81764

Ltk = 020000 81504 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163
g}gg 8165 8166 8167 8168 8169 8170 817 8172 8173 8174 8175 8225

CLKMES 017274 82674

CNTLU 012646 8150 81764

CONVRT= 104413 81764

COUNT 001126 81504

CR = 000015 81504 8176

CRLF = 000200 81504 8176

1S = 020000 81504

pPOISP = 177570 81504

DEVADR 013536 81764«

DEVICE 015201 81764

DF 1 002132 81504

DMl 002067 81504

DISPLA 001442 81508« B8176¢
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DISPRE 000174 0#
ONA = 100000 o»
DNAINT= 000040 os
pSC =10 o#
DSINTE= 000040 os
DSR = 001000 os
DSWR = 177570 (1] 4
DTR = 000002 ox
DT 002116 0x
DT4 002126 Ox

8176 8195#
8176+ 8195 8196« 8197 8198+« 8199 8200 8201+ 8202
8208« 8209 8210« 8211 82134

8183« 8184+ 8185+ 8186+ 8187 81914

DUADDR 016666
DUBASE 017020

DULEV 016612
DUPRT 016662

(=lole ol
- »

00 0o Oc

— b N
WOO
NN

»

DURIS 001740 o4 8176+

DURIV 001736 04 8176+

DUTIS 001744 o 8176+

ouTIvV 001742 o 8176+

EIGHT = 006000 o4 8162 8163 8164 8165
EMTVEC= 000030 0N+

Em 001762 or

EM2 002022 e

EM3 002043

EMb 001746
ERRCNT 001114
ERRVEC= 000004
EVEN8 017174
EVEPAR= 001400

©0 00 0o 00 00 Co O 0O GO 0o GO G0 G Cu 0o G GO 0O GO CO GO CO CO GO CO 0B G GO G CO G OO Co OO GO 0B 0O GO 0O OO O 0O GO Co 0O GO G GO OO 0O G CO OO G0 O o
NN N AWAWMAAWAWAWVIWA WA A WA VAW N WA SN WA A WMAA S VAW VA VAWM AN WA WA AA AN N NN O TN N WAVWVWAWNIWAWAIWVIWAWA
353444
» - RaNn
oo
b
~
o
»

EVPAR = 000400

FIVE = 000000 oy 8152 8153 8166 8167 8168 8169
FRMERR= 020000 o

GNS = weteen | 6

HOXEN = 000010 o

HILIM 013534 A

HLDO 001130 O 8176+
HLD1 001132 o 8176+
HLD?2 001134 O 8176+
HLD3 001136 o 8176+
HLD4 001140 o 8176+
HLDS 001142 0¥ 8176+
HLD6 001144 o8 8176+
HOLD 1120 os

HPARCS 001724 o 8203+
HRXCSR 001714 08 8197+
HRXDBU 001720 o 8202+
HT = 000011 o 8176
HTXCSR 001730 08 8207+
HTXDBU 001734 0 8211«
INBUF 016022 0 81764
INIFLG 001172 (1] 2
INSTER= 104407 0 81764
INSTR = 104406 0 81764
INSTR2 013340 (Y 4

[0TVEC= 000020 )
1SYmOD= 000000 oy 8152 8153 8154 8155 8156 8157 8158 8159 8160

8203

8161

8204+

8162

SEQ 0074

8205

8163
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8164 8165

JMRBY 001153 81504+

KEEPAD 001156 81504 8176

tKEEPIV 001164 81504« 8176 <

LASTAD 001160 81504

LESST 016664 8187« 8188+« 8189+ 81924

LF = 000012 8150 8176

LIGHTS 001102 81504 8176+

LIMITS 013466 81764

LKVEC = 000100 81504

LOBITS 013540 81764+

LOCK 001110 81504 8176

LOKFLG 001174 81504

LOLIM 013532 81764+

MCNTG 015767 8176#

MCOW 015213 8176#

MCRLF 015313 81764

MDATA 016126 8176#

MEPASS 015362 8176#

MEXT = 010000 8150#

MEXTJ 015727 8150 81764

MINT = 004000 81504 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163
8164 8165 8166 8167 8168 8169 8170 8171 8172 8173 8174 8175

MLASTD 015147 8150 81764

MLOCK 015426 81764

MMNEW 016010 81764

MMSWR 015777 81764

MMULT 015120 8150 81764

MPFAIL C15316 81764

Mam 015307 81764

MR 015407 8150 81764

MRANGE 015243 8150 81764

MREGAD 015070 8150 81764

MRESET= 000400 81504 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163
8164 8165 8166 8167 8168 8169 8170 8171 8172 8173 8174 8175

MSYNC 015461 8150 81764

MTDATA= 040000 81504 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163
8164 8165 8166 8167 8168 8169 8170 8171 8172 8173 8174 8175 8218

MTITLE 015022 8150 81764

MTSTPC 015413 8150 81764

MULTD 001152 81504 8176

MVECTO 015055 8150 81764

MJIRESL 015650 3150 81764

MJIRES 015600 8150 81764

MJIRE6 015527 8150 81764

NEXT 001106 81504

NOPAR = 000000 81504 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163
8164 8165 8166 8167 8168 8169 8170 8171 8172 8173 8174 8175

ODDPAR= 001000 81504

0DD8 017110 82314

ODTST = 170000 81504

ONCE 002610 81504

OPTCLR 001151 81504

out 012700 81764

QUTCRY (12470 81764

OUTMUL 003166 8150#
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'OVRRUN= 040000 81504

PARAM = 104410 8150  8176#

PARAMY (013372 81764

PARCSR 001722 81504 8152+« 8153+« 8154+ 8155« 8156« 8157+« 8158+ 8159« 8160+ 8161+ 8162+ 8163«
8164 B165¢« B166+ 8167~ 8168+ 8169+ 8170+ 8171+« 8172« 8173« 8174+ 8175« 8200+

PAREN = 001000 81504

PARER = 010000 81504

PARERR 013446 81764

PARTI 013530 81764

PASCNT 001112 81504+ 8176+

PFTAB 015014 81764

PIRQ = 177772 81504

PIRQVE= 000240 81504

POINT = 017266 82674

POPRO = 012600 B150#

POP1SP= 005726 81504

POP2SP= 022626 8150#

PRO = 000000 8150#

PR1 = 000040 8150#

PR2 000100 8150#

PR3 = 000140 8150#

PRG = 000200 81504 8192

PRS = 000240 8150# 8191

PR6 = 000300 8°Son

PR7 = 000340 81504

PS = 177776 81504

PSW = 177776 8150#

PUSHRO= 010046 81504

PUSH1S= 005746 81504

PUSH2S= 024646 8150#

PWRVEC= 000024 81504+

ROSW 012706 81764

RECACT= 004000 81504

REPLAY 012374 81764

RESTAR 014720 81764

RESTRT 012554 81764

RESVEC= 000010 8150#

RESOS = 104412 8176#

RETURN 001104 81504+ 8176

RING = 0460000 8150#

RINTEN= 000100 8150#

ROTADD 001170 81504+ 8176+

RPOKE 017022 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164
8165 8166 8167 8168 8169 8170 8171 8172 8173 8174 8175  B8218¢ 8228

RTS = 000004 8150#

RUNA = waswasx | 5678 SB62 6003 6417

RUNB = 000000 S6764 5703  S871 6010 6426

RUNC = tetene | §729 5879 6017 6435

RUND = teewes 5754 5888 6024 6444

RUNE = seewen 5779 5898 6031 6453

RUNF = sxeawan J 5804 5908 6038 6462

RUNIT 012300 81764

RXCSR 001712 81504 8152+« B153« 8154+ 8155+« 8156+ 8157+« 8158+ 8159+ 8160+ 8161+ B162+ B163+
g;gg- 8165« 8166+ 8167+« 8168+ B169+ 8170« 8171+« 8172+ 8173« 8174+ 8175+ 8176

*
RXDBUF 001716 8150# 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163
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8164 8165 8166 8167 8168 8169 8170

RXDONE= 000200 81504
RXERR = 100000 81504
SAVIT 014242 81764

SAVPC 001126 81504 8176+

SAVSP 001116 81504 8176+

SAVOS = 104411 81764

SCOP1 = 104405 81764

SEND = 000020 81504

SEREC 001150 81504

SETFLG= 104414 8150 81764

SEVEN = 004000 81504 8158 8159 8160 8161 8174 8175

SEXMIT 001147 81504

SHIFT 001122 81504 8152« 8153+ 8154+ 8155+ 8156+ 8157+
8164+ 8165+ B166* 8167+« 8168+ 8169+ 8170+

SIX = 002000 81504 8154 8155 8156 8157 8170 817

SPACNT= 014007 81764+

SRD = 002000 81504

STACK = 001100 81504 8176

STD = 000010 8150#

STFLG 001173 81504+

STKLMT= 177774 81504

STPSYN= 000400 81504

SVO05 013550 81764

SWR 001440 81504« 8176

SWREG 000176 81504 8176

SWREGL 012710 81764

Sw0 = 000001 81504

SW00 = 000001 81504

Sw01 = 000002 81504

SW02 = 000004 81504

sw03 = 000010 81504

SW04 = 000020 81504

SW05 = 000040 81504

Swo6 = 000100 81504

Sw07 = 000200 81504

SW08 = 000400 81504

Sw09 = 001000 81504 8176

Swl = 000002 81504

SW10 = 002000 81504

SWwil = 004000 81504

Swi2 = 010000 81504

SWw13 = 020000 81504

Swi4 = 040000 81504

SWw15 = 100000 81504

sw2 = 000004 81504

Sw3 = 000010 81504

SWé = 000020 81504

SWw5 = 000040 81504

sWwe = 000100 81504

sw? = 000200 81504

sw8 = 000400 81504

w9 = 001000 3150#

SYNCNO 001146 81504«

SYNEXT= 020000 81504 8166 8167 8168 8169 8170 817

SYNINT= 030000 8150#

817N

8¢
1%

—d b b

8172

8172

000000
—b b b
~ ~\A
WO

» 8

8173

8173

8174

8174

8175

8175

SEQ 0077
8199+



CNDUR=A MACY11_30(1046)

CNDURA . M11 29-0CT~82 16:31
SYNSCH= 000020 81504
8164
SYSTST= 014000 81504
TBITVE= 000014 81504
TEMP 016064 81764+
TKVEC = 000060 81504
TPVEC = 000064 8150#
TRAPVE= 000034 81504+
TRPREG 017260 82644
TRTVEC= 000014 81504
1538 003374 8150
TST10 005426 8159#
TST11 005654 81604
15712 006102 81614
1ST13 006330 81624
T1ST14 006556 81634
TST15 007004 81644
1ST16 007232 81654
TST17 007460 81664
TST2 003622 81534
T1ST20 007672 81674
1ST21 010104 8168#
1S122 010316 81694
TST23 010530 8170#
TST26 010742 81714
TST25 011154 1724
TST26 011366 734
1ST27 011600 74N
TST3 004050
T1ST30 012012

TST4 004276
1STS 004524
TST6 004752
TS17 005200
TTST 016206

544
754
554
S6#
S7#
584
764
TXCSR 001726 504
64+
18w
TXDBUF 001732 504
TXDONE= 000200 50#
TXINTE= 000100 S0#
TYPE = 104401 50
TYPOC = 104402 764
TYPON = 104404 764
TYPOS = 104403 764
USER = 000000 S0#
voID = 000001 504
WRDCNT 014004 764

ZERO 012306

764

SAPTHD 002136 81504
PASTAT= weenee 7010

$ATYC 000024 70104
$ATY1 000000 70104
$ATY3 000006 70104
$ATY4 000016 70104
$SAUTOB 001434 81504

81524

2t

4
O

[+ o Je Jo.]
NIN) 2 =2
[=],8]e 3V, ]

81764
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CROSS REFERENCE TABLE =-- USER SYMBOLS

8153
8166

8176

815
816

4
7

81
81

55
68

81
81

56 8157
69 8170
56+ 8157
69+ 8170

s -1 ]
—b b
~w
~ QD

-—mb b
~J\n
NSO
Qo 0o
= -

~N O~
wo

CoCo
i
~NO~
F

~NO~
wvino

SEu 0078
8163
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CNDUR=-A MACY11_30(1046)
CNDURA .M 29-0CT7-82 1

$BASE 001602

$8DADR 001422

$BODAT 001426

$BELL 001516

$COWY 001606

$COW2 001610

S$CHARC 013220

SCKSWR= neenen |
$CLKVE 017266

SCMTAG 001400

s$cm
$CM2
M3
$CM4
$CPUOP 001554
$CRLF 001523
s$oOW0 001612
$00W1 001614
$OOW10 001636
$ODW11 001640
$DOW12 001642
$0DW13 001644
$00W14 001646
$O0W1S5 001650
$00W2 001616
$OOW3 001620
$DDW4G 001622
$ODWS 001624
$00W6 001626
s$o0wW? 001630
$0DW8 001632
$ODW9 001634
$DEVCT 001536
$OEVM 001604
$E = 000002
SENDAD 012544
$ENV 001546
SENVM 001547
SERFLG 001403
SERMAX 001415
$ERROR 014060
SERRPC 001416
SERRTB 001652
$ERRTY 01
SERTTL 00
$ESCAP 00
$ETABL O
SETEND O

$FATAL 001
SFFLG 000244

SFILLC 001456

$SFILLS 001455

$GDADR 001420

$GDDAT (001424

SGTSWR= treten |
SHIBTS 002136

4

8176

6a

CoCo DO 00 O~—

— e ) b b i b i D
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[ =lelele
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o
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WMOOOOOOOOOODODOOOOODODOOOOO
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o
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raelelelelelele]l)
oo0e Co0e000H0d00000D
putrQuirG i G- Gui- PPl G- GuiGuiry
NN NNNNNWNMWIY
oo OO
» 2 L X R R X

O

0« 81504

o 8176
o 8176
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CNDURA.M11 29-0CT-82 16:31 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0080

SICNT 001404 81504 8176+

$INTAG 001435 8150#

SITEMB 001414 81504 8176+

$LF 001524 81504 8176

SLFLG 000243 70104«

SLPADR 001406 81504« 8176«

SLPERR 001410 81504+ 8176+

SMADR1 001560 81504

SMADRZ2 001564 81504

$MADR3 001570 81504

S$MADRG 001574 81504

SMAIL 001526 81504 8176

$MAMST1 001556 81504

$MAMS2 001562 81504

SMAMS3 001566 81504

SMAMSS 001572 81504

$MBADR 002140 81504

SMFLG 000242 70104+

$MSGAD 001542 7010« 81504

SMSGLG 001544 7010« 81504

$MSGTY 001526 7010« 81504

SMTYP1 001557 81504

SMTYP2 001563 81504

SMTYP3 001567 81504

SMTYP4 001573 81504

SMXCNT 016522 81764

SN = 000000 68374 81764

SNULL 001454 81504 8176

SNWTST= 000000 8152# 81534 B154w  B1554  B156# 81574 81584 B1594 81604 81614 81628 81634 81640
81654 B1664 81674 B168# B169# 81704 81714 81724 81734 81744 81754

$OCNT 014656 81764«

SOMODE 014660 81764«

SOVER 016502 81764

SPASS 001534 81504+ 8170~

SPASTM 002144 81504

SPWRDN 014662 8150 81764

SQUES 001522 81504 8176

SRDCHR= tteeee | 8176

SRDDEC= swewnr | 8176

SROLIN= wteeer | 8176

SRDOCT= wesxene | 8176

SREGAD 001460 81504

SREGO 001462 81504 8176+

SREG1 001464 81504 8176+

SREGZ 001466 81504 8176+

SREGS 001470 81504 8176+

SREG4 001472 81504 8176+

SREGS 001474 81504 8176+

SR2A = weeenr | 8176

SSAVRE= teenee | 8176

$SCOPE 016170 8150 81764

$SETUP= 000017 81504 8176

$STUP = 177777 81504

$SVLAD 016446 81764

$SVPC = 002136 81504

$SWR = 177400 64974 8150 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162
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CNDUR-A MACY11_30(1046) 14~DEC~82 09:58 PAGE 62-9

CNDURA .M11 29-0C7-82 16:31 CROSS REFERENCE TABLE == USER SYMBOLS SEQ 0081
g}?g 8164 8165 8166 8167 8168 8169 8170 8171 8172 8173 8174 8175

SSWREG 001550 8150#

$SWRMk = 000000 8176

STESTN 001532 81504 B176+

STIMES 001512 81504« 8176+

$7kB 001446 81504 8176

$7KS 001444 81504 8176

$TMPO 001476 81504

$TMP1 001500 81504 8152+ 8153« B154+ 8155 8156+ 8157+« 8158« 8159+ 8160+ 8161+ 8162+ 8163«
8164+ B165+ 8166+ 8167+« 8168 8169+ 8170 8171« 8172« 8173« 8174+ 8175+« 8220+
8231 8241+ 8243+ 8248 8258 8260+

$TMP2 001502 81504  B219« 8221+« 8222+ 8223 8224 8231« 8235+ 8248+ 8252+

$TMP3 001504 81504 8232+« 8236+ 8239+ 8249 8253+ 8256+

$TMP4L 001506 81504

$TMPS 001510 81504

$TN = 000031 726494 81524 81534  B1544  B155# 81564 81574 B1584 81594 81604 81614 B162# 81634
B164#  B165H 81664 BI1674 B16B# 81694 B1704 BI1714  B172¢ B1734  B1744  B1754

$TPB 001452 81504 8176+

STPFLG 001457 81504 8176

$TPS 001450 81504 8176

STRAP 016524 8150 81764

$TRAP2 016546 81764

$TRP = 000015 81764

S$TRPAD 016560 81764

$TSTM 002142 81504

S$TSTNM 001402 81504« 8176+

STYPBN= tewter | 8176

STYPDS= swenns | 8176

STYPE 012742 7010 81764

STYPEC 013154 81764

STYPEX 013222 81764

$STYPOC 014460 81764

STYPON 014474 81764

STYPOS 014434 81764

SUNIT 001540 8150#

SUNITM 002146 81504

SUSWR 001552 81504

SVECT1 001576 81504

SVECT2 001600 81504

$XTSTR 016252 81764

SOFILL 014657 81764«

$40CAT= wereer | 8176

. = 017340 70104 81504 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162
8163 8164 8165 8166 8167 8168 8169 8170 817 8172 8173 8174 8175
81764 82674

.BEGIN 003310 81504 8176

.CONVR 013634 81764

.EOP 0122264 81764

.INSTE 013332 81764

<INSTR 013224 81764

<INSTT 013244 81764

-MSG 013246 81764+

-PARAM 013342 81764

PFAIL 014662 8150 81764

.RESO5 013602 81764
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i .SAVOS 013542 81764

.SCOPE 016170 8176#

-SCOP1 (12720 81764

SETFL 014012 81764

LSTART 002152 8150 8176

JSASTAz renese 7010

$X = 002136 81504
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CNDURA.M11 29-0(T-82 16:31 CROSS REFERENCE TABLE == MACRO NAMES SEQ 0083

COMMEN 15664 81504

ENDCOM 15784 B150#

ERROR  B8150# 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165
8166 8167 8168 8169 8170 817 8172 8173 8174 8175

|ESCAPE 16984 8150#

GETPRI 13124 81504

GETSWR 17714  8150#

MULY 4484 B150#

NEWTST  1626# 8150# 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164
8165 8166 8167 B168 8169 8170 8171 8172 8173 8174 8175

POP 2153¢ 7010 8150«

PRGEND 81154 8176

PRGFRT  7250# 8150

PUSH 21454 7010 8150«

PUSSYF  7986#

REPORT  S4634 64964  B150#

RSETUP  7445# 8152 8153 8154  B155 8156 8157 8158 8159  B160 8161 8162 8163 8164 8165

¢ gg?g‘ g}gg 8168 8169 8170 8171 8172 8173 8174 8175

SCOPE 8150# 8152 8153 8154 8155 8156 8157 8158 8159  B160 8161 8162 8163 8164 8165
8166 8167 8168 8169 8170 8171 8172 8173 8174 8175 8176

SC1 6828¢ 8176

SETPRI 12794 81504

SETTRA 64954 81764

SETUP 13374  8150#

SKIP 17334 8150#

SLASH 15174 81504

SPACE  8150#

STARS 1485¢ 7010 81504 8152  B1S3 8154 8155  B156 8157 8158 8159 8160 8161 8162 8163
B164 8165 B166 8167 8168 8169 8170 81N B172 8173 8174 8175 8176

SWRSU 14534 81504

TRMTRP 81764

TSETUP  7457#

TYPBIN 2088# 81504

TYPDEC 20584 81504

TYPNAM 18264 81504

TYPNUM 20254 81504

TYPOCS 1978¢ 81504

TYPOCT 19414 B1504 8176

TYPTXT 18944 81504

$BEGIN 67194  B150

$SBINAR 7933«
SBUFFE 71244 8176
SCABLE 8001#
SCATCH  6588¢ 8150
$CK 69648 8176

SCLRVE 67344 8150
SCONVR 71354 8176
SONA 78344

$EOP 68824 8176
SGETFL 67644 8150
SGETPA 67544 8150
SGETSY 67704 8150
SHEADE 64994 8150
S$INSTR 70114 8176

$1S08 77624
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SMATCH 75714
SMRR 746324
$SMRRW 73804
SMRW 764154

$MSG 70984 8176

SNEED 81034 8176

SPARAM 70414  B176

SPFAIL 71804 8176

$POKE 75544

SPOKER 75594 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165
8166 8167 8168 8169 8170 8171 8172 8173 8174 8175

SRCNET 80134

SRECAC 74934

SREG 72234 8176

SRESET 73764 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165
8166 8167 8168 8169 8170 8171 8172 8173 8174 8175

SRXACT 74704

$SCOPE 68334 8176

$SCOP1 69994 8176

SSETFL 67904 8176

$SSETVE 65994 8150

SSTART 66774 8150

$SSTRIP 78034

$SYMBO 65154 8150

g%;ggz ;ggg: 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165

STSTNO 68404 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165
8166 8167 8168 8169 8170 817 8172 8173 8174 8175

SUNIBU 73594

SVARIA 66154 8150

SWORDF  7701#

SWORDO 76514 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164 8165
8166 8167 8168 8169 8170 817 8172 8173 8174 8175

SWORDP 77294

SSCMRE  B8150#

SSCMTM 81504

$SESCA 17114 81504

SSNEWT  1662¢ 81504 8152 8153 8154 8155 8156 8157 8158 8159 8160 8161 8162 8163 8164
8165 8166 8167 8168 8169 8170 817N 8172 8173 8174 8175

$$SET 8176#

$SSETM 81504

$SSKIP 17464 81504

.EQUAT 1894 64954 3150

-HEADE 618 6494N

JANIT 56584 81504 8267

LSETUP 12134 64944 8150

. SWRH] 1044

LSACTY 50640 64954 8150

LSAPTB 51094 64964 81504

SAPTH 53704 64964 8150

LSAPTY 55474 64964 7010

SASTA 54174

.SCATC 9324 64944

SCMTA 10474 64944 8150
.30B2D  4(86#

.$0B20 4812«
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301V L5874

.SEOP 22144 64694
.SERRO 27004  6495# 8176
.SERRT 28964 64954 8176
JSMULT 45234

SPOWE 42294 64954

.SRAND 43074

.SRODE 38914

.SRDOC  3797#

.SREAD  3395#

JSR2AZ  4958#

.SSAVE 39694

.$5B20 47714

.$SB2C 4874k

LSSCOP 24544 64954 8176
.SSIZE 43614

SSUPR 49134

STRAP 40734 64954 8176
STYPB 32874

.STYPD  3209#

.STYPE  2985#¢ 64L94# 8176
STYPO 31124 64954 8176
.$40CA 972#

. ABS. 017340 000

ERRORS DETECTED: O

CNDURA , CNDURA/CRF /NL : TOC=CNMACZ2.SML,CNDURT.M11,CNDUR2.M11,CNDURA. M1
RUN=-TIME: 17 16 1 SECONDS

RUN-TIME RATIO: 81/35=2.3

CORE USED: &3k (86 PAGES)




